DRIVEN TOOLS
AND TOOLHOLDERS

FOR CNC LATHES



' 7, KINT=K

DATA SHEET
I OPERATIONS WITH VDI STAR - TYPE TURRET
AXIAL OPERATION RADIAL OPERATION
STRAIGHT TOOL OLDER ANGOLAR TOOL HOLDER 90° ANGLE
10
©

7, GAIT

dX5 [Tho

o
7

S
©

RAIGHT AND LEFT HAND

MAIN SPINDLE

DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 299




' 7, KINT=K DATA SHEET

I OPERATIONS WITH VDI STAR - TYPE TURRET

AXIAL OPERATION RADIAL OPERATION
ANGULAR TOOL HOLDER 90° ANGLE STRAIGHT TOOL HOLDER
/
S
)

R

UPPER TURRET 2

UPPER TURRET 1

SUB SPINDLE

LOWER TURRET 2
LOWER TURRET 1

v,
300 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES ////// GAIT




’ 7 KINTEK BIGLIA ‘

I BIGLIA - B301/445/470/501(Y-S)/510/545/550/565/650/658/1200/446,/465/745/765-B750/1250 16 ST.

CONNECTION TURRET BIGLIA

I

/
N/
a
w
()
J

34

31.5
A

31.5

32.5 32.5

!
A

v,
//////, GAIT DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 307




' 7, KINT=K

I AXIAL DRILLING AND MILLING HEAD

1 n
88 1© - g ) 2
o T o B ]
; 315 | 28
63 74 9%
BIGLIA
MAX SPEED MAX TORQUE INTERNAL P
Ccob. ER (Rpm) Harle (Nm) COOLING Bar
124-05519 ER25 6000 1 50 NO ;
124-05520 ER25 6000 1 50 YES 20
124-05521 ER32 6000 1 50 NO -
124-05522 ER32 6000 1 50 YES 20
I RADIAL DRILLING AND MILLING HEAD
84
63
1 1
f [b 1 f i 1
&) Ol
N ©
‘ VAT g
Ln)| &
AN N | [
O ofl,
(@]
| '
T ﬂ e Imﬁ 28
Sz 70 %
106.5
BIGLIA
MAX SPEED MAX TORQUE INTERNAL P
ol = (Rpm) AT (Nm) COOLING Bar
124-05523 ER32 6000 1 50 NO -
124-05524 ER32 6000 1 50 YES 20

v,
302 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES ////// GAIT




' 7 KINTEK DIN5480
I DIN5480

n VDI A

VDI A B d z
30 67 55 158 18
40 75 63 19,8 24
50 93 78 23,8 18

I AXIAL DRILLING AND MILLING HEAD

3 fa)
w F L
DIN5480 SAUTER
INTERNAL MAX TORQUE  MAX SPEED P

COD. D ER COOLING F L w Wi (Nm) (Rpm) RATIO Bar
116-43001 30 ER25 NO 87 55 64 68 28 6000 11 -
16-43002 30 ER25 YES 87 55 64 68 28 6000 11 20
16-44001 40 ER25 NO 105 63 80 86 50 6000 1 =
N6-44002 40 ER25 YES 105 63 80 86 50 6000 11 20
M6-44003 40 ER32 NO 108 63 80 86 50 6000 11 -
M6-44004 40 ER32 YES 108 63 80 86 50 6000 11 20
M6-45040 50 ER32 NO N4 78 88 88 80 6000 11 -
116-45041 50 ER32 YES N4 78 88 88 80 6000 1 20
N6-45017 50 ER40 YES 16,1 78 88 88 80 6000 IN 20

vV,
/////,, GAIT DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 303




' 7, KINT=K

I RADIAL DRILLING AND MILLING HEAD

DIN5480 SAUTER

MAX MAX

cop. D ER oolNG DIRECTON A B F L P T W TORQUE SPEED  RATIO  °
(Nm)  (Rpm)

116-43003 30  ER2S NO DX 55 48 63 55 56 29 64 28 6000 1 -
116-43004 30  ER2S YES DX 55 51 63 55 56 29 64 28 6000 1 20
116-43004L 30  ER2S YES sX 55 51 63 55 56 29 64 28 6000 1 20
116-44005 40 ER2S NO DX 80 59 70 63 65 36 75 50 6000 1 -
116-44006 40 ER2S YES DX 80 62 70 63 65 36 75 50 6000 1 20
116-44006-80BAR 40  ER25 YES DX 80 62 70 63 65 36 75 50 6000 1 80
116-43005 30 ER2S NO DX 85 48 63 55 56 29 64 28 6000 1 -
116-43006 30 ER2S YES DX 85 51 63 55 56 29 64 28 6000 1 20
116-54069 30  ER25 YES DX/SX 85 51 65 55 56 29 64 28 6000 1 20
116-46001 30  ER2S NO DX 100 48 63 55 56 29 64 28 6000 1 -
116-46002 30  ER25 YES DX 100 5 63 55 56 29 64 28 6000 1 20
116-54097 40 ER2S NO SX 100 59 72 63 65 36 75 50 6000 A .
116-44007 40  ER25 NO DX 100 5 70 63 65 36 75 50 6000 A .
116-44008 40  ER25 YES DX 100 62 70 63 65 36 75 50 6000 1 20
116-44009 40 ER32 NO DX 80 59 74 63 65 36 75 50 6000 A .
116-54098 40  ER32 YES DX/SX 80 62 75 63 65 36 75 50 6000 1 20
116-44010 40 ER32 YES DX 80 62 74 63 65 36 75 50 6000 1 20
116-44011 40 ER32 NO DX 100 59 74 63 65 36 75 50 6000 1 .
116-44012 40 ER®2 YES DX 100 62 74 63 65 36 75 50 6000 1 20
16-44012L 40 ER®2 YES SX 100 62 74 63 65 36 75 50 6000 1 20
116-54099 40  ER®2 YES DX 100 72 75 63 65 36 75 50 6000 1 80
116-45053 50 ER32 NO SX N0 64 M7 78 73 42 88 80 6000 1 -
116-45054 50 ER32 YES DX 10 64 TN71 78 73 42 88 80 6000 1 20
116-45030 50 ER40 YES DX 10 64 M91 78 73 42 88 80 6000 1 20

* left version on enquiry
ON REQUES AVAILABLE INTERNAL COOLANT 80 BAR

v,
304 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES ////// GAIT




' 7, KINT=K

I OFFSET RADIAL DRILLING AND MILLING HEAD

2L NN\

0
o

o
o
P

o
2
3

o
o) o) - L
k
A
DIN 5480 SAUTER
INTERNAL MAX TORQUE MAX SPEED p
cob. D ER AR DRECTON A B F L P T W (Nm) (Rpm) __ RATIO Bar
116-43008 30 ER25 NO DX 75 71 40 55 56 104 64 28 6000 11 -
116-43009 30 ER25 YES DX 75 74 40 55 56 104 64 28 6000 11 20
116-44016 40 ER32 NO DX 120 92 41 63 65 156 75 50 6000 11 -
16-44017 40 ER32 YES DX 120 95 41 63 65 156 75 50 6000 11 20
I AXIAL - RADIAL DRILLING AND MILLING HEAD
-
W
F A
\06’0
n_ L
3
(o)
g
s,
DIN 5480 SAUTER
INTERNAL MAXTORQUE MAX SPEED )
cop. D ER AN DRECTON A B F L P T W w 90 (Rom) RATIO o
16-54083 30 ER25 NO DX 86 59 45 55 56 40 32 32 16 6000 11 -
16-54084 30 ER25 YES DX 86 59 45 55 56 40 32 32 16 6000 11 20
16-54085 30 ER25 YES SX 86 59 65 55 56 40 32 32 16 6000 11 20

vV,
/////,, GAIT DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 305




' 7 KINTEK DIN5482
I DIN5482

n VDI A

- a
c
VDI A B d E zZ
30 55 45 14,5 B15X12 8
40 63 53 16,5 B17X14 9
50 93 78 19,5 B20X17 n
I AXIAL DRILLING AND MILLING HEAD
b fa)
w F L
DIN5482 SAUTER
INTERNAL MAX TORQUE MAX SPEED P
COD. D ER COOLING F L w W1 (Nm) (Rpm) RATIO Bar
16-43010 30 ER25 NO 87 45 64 68 28 6000 11 -
16-430M 30 ER25 YES 87 45 04 68 28 6000 11 20
16-44019 40 ER25 YES 105 53 80 86 50 6000 11 20
N6-44020 40 ER32 NO 108 53 80 86 50 6000 1N -
N6-44021 40 ER32 YES 108 53 80 86 50 6000 1N 20
16-45013 50 ER40 YES 16,1 71 88 88 80 6000 11 20

v,
306 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES ////// GAIT




' 7, KINT=K

I RADIAL DRILLING AND MILLING HEAD

m
[a]
('8
w T A L
DIN5482 SAUTER
INTERNAL MAX TORQUE MAX SPEED P
COD. D ER COOLING DIRECTION A B F L P T W (Nm) (Rpm) RATIO Bar
N6-43013 30 ER25 YES DX 55 51 63 45 48 26 64 28 6000 IR 20
16-44024 40 ER32 NO DX 80 59 74 53 71 33 75 50 6000 IR =
N6-44025 40 ER32 YES DX 80 62 74 53 71 33 75 50 6000 IR 20
N6-45044 50 ER32 NO DX no  e4 M7) 71 83 42 88 80 6000 Tl -
* left version on enquiry
ON REQUES AVAILABLE INTERNAL COOLANT 80 BAR
I OFFSET RADIAL DRILLING AND MILLING HEAD
w T
[ﬁgﬁ LL N
|
B\ 1. iK
O Ol a
° ©)
© H}: -
N
o g * L
I Jzy 1 6 4
A
DIN5482 SAUTER
INTERNAL MAXTORQUE MAX SPEED P
COD. D ER COOLING DIRECTION A B F L P T w (Nm) (Rpm) RATIO Bar
N6-54076 30 ER25 NO SX 75 71 42 45 48 104 64 28 6000 IR -

* left version on enquiry
ON REQUES AVAILABLE INTERNAL COOLANT 80 BAR

vV,
/////,, GAIT DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 307




' 7, KINT=K

I AXIAL - RADIAL DRILLING AND MILLING HEAD WITH INTERNAL NUT

DIN5482 SAUTER

INTERNAL

COD. D ER COOLING

DIRECTION

16e-54080 30 ERI6 NO DX

308 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES

F A
R
L
b3
o
g
0s,
MAX TORQUE MAX SPEED P
T W Wi (Nm) (Rpm) RATIO Bar
40 32 32 16 6000 11

7, GAIT




' 7 KINTEK DIN1809
I DIN1809

n VDI A
B
C
- - i a
c
|
T a
E
——— -
VDI A B (o4 d E
30 62 45 8 12
40 72 53 10 18 8
50 o1 78 13 24 13
I AXIAL DRILLING AND MILLING HEAD
2 fa)
w F L
DIN1809 - DUPLOMATIC
INTERNAL MAX TORQUE MAX SPEED P
COD. D ER COOLING F L w W1 (Nm) (Rpm) RATIO Bar
116-54065 30 ER25 YES 90 55 64 68 28 6000 11 20
116-43017 30 ER25 NO 87 45 64 68 28 6000 I -
116-43018 30 ER25 YES 87 45 64 68 28 6000 IN 20
N6-44027 40 ER25 YES 105 53 80 86 50 6000 I 20
116-44028 40 ER32 NO 108 53 80 86 50 6000 T -
M6-44029 40 ER32 YES 108 53 80 86 50 6000 IN 20
N6-44030 40 ER32 NO 95 53 80 86 50 6000 T -
116-44031 40 ER32 YES 95 53 80 86 50 6000 11 20
1M6-45039 50 ER32 YES N41 71 88 88 80 6000 IN 20
16-45014 50 ER40 NO 16,1 71 88 88 80 6000 T -
16-45015 50 ER40 YES 16,1 71 88 88 80 6000 11 20

vV,
/////,, GAIT DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 309




' 7, KINT=K

I OFFSET AXIAL DRILLING AND MILLING HEAD

DIN1809 - DUPLOMATIC

INTERNAL MAX TORQUE MAX SPEED P
COD. D ER COOLING DIRECTION A F L P T W (Nm) (Rpm) RATIO e
116-54074 30 ER25 NO DX 50 1076 45 40 90 78 14 12000 12 -
I RADIAL DRILLING AND MILLING HEAD
o
0
fa]
[T
W T A L
DIN1809 - DUPLOMATIC
INTERNAL MAX TORQUE MAX SPEED P
COD. D ER COOLING DIRECTION A B F L P T W (Nm) (Rpm) RATIO Bar
116-54068 30 ER25 NO SX 55 48 65 55 48 29 64 28 6000 11 -
116-43019 30 ER25 NO DX 55 48 ©3 45 48 29 o4 28 6000 11 -
116-43020 30 ER25 YES DX 55 51 63 45 48 29 o4 28 6000 11 20
116-54092 40 ER32 NO SX 80 59 75 53 71 3 75 50 6000 11 -
116-44034 40 ER32 NO DX 80 59 74 53 71 36 75 50 6000 11 -
116-44035 40 ER32 YES DX 80 ©2 74 53 71 36 75 50 6000 11 20
116-44038 40 ER32 NO SX 100 59 74 53 - 36 75 50 6000 11 -
116-44039 40 ER32 YES SX 100 62 74 53 - 36 75 50 6000 11 20
116-45050 50 ER32 YES DX N0 64 N71 71 83 42 88 80 6000 11 20
116-45051 50 ER32 YES SX N0 64 N71 71 83 42 88 80 6000 11 20
116-45026 50 ER40 YES DX MO 64 M91 71 83 42 88 80 6000 11 20
* left version on enquiry ON REQUES AVAILABLE INTERNAL COOLANT 80 BAR

210 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES

7, GAIT



' 7, KINT=K

I OFFSET RADIAL DRILLING AND MILLING HEAD

w A L1
o L
a
fa)
w
T
DIN1809 - DUPLOMATIC
INTERNAL MAX TORQUE MAX SPEED P
COD. D ER COOLING DIRECTION A B F L P T w (Nm) (Rpm) RATIO Bar
16-43022 30 ER25 NO DX 104 71 40 45 48 75 64 28 6000 11 -
N6-43022L 30 ER25 NO SX 104 71 40 45 48 75 64 28 6000 11 -
16-43023 30 ER25 YES DX 104 74 40 45 48 75 64 28 6000 11 20
116-46010 40 ER32 YES DX 156 95 40 53 72 120 75 50 6000 11 20
ON REQUES AVAILABLE INTERNAL COOLANT 80 BAR
I AXIAL - RADIAL DRILLING AND MILLING HEAD WITH INTERNAL NUT
—
[ov)
F A L1
‘\06’0
L
© 3
o
g
s,
DIN1809 - DUPLOMATIC
INTERNAL MAX TORQUE MAX SPEED P
COD. D ER COOLING DIRECTION A B F L L1 P T W Wi (Nm) (Rpm) RATIO Bar
16e-54082 30 ERI6 NO DX 79 59 45 45 62 48 40 32 32 16 6000 11 -
Ne-54081 30 ER25 NO SX 79 59 45 45 62 48 40 32 32 16 6000 11 -
N6-54114 40 ER25 NO SX 79 59 65 53 72 71 40 32 32 16 6000 11 -

vV,
/////,, GAIT DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 371




' 7, KINT=K TOEM BARUFFALDI

I TOEM BARUFFALDI

n VDI A

fa}
c
VDI A B d z
30 59 45/53 24 6
40 68 53 22 8
50 84 70 40 8
I AXIAL DRILLING AND MILLING HEAD
b fa)
w F L
TOEM BARUFFALDI
INTERNAL MAX TORQUE MAX SPEED P
COD. D ER COOLING F L w W1 (Nm) (Rpm) RATIO Bar
N6-43024 30 ER25 NO 87 45 64 68 28 6000 11 -
N6-43025 30 ER25 YES 87 45 64 68 28 6000 11 20
116-44045 40 ER25 MES 105 53 80 86 50 6000 11 20
16-44046 40 ER32 NO 108 53 80 86 50 6000 11 -
16-44047 40 ER32 YES 108 53 80 86 50 6000 11 20
N6-45043 50 ER32 YES 14,1 71 88 88 80 6000 11 20
116-45018 50 ER40 NO 16,1 71 88 88 80 6000 11 -
16-45019 50 ER40 YES 16,1 71 88 88 80 6000 IN 20

v,
212 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES ////// GAIT




' 7, KINT=K

I RADIAL DRILLING AND MILLING HEAD

[11]
[a]
o w
w T A L
TOEM BARUFFALDI
INTERNAL MAXTORQUE MAX SPEED P
COD. D ER COOLING DIRECTION A B F L P T W (Nm) (Rpm) RATIO Bar

ne-54072 30 ER25 YES DX 55 61 65 45 48 29 64 28 6000 11 80
16e-43026 30 ER25 NO DX 55 48 63 45 48 29 64 28 6000 11 -
16-43027 30 ER25 YES DX 55 51 63 45 48 29 64 28 6000 11 20
1e-54070 30 ER25 NO SX 85 48 65 45 48 29 64 28 6000 11 -
16-54071 30 ER25 YES SX 85 48 65 45 48 29 64 28 6000 11 20
16-44049 40 ER25 YES DX 80 62 70 53 71 36 75 50 6000 11 20
16-44050 40  ER32 NO DX 80 59 74 53 71 36 75 50 6000 11 =
16-44051 40  ER32 YES DX 80 62 74 55 71 36 75 50 6000 11 20
16-45059 50 ER32 YES SX no 64 M71 71 83 42 88 80 6000 11 20
116-45033 50 ER40 NO SX O 64 1191 71 83 42 88 80 6000 11 20
16-45034 50 ER40 YES DX O 64 1191 71 83 42 88 80 6000 11 20
1e-45035 50 ER40 YES SX o 64 191 71 83 42 88 80 6000 11 20

* left version on enquiry
ON REQUES AVAILABLE INTERNAL COOLANT 80 BAR

vV,
/////,, GAIT DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 73




' 7, KINT=K

I OFFSET RADIAL DRILLING AND MILLING HEAD

w T
7\
° BT, Sk
OO ()O a
& i == -

A
TOEM BARUFFALDI
INTERNAL MAX TORQUE MAX SPEED P
COD. D ER COOLING DIRECTION A B F L P T w (Nm) (Rpm) RATIO Bar
M6-43029 30 ER25 NO DX 75 71 40 45 48 104 64 28 6000 11 -
16-43030 30 ER25 YES DX 75 74 40 45 48 104 64 28 6000 11 20
T6-46012 40 ER25 YES DX 120 95 37 53 71 156 75 50 6000 11 20
16-46013 40 ER32 NO DX 120 92 4] 53 71 156 75 50 6000 11 -
T6-46014 40 ER32 YES DX 120 95 4] 53 71 156 75 50 6000 11 20
ON REQUES AVAILABLE INTERNAL COOLANT 80 BAR
I AXIAL - RADIAL DRILLING AND MILLING HEAD
4
w
F A
&
o E L
o
g
s,
TOEM BARUFFALDI
INTERNAL MAXTORQUE MAX SPEED P
COD. D ER COOLING DIRECTION A B F L P T W Wi (Nm) (Rpm) RATIO Bar
116-54086 30 ER25 NO DX 79 59 65 45 48 40 39 39 16 6000 11 -
116-54130 40 ER25 NO SX 79 59 65 53 71 40 39 39 16 6000 11 -
116-54131 40 ER25 YES SX 86 59 65 53 71 40 39 39 16 6000 11 20

v,
314 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES ////// GAIT




' 7 KINTEK HAAS
I HAAS

n VDI A

),
)

z
VDI A B D V4 TIPO
40 104.85 63 302 4
40 1755 63 30,2 4
40 130,25 63 30,2 4
I AXIAL DRILLING AND MILLING HEAD
2 fa)
L
w F L1
STEPPED - HAAS
INTERNAL MAX TORQUE MAX SPEED P
COD. D ER COOLING F L L1 w W1 (Nm) (Rpm) RATIO Bar
1M6-44060 40 ER25 NO 105 63 Mn755 80 86 50 6000 11 -
1M6-44058 40 ER32 NO 108 63 104,85 80 86 50 6000 1 -
1M6-44059 40 ER32 YES 108 63 104,85 80 86 50 6000 11 20
N6-44062 40 ER32 NO 108 63 Nn7,55 80 86 50 6000 IN -
M6-44063 40 ER32 YES 108 63 Nn7,55 80 86 50 6000 IN 20
16-44066 40 ER32 NO 108 63 130,25 80 86 50 6000 11 -

vV,
/////,, GAIT DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 315




' 7, KINT=K

I RADIAL DRILLING AND MILLING HEAD

(a]
o
a
L
w T A L
STEPPED - HAAS
INTERNAL MAX TORQUE MAX SPEED 3
copD. D ER COOLING DIRECTON A B F L LI P T w "0 (Rpm) RATIO oo
16-44073 40 ER25 YES X 80 62 70 63 T755 82 36 75 50 6000 1 20
116-54105 40 ER32 YES X 80 59 91 63 13025 82 36 75 50 6000 1 20
116-47003 40 ER32 NO X 69 59 74 63 10485 82 36 75 50 6000 1 -
116-54101 40 ER32 NO X 69 56 91 63 1755 82 36 75 50 6000 11 -
116-47004 40 ER32 YES X 69 62 74 63 10485 82 36 75 50 6000 11 20
116-47007 40 ER32 NO X 69 59 74 63 T755 82 36 75 50 6000 11 -
116-47008 40 ER32 YES X 69 62 74 63 1755 82 36 75 50 6000 11 20
16-44074 40 ER32 NO X 80 59 74 63 1755 82 36 75 50 6000 11 -
16-44075 40 ER32 YES X 80 62 74 63 1755 82 36 75 50 6000 11 20
16-44078 40 ER32 NO X 80 59 74 63 13025 82 36 75 50 6000 11 -
ON REQUES AVAILABLE INTERNAL COOLANT 80 BAR
I OFFSET RADIAL DRILLING AND MILLING HEAD
o
©
o T8
L
w T A L
STEPPED - HAAS
INTERNAL MAXTORQUE MAX SPEED 3
cop. D ER NG DRECTON A B F L LU P T w "0 (Rom) RATIO o
116-54110 40 ER32 NO X 20 92 42 63 1755 8 36 75 50 6000 11 -
16-54113 40 ER32 YES 5 120 95 42 63 M755 8 36 75 50 6000 11 20

v,
316 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES ////// GAIT




' 7, KINT=K

I AXIAL - RADIAL DRILLING AND MILLING HEAD

F A L1
\06;
o L
b3
o
g
s,
STEPPED - HAAS
INTERNAL MAXTORQUE MAX SPEED P
COD. D ER COOLING DIRECTION A B F L L1 P T W wi (Nm) (Rpm) RATIO Bar
124-04009 40 ER25 YES SX 86 59 65 63 130,25 82 40 329 39 16 6000 11 20

vV,
/////,, GAIT DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 317




' 7 KINTEK OKUMA - BMT60 ‘

OKUMA - BMT60 - LB2000 EX (M) - LB2500 EX (M) - LB3000 EX (M,MY) - LT2000 EX - LT3000 EX
LB3000 EX (MW,MYW) - LU2000 EX - LU2500 EX - LU3000 EX (M,MW,MY) - GENOS L300 (MY,MW,MYW)

CONNECTION TURRET BMT60

39 26

)

/%

Y
J

19

~
U< S

36.5

D)
L/
L)
L/

39

26 |

[

v,
718 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES ////// GAIT




' 7, KINT=K

I AXIAL DRILLING AND MILLING HEAD

] w
O |
O [
S L) JHH s
O O, O
O 1
\ (O
i
. W _ F -
OKUMA BMT60
INTERNAL MAX TORQUE MAX SPEED P
COD. D ER COOLING A B F (Nm) (Rpm) RATIO Bar
124-06005 60 ER32 NO 87 97 100 70 6000 11 -
124-06006 o0 ER32 YES 87 97 100 70 6000 11 20
I RADIAL DRILLING AND MILLING HEAD
w T, A

Jﬁ: w 0 1
ij © al [0 )

Lq_ﬂuo v

OKUMA BMT60

INTERNAL MAX TORQUE MAX SPEED P
CoD. D ER COOLING DIRECTION A B F T W (Nm) (Rem) RATIO Bar
124-06007 60 ER32 NO DX/SX 70 59 M 38 94 70 6000 17
124-06008 60  ER32 YES DX/SX 70 59 M 38 94 70 6000 11 20
DOUBLE RADIAL DRILLING AND MILLING HEAD
WITH INTERNAL NUT
T A
1 ﬂ
= 7
o 1]
m
)
® - o
@ J_‘D
-
o ‘Lj
-
DOUBLE OKUMA BMT60
INTERNAL MAX TORQUE MAX SPEED P
CcoD. D ER COOLING DIRECTION A B F T W L (Nm) (Rem) RATIO Bar
124-06602 60 32 YES DX/SX 70 1038 9l 38 94 49 70 6000 171 20

vV,
/////,, GAIT DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 319




' 7 KINTEK OKUMA - BMT60 ‘

I OKUMA - BMT60 - LB4000 EX (M)

CONNECTION TURRET OKUMA BMT60

44.5

%

17

39

39

40 40

v,
220 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES ////// GAIT




' 7, KINT=K

I AXIAL DRILLING AND MILLING HEAD

N
A O LU O —
A
— o o
S —+ : }3 a
o O, O ‘
‘ M
J I R L[]
L w | F
OKUMA BMT60
INTERNAL MAX TORQUE MAX SPEED P
COD. D ER COOLING A B F (Nm) (Rpm) RATIO Bar
124-06009 60 ER40 NO 82 100 110 80 6000 11 -
124-06010 60 ER40 YES 82 100 110 80 6000 11 20
I RADIAL DRILLING AND MILLING HEAD
w -l T A
WIP
u 17
0
5o
[21]
0
T T —
OKUMA BMT60
INTERNAL MAX TORQUE MAX SPEED P
COD. D ER COOLING DIRECTION A B F T \\ (Nm) (Rpm) RATIO Bar
124-0601 60 ER40 NO DX/SX 85 64 121 44 100 80 6000 11 -
124-06012 60 ER40 YES DX/SX 85 64 121 44 100 80 6000 11 20
124-06014 60 ER40 YES DX/SX 85 64 121 44 100 80 6000 11 80

vV,
/////,, GAIT DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 251




' 7, KINT=K

I AXIAL DRILLING AND MILLING HEAD

w1
D

STEPPED - OKUMA

cob. D ER oaNe F L L1 w w1 MA’((;(')T:?UE Mﬁ’ég;ﬁED RATIO Bor
11654066 30  ER25 YES 885 55 69 67 67 28 6000 1 80
116-43031 30  ER25 NO 87 55 69 64 68 28 6000 1 .
16-430322 30  ER25 YES 87 55 69 64 68 28 6000 1 20
116-44098 40  ER25 NO 105 63 93 80 86 50 6000 1 -
116-540900 40  ER32 YES 935 63 93 79 79 50 6000 1 80
11654001 40  ER32 NO 108 63 93 80 86 50 6000 1 -
1654002 40  ER32 YES 108 63 93 80 86 50 6000 1 20
11654005 40  ER32 NO 108 63 101 80 86 50 6000 1 -
11654006 40  ER32 YES 108 63 101 80 86 50 6000 1 20
165419 50  ER32 VES N4 71 106 88 88 80 6000 1 80
116-54120 50  ER40 NO 6 71 106 88 88 80 6000 1 -

v,
222 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES ////// GAIT




' 7, KINT=K

I RADIAL DRILLING AND MILLING HEAD

P1

[a]
a [ai] L
w T A L
STEPPED - OKUMA

cob. D ER ooING  DIRECTION A B F L L1 P T w Bar
16-43033 30 ER25 NO DX 85 48 63 55 69 - 29 64 -
116-43033L 30 ER25 NO sX 85 48 63 55 69 - 29 64 -
16-43035 30 ER25 NO sX 55 48 63 55 69 72 29 64 -
16-43036 30 ER25 YES sX 55 51 63 55 69 72 29 64 20
116-54007 40 ER25 NO X 80 59 70 63 9% & % 75 -
116-54009 40 ER32 NO X 80 59 74 63 93 82 36 75 -
16-54010 40 ER32 YES X 80 &2 74 63 93 82 36 75 20
16-54014 40 ER32 YES sX 80 &2 7 63 101 82 36 75 20
1654017 40 ER32 NO DX 80 59 74 63 93 - % 75 -
N6-54018 40 ER32 YES DX 80 e 7% 63 93 - 3 75 20
116-54104 40 ER32 YES sX 67 62 9 63 93 82 36 75 20
11654106 40 ER32 YES SX 80 & 9 63 93 82 36 75 20
11654103 40 ER32 NO sX 80 59 75 63 101 82 6 75 -
1654127 50 ER32 YES sX no 64 17 71 106 102 42 88 20
1654128 50 ER40 NO sX 0 64 19 71 106 102 42 88 -
1654129 50 ER40 YES X 0 64 M9 71 106 102 42 88 20

ON REQUES AVAILABLE INTERNAL COOLANT 80 BAR

vV,
/////,, GAIT DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 393




' 7, KINT=K

I OFFSET RADIAL DRILLING AND MILLING HEAD

fa
L
a [41]
w T A K]
STEPPED - OKUMA
INTERNAL MAXTORQUE MAX SPEED P
COD. D ER COOLING DIRECTION A B F L L1 P T w (Nm) (Rpm) RATIO Bar
116-48002 40 ER25 YES SX 120 95 37 63 104,85 82 36 75 50 6000 11 20
116-48004 40 ER32 YES SX 120 95 41 63 104,85 82 36 75 50 6000 11 20
ON REQUES AVAILABLE INTERNAL COOLANT 80 BAR
I AXIAL - RADIAL DRILLING AND MILLING HEAD
4
@
F A ]
&
L
-3
o
g
hel
s,
STEPPED - OKUMA
INTERNAL MAX TORQUE MAX SPEED P
COD. D ER COOLING DIRECTION A B F L P T W Wi (Nm) (Rpm) RATIO Bar
M6-54087 30 ER16 NO SX 86 59 45 55 72 40 32 32 16 6000 11 -
16-54115 40 ER25 NO SX 86 59 65 63 - 40 39 39 16 6000 1 -

v,
224 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES ////// GAIT




. READY, ALWAYS.

7, KINTEK MAZAK QTN 100/150

I AXIAL DRILLING AND MILLING HEAD

Ny
N |
1 % , 4
i I Y
<
s | v
| .
v -
- \\ - - F -l L1 -
MAZAK
INTERNAL MAXTORQUE MAX SPEED P
COD. D ER COOLING F A L L1 P W W1 (Nm) (Rpm) RATIO Bar
N6-54053 40 ER32 NO 10,6 50 60 6l 84 78 90 50 6000 11
I RADIAL DRILLING AND MILLING HEAD
Bl T L
A W
»}
a VM —
© a | ]
V) 1N i R
= A Y
[T
I B L .
Lad| -
W - A e U1
MAZAK
INTERNAL MAXTORQUE MAX SPEED P
COD. D ER COOLING DIRECTION A B F L L1 P T W (Nm) (Rpm) RATIO Bar
N6-54049 40 ER32 NO DX 100 59 876 60 61 79 137 76 50 6000 11

vV,
/////,, GAIT DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 395




7 KINTEK MAZAK QTN 200/250

I AXIAL DRILLING AND MILLING HEAD

MAZAK
INTERNAL MAX TORQUE MAX SPEED P
cobp. D ER INTERNAL F A L L P W w & s RATIO o
116-54019 40 ER32 NO 06 S0 60 78 84 78 90 50 6000 1 -
116-54044 40 ER32 YVES 06 50 60 78 84 78 90 50 6000 1 20
I RADIAL DRILLING AND MILLING HEAD
- T -
Y F%
o Mee—
@) al ] } 1
Y (&) v / X
=/ ! Y
Tl w ; T
] B L o
Lo d| ¥ ~
. w . - A -l L1 -
MAZAK
INTERNAL MAX TORQUE MAX SPEED P
cob. D ER CoOUMe  DRECTON A B F L L p T w VAT e RATIO
116-54020 40 ER32 NO DX 130 62 876 70 78 84 167 76 50 6000 1 -
116-54040 40 ER32 NO X 130 62 876 70 78 84 167 76 50 6000 1 -
116-54041 40 ER32 VES DX 130 62 876 70 78 84 167 76 50 6000 1 20
116-54093 40 ER32 YES DX 100 62 876 60 61 68 137 76 50 6000 1 20
116-54095 40 ER32 YVES X 100 62 876 60 61 68 137 76 50 6000 1 :
116-54096 40 ER32 YVES DX 100 62 876 60 61 68 137 76 50 6000 1 80

v,
226 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES ////// GAIT




' 7, KINT=K MAZAK BMT68

MAZAK BMTG68 - QTc/QTU 100-350 M/MY/MS/MSY - QT/QTS 100-250 M/MY/MS/MSY
QT 200-250 M/MY/MS/MSY (16D)

CONNECTION TURRET MAZAK BMT68

45

N ) U
N
) 9 é&"
QQ’% |

34

45 65

vV,
/////,, GAIT DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 57




' 7, KINT=K

I AXIAL DRILLING AND MILLING HEAD

68 43.7
fo | @ 3
) —
N
T ©
- —+ 1 [(e)
n -
0 ||
@ ——1- 24
*’@ @ I
‘ 37 32
85 76.3 90
MAZAK BMT68
MAX SPEED MAX TORQUE INTERNAL P
Ccob. ER (Rpm) Harle (Nm) COOLING Bar
124-06805 ER32 12000 1 70 NO
124-06806 ER32 12000 1 70 YES 20
I RADIAL DRILLING AND MILLING HEAD
—H/
ERRE
n —
[(e] y
‘ ]
B ./
T g
Y N m N -
o ‘ O] | MR I =3
[T = |24 |
J
i 920
Lo 0 "
85 T8
MAZAK BMT68
MAX SPEED MAX TORQUE INTERNAL P
ol = (Rpm) AT (Nm) COOLING Bar
124-06807 ER32 6000 1 70 NO
124-06808 ER32 6000 1 70 YES 20
124-06809 ER32 6000 1 70 YES 80

v,
228 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES ////// GAIT




7, READY, ALWAYS.

7 KINTEK DMG MORI SEIKI/ CMZ

DMG MORI SEIKI / CMZ - cL 200/203 - SL 20/25 - SL 203/204/250/253 - SL 254 (MC,SMC)/2500Y

SL 203MC - SL 253MC - ZL 200MC - ZL 250SMC - SL 204SMC - SL 300MC - TBI 520 - TL 20/25 - TC 15/20/25/30/35

TA 15M/Y/MS/MY/YS - TA 20M/Y/MS/MY/YS - TA 25M/Y/MS/MY/YS - TA 30M/Y/MS/MY/YS - TD 15/20/25/30/35/45
TD 55M/Y/MS/MY/YS

I AXIAL DRILLING AND MILLING HEAD

30

-
==

/’/ N
> m
EH T :
- R ==y L
Bl =,
N
DMG MORI SEIKI CMZ
MAX SPEED MAX TORQUE INTERNAL P
elz) ER H (Rpm) RATIO (Nm) COOLING Bar
124-00001 ER32 55.5-60 6000 1 70 NO
124-00002 ER32 55.5-60 6000 1 70 YES 80

I RADIAL DRILLING AND MILLING HEAD

N
L
DMG MORI SEIKI CMZ
MAX SPEED MAX TORQUE  INTERNAL 3
cob. ER H h1 h2 (Rprm) RATIO N i Bar
124-00003  ER32 55 57 89-935 6000 11 70 NO
124-00004  ER32 55 72 89-935 6000 11 70 YES 80

vV,
/////,, GAIT DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 359




. READY, ALWAYS.

7, KINTEK DMG MORI SEIKI BMT40

DMG MORI SEIKI BMT40 - Nz 1500/2000/3100 - NZ/NTZ 1000/2000/3000/3100/3150/3200
NZ/NzZX 2000/2500 (16 station turret) - NL/NLX 1500/2000/2500 (20 station turret) - DURATURN 2050/2550 MC
LTX310ECO-BMT

CONNECTION TURRET DMG MORI SEIKI BMT40

12

)

L/
L/

|

31

[

\
)
N

18

\
12

31

35 35

Y
A

v,
330 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES ////// GAIT




' 7, KINT=K

I AXIAL DRILLING AND MILLING HEAD

IS i
DMG MORI BMT40
MAX SPEED MAX TORQUE INTERNAL P
CoD. ER (Rpm) e (Nm) COOLING Bar
124-04005 ER32 12000 1 50 NO
124-04006 ER32 12000 1 50 YES 20
I RADIAL DRILLING AND MILLING HEAD
62
! |
i f
5 A=
n
& -
o . B Q
S 3
©
©® ‘ =3
3
3 | 42
69
85
DMG MORI BMT40
MAX SPEED MAX TORQUE INTERNAL P
e =2 (Rpm) e (Nm) COOLING Bar
124-04007 ER32 6000 1 50 NO
124-04008 ER32 6000 1 50 YES 20

7, GAIT

DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 33




7 KINTEK MORI SEIKI BMT60

MORI SEIKI SEIKI BMT60 - DURATURN 2050/25550MC (16 stazioni) - NLX1500 (12 stazioni) - NLX2000
NLX2500 - NLX3000 - NLX4000 - NL2000 (S)MC - 2500 (S)MC - NL300OMC (12 stazioni) - NRX2000MC (10 stazioni)
NT3100 - NT3200 -NT3250 - NT4200 - NT4250 - NT4300 - NT5400 - NZL2500 - NT4000 - NT5000 - NZL 2000/2500
NZX 2500 (station turret) - NTX 1000/2000,/2500/3000 - 2ND GEN. 10 ST. - (TX2500 BMT60) - TAKISAWA TM-2000 Y2

CONNECTION TURRET MORI SEIKI BMT60

U
e
N

42

26

42

47 47

v,
332 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES ////// GAIT




' 7, KINT=K

I AXIAL DRILLING AND MILLING HEAD

= o —
\
ﬁ O L
' - —
B W | L
-2
- F -
MORI SEIKI BMT60
MAX TORQUE MAX SPEED INTERNAL P
cob. ER D F L L1 L2 w W1 (Nm) (Rpm) RATIO eI o
124-06001 ER32 60 89 53 485 58 108 130 70 6000 11 NO
124-06003 ER32 60 89 53 485 58 108 130 70 6000 11 YES 20
I RADIAL DRILLING AND MILLING HEAD
A
© “J
()
S i | . =T
(@] ‘ [a1]
O
@@ ol_ L
w L
MORI SEIKI BMT60
MAX TORQUE MAX SPEED INTERNAL P
coD. ER D F L L1 A B C w W1 (Nm) (Rpm) RATIO G o
124-06002 ER32 60 107 53 128 90 65 78 108 130 70 6000 11 NO
124-06004 ER32 60 107 53 128 90 65 78 108 130 70 6000 11 YES 20
DOUBLE RADIAL DRILLING AND
MILLING HEAD WITH INTERNAL NUT : A
=
R J
m —3-
el B
w ¢ B’
m L
¢ J
LIT1T
DOUBLE MORI SEIKI
INTERNAL MAX TORQUE MAX SPEED P
cob. D ER SN DIRECTON A B F T W L (Nm) (Rom) RATIO Bar
124-06603 60 32 NO DX/SX 90 1038 91 38 108 53 70 6000 11

7, GAIT

DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 333




7, READY, ALWAYS.

7, KINTEK NAKAMURA -TOME - BMT44

NAKAMURA - TOME - BMT44 - NTY3/SUPER - NTMX/NTMXL - WT100 - MURATA MURATEC MT100
WY-100II - NT3100

CONNECTION TURRET NAKAMURA - TOME - BMT44

29

275

20

27.5

20 20

v,
334 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES ////// GAIT




' 7, KINT=K

I AXIAL DRILLING AND MILLING HEAD

A
A
2 -— o
/
A
' F
NAKAMURA - TOME
INTERNAL MAX TORQUE MAX SPEED P
COD. D ER COOLING F w W1 (Nm) (Rpm) RATIO Bar
124-04402 44 ER25 YES 68.6 83 62 40 6000 IR 20
I RADIAL DRILLING AND MILLING HEAD
W T A
( ] — H
w P
SV =
o
- gt 5 | a
o O
O O
o @ ]
T
NAKAMURA - TOME
INTERNAL MAX TORQUE MAX SPEED P
COD. D ER COOLING DIRECTION A B F T w (Nm) (Rpm) RATIO Bar
124-04403 44  ER25 NO DX/SX 60 50,3 878 35 80 28 6000 11 -
124-04404 44  ER25 YES DX/SX 60 50,3 878 35 80 28 6000 11 20
124-04405 44  ER25 NO DX/SX 75 50 89 35 78 28 6000 11
124-04406 44  ER25 YES DX/SX 75 50 89 35 78 28 6000 11 80

V,
/////,, GAIT DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 335




7, KINTEK NAKAMURA -TOME - BMT55

7, READY, ALWAYS.

I NAKAMURA - TOME - BMT55 - As-200 /NTM 3 / NTY3-250 - SC-150M - SC-200MY - SC-250M

SuperNTJ - TMC-20 Il M/ML - TW-10 - TW-20 - WT-20 Il M/MY - WT150/200 - WT-250 - WTS-150 - WTW-150/160

WT200 II (M,MY) - WY-250
CMZ - TX52/66 - SUPER NTJ/NTM3 - SC150/250 - TX52 Y3-Y2 QUATTRO-Y2 TW IN - TX66 Y3-Y2 QUATTRO-Y2 TW IN

TTL52 - TTL66 - TA15-20-25-30M/Y/MS/MY/YS 15ST

CONNECTION TURRET NAKAMURA - TOME - BMT55

A
Y

33
30

30

1/
\

25 25

v,
336 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES ////// GAIT




' 7, KINT=K

I AXIAL DRILLING AND MILLING HEAD

W1
1
D

| \
v © O
- W - - F .
NAKAMURA - TOME
INTERNAL MAX TORQUE MAX SPEED P
COD. D ER COOLING F W Wi (Nm) (Rpm) RATIO Bar
124-05507 55 ER25 NO 78 80 86 50 6000 11 -
124-05508 55 ER25 YES 78 80 86 50 6000 11 20
124-05529 55 ER32 NO 78 80 86 50 6000 11 -
I RADIAL DRILLING AND MILLING HEAD
- w - T A
o | T D
1 LL [
O / O ] |
O / \ °l
O 1
O\Fa/ of - '
I ° CP T ‘ T 7

NAKAMURA - TOME

cob. D ER N ooiNG  DIRECTION A B F T w MAX(L%R)QUE M?é;f\f)ED RATIO Bar
124-05509 55 ER25 NO DX/SX 55 503 748 35 84 28 6000 1 :
124-05510 55 ER25 YVES DX/SX 55 503 748 35 84 28 6000 1 20
124-05517 55 ER25 YES DX/SX 55 503 748 35 84 28 6000 1 80

7, GAIT

DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 337




. READY, ALWAYS.

7, KINTEK NAKAMURA -TOME - BMT65

NAKAMURA - TOME - BMT65 - wT300 - SC300 - TW20 - TMC-200M - TMC-300M - SUPER NTX
TW20M /MY/MM/MMY/MMYY (12 stations) - TW30M/MY/MM/MMY/MMYY (16 stations)

CONNECTION TURRET NAKAMURA - TOME - BMT65

>
Y10

A
Y

37.5
34.5

20

34.5

35.5 35.5

v,
338 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES ////// GAIT




' 7, KINT=K

I AXIAL DRILLING AND MILLING HEAD

) e —=
O QO W I
Ly [ R “ - -
3 %ﬂ{ — o
© Y
W L
NAKAMURA - TOME
cob. D ER P F w w1 MAX(L?TSQUE Mﬁ’égﬂim RATIO B':r
124-06504 65  ER32 NO 75 % 9% 70 6000 1
124-06505 65  ER32 YES 75 % % 70 6000 1 20
I RADIAL DRILLING AND MILLING HEAD
- W Tl A
[
O | TR
O _ 0O ‘ I )
O @]
/75 ] )
©)| 1 3
<O> - O m Y
——lel Y —L

NAKAMURA - TOME

INTERNAL MAX TORQUE MAX SPEED P
COD. D ER COOLING DIRECTION A B F T w (Nm) (Rpm) RATIO Bar
124-06506 65 ER32 NO DX/SX 65 59 10 38 96 70 6000 11
124-06507 65 ER32 YES DX/SX 65 59 1o 38 96 70 6000 11 20

vV,
/////,, GAIT DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 339




' 7, KINT=K

BMT45

DOOSAN - LYNX 2100MA/220 (LMSA,LMSC)

220 (LSYA,LSYC) - 220 (M,LM)

LYNX 220 (MA,LMA,MC,LMC) - 220 (YA,YC,LYA,LYC)
220 (YA,YC,LYA,LYC) - PUMA MX1600 (T,ST)
HARDINGE - BMT45

SMEC - PL1600 (M,CM)

CONNECTION TURRET BMT45

15 é“b

D

29

—d

3
ary

29

17
N

Pan
O
fan
N

29 29

BMT65

DOOSAN - PUMA 2100/2600 (M,LM,MS,LMS) -
PUMA 2100/2600 (Y,LY,SY,LSY) - PUMA 300
(M,MS,MB,MC) - PUMA 3100 (M,LM,LY,XLM,
XLY,ULM,ULY) - PUMA MX2000/2500 - PUMA MX2600
(T,ST) - PUMA TT2500 (MS/SY) - PUMA V400 (M) -
PUMA VT450 (M,SP)

HWACHEON - CUTEX-240 - HI-TECH200/T2-Series
HI-TECH300/400 - VT-450

HYUNDAI WIA - L2100SY - SKT-200/250TTSY
SKT-250/300 (L,M) - SKT-250/300 (MS)

MAXSIN - BMT65

SMEC/SAMSUNG - SL25 - SL35

TONGTAI - TMT2000

VICTOR - VTURN-A26 (YSCM)

CONNECTION TURRET BMT65

18

J

| @iy

17

O

36.5
S

N

A\l Ay )

O
[
\
D)
&

35 35

37

340 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES

BMT45-BMT55-BMTe5-BMT75

BMT55

DOOSAN - LYNX 300 (M) - PUMA 1500/2000/2500
(M,S,Y) - PUMA 2100 (Y,LY,SY,LSY) - PUMA
2100/2600/3100 M/Y/MS/SY PUMA 230/240/280
(M,LM,S) - PUMA GT2100M - PUMA MX2100 (ST/LST)
PUMA TL2000/2500 (M,LM)

HARDINGE - BMT55

HWACHEON - CUTEX-160

SMEC/SAMSUNG - SL 20MC

HYUNDAI WIA - SKT-180TTSY

VICTOR - VTURN-A16/A20 (YSCM)

CONNECTION TURRET BMT55

15

32

32

\0
M
N . N
|
.
<
, | o
R \ J
N
L/
>
A ] o
W W
32 32

BMT75

DOOSAN - PUMA 400/480 (M,LM,XLM) - 500 (M) -
V550 (M) - VT750 (TM, 2SP)

SAMSUNG - PL 45LM - HYUNDAI WIA - LVBOORM -
SKT400M/MA/MC/LMC

HYUNDAI WIA - LVBOORM - SKT400M/MA/MC/LMC
HWACHEON - HI-TECH 550/700/7026 - VT-550

CONNECTION TURRET BMT75

25

45

25

45
33

7, GAIT




' 7, KINT=K

I AXIAL DRILLING AND MILLING HEAD

‘ [a]
1 1
5 x 10] —
t] ‘.
\
L
F L1
BMT

cob. BMT ER D F K L o W wi MA?é SEFSED RATIO MA)((,L?E)QUE RoolNE  Bar
124-04501 45 ER25 45 676 15 40 84 785 75 6000 1 50 NO -
124-04502 45 ER25 45 676 15 40 84 785 75 6000 1 50 YES 20
124-05501 55 ER25 55 7 15 30 104 85 85 6000 1 50 NO .
124-06509 55 ER25 55 7 15 20 104 85 85 6000 1 50 YES 20
124-06518 55 ER32 55 7 15 20 104 85 85 6000 1 50 YES 20
124-05525 55 ER32 55 73 15 30 104 87 85 6000 1 50 NO .
124-06501 65 ER32 65 75 18 32 M2 94 94 6000 1 70 NO -
124-06508 65 ER32 65 75 18 32 M2 94 94 6000 1 70 YES 20
124-06518 65 ER32 65 76 18 32 M2 95 95 6000 1 70 YES 20
124-07506 75 ER32 75 67 25 43 MO T2 M2 6000 1 80 NO .
124-07507 75  ER40 75 67 25 43 M0 T2 M2 6000 1 80 NO :

vV,
/////,, GAIT DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 341




' 7, KINT=K

I RADIAL DRILLING AND MILLING HEAD

[ 1 [a]
T
|
w
——1 U L
LELJU A 0
BMT
cobp. BMT ER D A B F L L T W W M%gstD RATIO MA’}L?SQUE RooINE  Bar
124-04503 45 ER25 45 65 57 976 40 84 365 75 83 6000 1 50 NO .
124-04504 45 ER25 45 65 57 976 40 84 365 75 83 6000 1 50 YES 20
124-04505 45 ER25 45 65 57 976 40 84 365 75 83 6000 1 50 NO .
124-05502 55 ER25 55 70 57 98 30 104 365 85 98 6000 1 50 NO .
124-06510 55 ER2S 55 70 57 98 30 104 365 85 98 6000 1 50 YES 20
124-05511 55 ER25 55 85 57 98 30 104 365 85 98 6000 1 50 NO .
124-05512 55 ER2S 55 85 57 98 30 104 365 85 98 6000 1 50 YES 20
124-06520 55 ER25 55 85 57 98 30 104 365 85 98 6000 1 50 YES 80
124-05513 55 ER32 55 85 57 101 30 104 365 85 98 6000 1 50 NO .
124-05514 55 ER32 55 85 57 101 30 104 365 85 98 6000 1 50 YES 20
124-05526 55 ER32 55 85 57 101 30 104 365 85 108 6000 1 50 NO .
124-05527 55 ER32 55 85 57 101 30 104 365 85 108 6000 1 50 YES 20
124-05528 55 ER32 55 85 68 101 30 104 365 85 108 6000 1 50 YES 80
124-06502 65 ER32 65 72 59 T 32 T2 38 94 100 6000 1 70 NO .
124-0652 65 ER32 65 72 59 T 32 T2 38 94 100 6000 1 70 YES 20
124-06521 65 ER32 65 72 59 T 32 12 38 94 100 6000 1 70 YES 80
124-06513 65 ER32 65 100 59 1 32 T2 38 94 100 6000 1 70 NO -
124-06514 65 ER32 65 100 59 T 32 T2 38 94 100 6000 1 70 YES 20
124-07508 75 ER32 75 100 76 104 43 90 44 T2 10 6000 1 80 NO ,
124-07509 75 ER32 75 100 76 104 43 90 44 T2 10 6000 1 80 YES 20
124-07510 75 ER32 75 100 76 104 43 10 44 T2 10 6000 1 80 NO -
12407511 75 ER32 75 100 76 104 43 10 44 T2 1O 6000 1 80 YES 20
124-07512 75 ER40 75 100 76 104 43 90 44 T2 TO 6000 1 80 NO .
124-07513 75 ER40 75 100 76 104 43 90 44 T2 70 6000 1 80 YES 20
124-07514 75 ER40 75 100 76 104 43 10 44 T2 70 6000 1 80 NO -
124-07515 75 ER40 75 100 76 104 43 10 44 T2 70 6000 1 80 YES 20

v,
342 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES ////// GAIT




' 7, KINT=K

DOUBLE RADIAL DRILLING AND MILLING HEAD
WITH INTERNAL NUT

A
T [
= 2=

T
J

= =1

w
DOUBLE BMT
INTERNAL MAX TORQUE MAX SPEED 3
COD. D ER  CooLmG DIRECTON A B F T W L (Nm) (Rpm) RATIO Bar
124-06605 65 32 NO DX/SX 72 104 91 38 94 32 70 6000 1
124-06606 65 32 YES DX/SX 72 104 91 38 94 3R 70 6000 1 20

vV,
/////,, GAIT DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 343




. READY, ALWAYS.

A& ooosan - vt

7, KINTEK DOOSAN-BMT - VARIABLE ANGLE

P
~ N
0 Lo O |
mo((o))a | = -
Q° Q- ]
L
B
) L | .
| i
I AXIAL - RADIAL DRILLING AND MILLING HEAD
F A
o>
g o
)0.5‘0
W
—
BMT
MAX SPEED MAX TORQUE INTERNAL P
COD. BMT ER D A B T F L L1 w Wi (Rpm) RATIO (Nm) COOLING Bar
124-04506 45 ER25 45 80 59 40 65 40 84 80 80 6000 11 16 NO -
124-04507 45 ER25 45 80 59 40 65 40 84 80 80 6000 11 16 YES 20
124-05515 55 ER25 55 80 59 425 638 30 104 85 85 6000 11 16 NO -
124-05516 55 ER25 55 80 59 425 638 30 104 85 85 6000 11 16 YES 20

v,
344 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES ////// GAIT




' 7, KINT=K

I AXIAL DRILLING AND MILLING HEAD INDEX/TRAUB

INDEX /TRAUB
cop. D ER o Ne F L w Wi MAX(L?nr‘)'QUE Mﬁ’égﬁsED RATIO Bar
116-54061 30  ER2S NO 90 45 64 68 28 6000 1 -
116-54062 30  ER2S YVES 90 45 64 68 28 6000 1 20
116-54063 40  ER32 NO 106 53 80 86 50 6000 1 ;
16-54064 40  ER32 YES 106 53 80 86 50 6000 1 20

vV,
/////,, GAIT DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 345




7 KINTEK BIGLIA

READY, ALWAYS.

I BIGLIA - B301/445/470/501(Y-S)/510/545/550/565/650/658/1200/446,/465/745/765-B750/1250 16 ST.

FACE AND O.D. FACE AND O.D. FACE AND O.D.
CUTTING HOLDER CUTTING HOLDER CUTTING HOLDER

128-41524 - 20x20 mm 128-41525-IC - 25x25 mm 128-41527-IC - 20x20 mm
128-41525 - 25x25 mm |IC-TOOLTEK IC-TOOLTEK
FACE AND O.D.
CUTTING HOLDER
QUALIFIED
ToOL
128-11566 - 26 mm
128-41527 - 20x20 mm 128-11567 - 32 mm
FACE AND O.D.
CUTTING HOLDER
CUT-OFF
‘ TooL
128-31515 - 20x20 mm
FAST-IN p 490
ACCESSORIES ’
I DRIVEN TOOLS p 208

TOOLHOLDER
FOR BORING
BAR

BORING BAR SLEEVE
D32 D40

©
~
o
(@

1376 <MT1> 3245 <MT2>
1377 <MT2> 1232 <MT3>

%

128-21538 D32 H=80
128-21540 D32 H=100

128-21548 D40 H=80 5316 (@8) 5322 (¢8)

5317 (®10) 5323 (®10)
5318 (@12) 5324 (912)
5319 (@16) 5325 (®@16)

5320 ($20) 5326 (©20)
COMBI TOOLHOLDER 5327 (425)
WITH INTERNAL COOLANT
FOR BORING BAR AND

INSERT DRILL

)

I
@
A

I
Q
)

)

5333 (@25) 5334 (932)

l
@\

PROTECTION CONTROL PIN
COVER b. 740

128-21539 D32 H=80
128-21541 D32 H=100 —
128-21549 D40 H=80

9607 (P8) 9615 (¥8)
9608 (@10) 9616 (®10)
9609 (912) 9617 (P12)

9611 (@16) 9619 (@16)
9613 (¢20)  9621(20)
9614 (@25) 9622 (¢25)

9623 (®32) 137-00244 137-00209

COMBI TOOLHOLDER
WITH INTERNAL —
COOLANT FOR

BORING BAR AND
INSERT DRILL

8764 (916) 8768 (©16)

8766 (©20) 8770 (20)

8767 (925) 8771 (®25)
8772 (932)

v,
346 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES ////// GAIT




V =
' 7, KINT=K
I CONNECTION

45.5

BIGLIA

EGNE
-/

3 ——

—

15H7

|t

lt—— 35 — .- 35 |

B
S

N - 72—

13 65
- El —
I RADIAL TOOLHOLDER
IC VERSION ééé
b b R
| s . |
o®| o _O|@
T | — Dlo|y | ¢
o
L ° P °P
Il |
o 1 [T [T]
INTERNAL

COD. COOLANT B1 B B2 L L1 L2 L3 L4 L5 H M
128-41524 NO 20 40 84 e 25 32 60 6 27 79 M8
128-41525 NO 25 50 98 121 30 46 80 8 32 84 M10
128-41525-1C YES 25 50 98 121 30 46 80 8 32 84 M10

SCREW COOLANT SCREW FOR
COD. CLAMPING PLATE KEY FOR KEY BALL BALL O RING
) =) = = O

128-41524 832-007030 814-203230 811-101016 833-001410 811-108024 823-101015

128-41525 832-007540 814-203230 811-101016 833-001410 811-108024 823-101015

128-41525-1C 832-007540 814-203230 811-101016 833-001410 811-108024 823-101015

7, GAIT

DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES z47




KINT=K

I RADIAL TOOLHOLDER

~
=

BIGLIA

IC VERSION ééé
i A 4

'

i
|
(AR
H | 0/© NEE=®)]
e Olo] o |8 Ole
(A
ﬂ | 0© 0©
mi @
| x 1 [T [
Fl2s |
|67 | =
T 6 5| L1
[o0]
o o
B 139
INTERNAL CLAMPING SCREW COOLANT SCREW
cor COOLANT PLATE Ly FOR KEY BALL FOR BALL e
=] 5= = =) O
128-41527 NO 832-007030 814-203230 811101016 833-001410 811108024 823-101015
128-41527-1C YES 832-007030 814-203230 811-101016 833-001410 811108024 823-101015
I AXIAL TOOLHOLDER
40
&" ! %
I
o
=]
29
(o] (o]
ml 9

N
o0}
©o0®
T ©
32
60
104
CLAMPING SCREW COOLANT SCREW
Ccob. PLATE KEY FOR KEY BALL FOR BALL ORING
= = = ey O
128-31515 832-007030 814-203230 811-101016 833-001410 811108024 823-101015

248 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES

7, GAIT




' 7, KINT=K

BIGLIA

25

H1

108
ORINGFOR O RING FOR
cob. g‘ggf;‘,ﬁ:'; A Al LI B B H M KEY F%ZSE‘I’E‘Q CI\?(())ZL?L'\IIET COOLANT INTERNAL
NOZZLE COOLANT
1

= O O

128-11566 NO 26 214 5 84 54 97 58 814203230 81-101015 833-001490  823-101058 ;

128-11567 NO 322 25 6 94 63 105 66 814203230 81-101015 833-001490  823-101058 -

O RING O RING FOR SCREW FOR CLAMPING CLAMPING

o FOR BODY COOLANTINTAKE  SHIM PLATE PLATE PLATE SERING SCREW SEREW
O O il pa=) I e He
12871566 823-10106] 823-101015 832-014448 811108037 832-014447  824-300012 8111101028 811-104013
1281567  823-10106] 823-101015 832-014448 811108037 832-014450  824-300012 8711101029 811-104013

DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 349

7, GAIT



KINT=K

READY, ALWAYS.

I TOOLHOLDER FOR BORING BAR

BIGLIA

70
T 4 3—6 )‘ ~
o
o
+I
I
- ° { H—l
[
R
. PN
3l<— =
~+ ~
L
CLAMPING SCREW FOR  COOLANT  SCREW FOR
coD. D H HI L U i KEY v oA EW ORING
= == 9 = O
12821538 32 80 TO 97 811102038 814-203230 811-101016 833-001410  811-108024 823-101015
12821540 32 100 130 97 811102038 814-203230 811101016 833-001410  &11-108024 823101015
12821548 40 80 10 106 15 811102037 814-203230 811-101016 833-001410  811-108024 823-101015
COMBI TOOLHOLDER WITH INTERNAL COOLANT
FOR BORING BAR AND INSERT DRILL
70
S so
(~
:) OO "
< —f= o
+I
I
n (o]
[I
Ui
19 N
T T h
I +—o0—o0—
L L
~ ~
coD. D H H1 L U
128-21539 2 80 10 97 6
128-21541 7 100 130 97 6
128-21549 40 80 10 97 6
CLAMPING CLAMPING
SCREW 1 SCREW 2 SCREW  COOLANT  SCREW SCREW FOR
coD (D32 MI0X20) (D32 M10X16) KEY FOR KEY BALL FORBALL  COVER COVER CRING
(D40 MI0X16) (D40 M10X12)
128-21539 811102038 811102037 814-203230 811101016  833-001410  811-108024 832-003363 811101016  823-101015
128-21541 811102038 811102037 814-203230 811101016  833-001410  811-108024 832-003363 811101016  823-101015
128-21549 811102037 811102036 814-203230 811101016  833-001410 811108024 832-003363 811101016  823-101015

350 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES

7, GAIT




' 7, KINT=K BIGLIA

I TOOLHOLDER FOR BORING BAR

8 8
- o
+1| N
o|0o
©lc
I
n
N
N
©
m
SCREW COOLANT SCREW
COD. CLAMPING SCREW KEY FOR KEY BALL FOR BALL O RING
— 5= 5 L= O
128-21542 811-102038 814-203230 811-101016 833-001410 811-108024 823-101015
A& PROTECTION covER
84
63
-~ e ——
N |
N ]
| Z,,
()]
3 O, 3 5
3 ]
|| \
AN
| P
— y
10 19
o |,

COD. O RING
137-00244 823-101064

vV,
/////,, GAIT DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES =]




7, KINTEK CMZ - MIYANO

7, READY, ALWAYS.

CMZ - TU5T/M/TM/S/MS - TB46/67 M/CM
MIYANO - ABX 51/64 THY/SYY

FACE AND O.D.
CUTTING HOLDER

KTL15/10000/06
20x20 mm

QUALIFIED TOOL FACE AND O.D.
CUTTING HOLDER

FACE AND O.D.
CUTTING HOLDER

KTL15/10000/45
20x20 mm

=l

Gr—)
V.

KTL15/10000/07 - 20x20 mm

FACE AND O.D.
CUTTING HOLDER

KTL15/10000/08
20x20 mm

I ACCESSORIES

BORING BAR SLEEVE
p. 707

COMBI TOOLHOLDER
WITH INTERNAL
COOLANT FOR
BORING BAR AND
INSERT DRILL

KTL15/10000/12
P40 mm

8768 (@16 mm)
8770 (20 mm)
8771 (®25 mm)

8772 ($32 mm)

COMBI TOOLHOLDER
WITH INTERNAL
COOLANT FOR
BORING BAR AND
INSERT DRILL

KTL15/10000/38
@40 mm

TOOLHOLDER
FOR BORING
BAR

KTL15/10000/11
@25 mm

— -

< 8759 (@12 mm)
8761 (@916 mm)
8763 (20 mm)

v,
252 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES % GAIT




' 7 KINTEK CMZ - MIYANO
I CONNECTION

20 30

16

25 H7

30

N/

o of

65

75

I RADIAL TOOLHOLDER

—e
e

50

00
c

© ©

120

90
40
40

CLAMPING COOLANT SCREW
gebk Al = PLATE BALL FOR BALL
KTL 15/10000/07 811-104030 832-002222 833-001470 811108018

v,
//////, GAIT DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 353




' 7, KINT=K CMZ - MIYANO

I RADIAL TOOLHOLDER

44
23

@ 28
<

[
M = N
e\
T %\Jl ﬁ}
45 ¢ 64
[e]l¥e) _ _
0| ¥
2 ??
120
cobp. CLAMPING SCREW CLAMPING PLATE COOLANT BALL SCREW FOR BALL
KTL 15/10000/06 811104030 832-002223 833-001470 811108018
t
~
N
A |
0
64
155
cob. CLAMPING SCREW CLAMPING PLATE COOLANT BALL SCREW FOR BALL
KTL 15/10000/45 811104030 832-002223 833-001470 811108018

v,
354 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES ////// GAIT




" 7, KINT=K CMZ - MIYANO

A& ~xiALTOOLHOLDER

40

S

@

50
5

A

(@] —
o
80
COD. CLAMPING SCREW CLAMPING PLATE COOLANT BALL SCREW FOR BALL
KTL 15/10000/08 811-104030 832-002223 833-001470 811-108018

COMBI TOOLHOLDER WITH INTERNAL COOLANT
FOR BORING BAR AND INSERT DRILL

\)\‘\
W%
d @ 0 0 5 (]
g () (R
n a2 NO) — (o
IR
e D
' © © N
<3H— [ |
o i
o -
<31 1
| © © H
80
COD. CLAMPING SCREW COVER SCREW FOR COVER COOLANT BALL SCREW FOR BALL
© ©
N 5= = B
KTL 15/10000/12 811-104030 832-003063 811-101016 833-001470 811-108018

v,
//////, GAIT DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 355




' 7, KINT=K CMZ - MIYANO

COMBI TOOLHOLDER FOR BORING BAR
AND INSERTDRILL

.
o
t

40+0.02

S il
; O ©

| s ]

CLAMPING SCREW 1 CLAMPING SCREW 2
COD. (M10X20) (M10X25) COVER SCREW FOR COVER COOLANT BALL SCREW FOR BALL
() @)
7 FE= = =
KTL 15/10000/38 811-104029 811-104030 832-003063 811-101016 833-001470 811-108018
DOUBLE TOOLHOLDER
FOR BORING BAR
44
— ff;%i\
D
@7@59@ [m KN m N
i U/
= )
] . ) 1 s . I
& 090 3
[ N|O
< S %
n
g
AL 4
N )
S\
o
[+)]
N )
|\
79
COD. CLAMPING SCREW COOLANT BALL SCREW FOR BALL
KTL 15/10000/11 811-104021 833-001470 811-108018

v,
356 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES % GAIT




7, !&D!N;I:EK DMGC MORI (vDI30)

DMG MORI (VDI30) - CTX310/410 V4/V6 - CTX320 V4/V6 - CTX420 V4/V6 (option) - CTX Alpha 300 V4
CTX Alpha 500 V4/V6 - CTX Beta 500/800/1250 V4/V6 (option) - TWIN 42/65/102 - SPRINT 65/50

RADIAL TURRET

COMBI TOOLHOLDER FAST-IN p. 490
oA & »ccessories DRIVEN TOOLS  z¢

BORING BAR AND

INSERT DRILL BORING BAR SLEEVE
p. 707
p 9600 (¢25/%8)
/(@ 9601 (¢25/®10)
( 9602 (@25/%12)
9607 (@32/®8)
9608 (P32/@10)
9609 ($32/912)
Plug:
115-53025 (@32) 823-301260
COMBI TOOLHOLDER
COMBI TOOLHOLDER
WITH INTERNAL WITH INTERNAL COOLANT
COOLANT FOR FOR BORING BAR AND
BORING BAR AND INSERT DRILL

INSERT DRILL

’ 9604 (§25/¢16)

p 9606 (©25/®20)

_ 9611 (®32/P16)
9613 (¢32/®20)
9614 (©32/®25)

115-53014 (@32 - L=100)

Plug:
115-53027 (@25) 823-301270
115-53028 (©32) 823-301260

COMBI TOOLHOLDER
WITH INTERNAL
COOLANT FOR

’ 8759 (925/%12)
/ 8761 (25/016)
) 8763 (925/%20)

8764 (P32/916)
8766 (©32/®20)

8767 (932/¢25)

Plug:
115-53030 (@32) 823-301260

vV,
//////, GAIT DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 357




' 7, KINT=K

COMBI TOOLHOLDER WITH INTERNAL COOLANT
FOR BORING BAR AND INSERT DRILL

DMG MORI (vDI30)

123

100+0.02

5

70
)

SEEGER RING FOR

O RING FOR

cob. D CLAMPING SCREW COOLANT PLUG OLARTS EO o PG
15-53025 32 811-102037 823-301260 822-10208 823-101017
COOLANT INSERT FOR SCREW FOR SCREW FOR SCREW FOR
Cob. NOZZLE STOP NUT STOP NUT STOP NUT __ STOP NUT (M6x6) STOP NUT (Mexg)  © RING VDI30
15-53025  833-001110 832-003301 832-003302 871101021 811102017 811-102018 823101017
)
% 10 _ 48
85£0.02 275 [ 275
9
| QQ) —fe
ogl | M/_/ AN
= —J=
I
© o
o o) [{IIITHT
& ¥ JACRCAEL
SEEGER RING FOR O RING FOR COOLANT
cob. D CLAMPING SCREW COOLANT PLUG COIARING FO SR
15-53027 25 811-102029 823-301270 822-10209 823-101031
15-53028 32 811-102037 823-301260 82210208 823-101017
COOLANT INSERT FOR SCREW FOR SCREW FOR SCREW FOR
e NOZZLE SIS STOP NUT STOP NUT __ STOP NUT (M6x6) STOP NUT (Mexg) _ © RING VDI30
15-53027  833-001110 832-003301 832-003302 871101021 811102017 811-102018 823-101017
15-53028  833-001110 832-003301 832-003302 811-101021 811-102017 811-102018 823-101017

258 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES

7, GAIT




7 KINTEK DMG MORI (vDi30)

COMBI TOOLHOLDER WITH INTERNAL
COOLANT FOR BORING BAR AND INSERT DRILL
)

). 10
$ 27.5 275
‘—*——
! 1
085
S (o)
 ——
o
X
O RING FOR O RING FOR
cop. D CLAMPING SCREW1  CLAMPING SCREW 2 COOLANT PLUG O RING FOR O RING FOR
15-53030 32 811102037 811104021 823-301260 822-10208 823101017
COOLANT INSERT FOR SCREW FOR SCREW FOR SCREW FOR
CoD. NOZZLE STOP NUT STOP NUT STOPNUT  STOP NUT (M6x6) STOP NUT (Mexg) O RINGVDIZO
= @ = 8 =2 O
N,
1553030  833-001110 832-003301 832-003302 811101021 811102017 811102018 823-101017

A
2
123 94%
27.5 100£0.02
?)‘
T T | B
o
< e e
‘ = o| @
io
— ~
] e

48
J:lj
o

30

ol 1 ||||||||||||H|||||||I | =]
N ||||||||||||| L f
45
CLAMPING COVER INTERNAL COOLANT
cop. o [ERINTER SCREW FOR COVER OOLAN STOP NUT
== N == = 8
A
115-53014 811102037 832-003304 811101016 833-001710 832-003301
INSERT FOR SCREW FOR SCREW FOR SCREW FOR
cob: STOP NUT STOP NUT STOP NUT (M6x6) STOP NUT (M6X8) O RING VDIZ0
115-53014 832-003302 811-101021 811102017 811102018 823101017

vV,
/////,, GAIT DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 359



' 7, KINT=K

DMG MORI (vDI40)

DMG MORI (VDI40) - cTX410 V4/V6 (option) - CTX420 V4/V6 - CTXBeta 500/800/1250 V4/V6 - TWIN42/65/102

RG2 - GMX250/300/400/500 - SPRINT65 (option)

COMBI TOOLHOLDER
WITH INTERNAL
COOLANT FOR
BORING BAR AND
INSERT DRILL

115-54130 (@25 - L=100)

TOOLHOLDER
FOR BORING
BAR

115-54133 (@25 - L=100)

COMBI TOOLHOLDER WITH
INTERNAL COOLANT
FOR BORING BAR
AND INSERT
DRILL

115-54131 (@32 - L=100)
115-54078 (@25 - L=120)
115-54079 (@32 - L=120)
COMBI TOOLHOLDER
WITH INTERNAL
COOLANT FOR
BORING BAR

115-54132 (@40 - L=100)
115-54080 (@40 - L=120)

RADIAL TURRET

BORING BAR SLEEVE

p. 707

)

360 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES

;-

4/’

/’

9600 (§25/%8)
9601 (¢25/®10)
9602 (@25/@12)

9607 (P32/98)
9608 (932/910)
9609 (932/P12)

9615 (@40/P8)
9616 (940/P10)
9617 (940/912)

9604 (¢25/®16)
9606 ($25/¥20)

9611 (932/%16)
9613 (¢32/@20)
9614 (@32/®25)

9619 (@40/®16)
9621 (¢40/920)
9622 (@40/®25)
9623 (P40/032)

8754 ($20/®8)
8755 (¢$20/®10)
8756 (920/912)

8759 (@25/%12)
8761 (®25/®16)
8763 (¥25/¢20)

8764 (¢32/¢16)
8766 (932/@20)
8767 (¢32/¢25)

8768 (940/®16)
8770 (@40/®20)
8771 (@40/®25)

8772 (940/®32)

FAST-IN p. 490
DRIVEN TOOLS p.298

COMBI TOOLHOLDER WITH
INTERNAL COOLANT FOR
BORING BAR AND INSERT DRILL

115-54147 (932)

7, GAIT




7 KINTEK DMG MORI (vDI40)

COMBI TOOLHOLDER WITH INTERNAL COOLANT
FOR BORING BAR AND INSERT DRILL

130 56
100%0.02 33.5_|_33.5

5P

5

i
ani

)

-

©
CLAMPING CLAMPING COVER INTERNAL
COoD. SCREW 1(M12x25) SCREW 2 (M10x25) COOLANT e Skl ezl e
=€ =€ 7 = =
A
115-54130 811-102045 811102039 832-003303 811101027 833-001080
cop. STOP NUT INSERT FOR STOP NUT  SCREW FOR STOP NUT  SCREW FOR STOP NUT O RING VDI40
115-54130 832-003237 832-003238 811101032 811102027 823-101036
I TOOLHOLDER FOR BORING BAR
, 120
3 100£0.02 335 335
‘ |
33 (o) )
\ [/ R
O]
T = -7
o
B
X
cop. CLAMPING SCREW 1(M12x16)  CLAMPING SCREW 2 (M10x20) COOLANT NOZZLE STOP NUT
115-54133 811102043 811102038 833-001080 832-003237
coD. INSERT FOR STOP NUT SCREW FOR STOP NUT SCREW FOR STOP NUT O RING VDI40
115-54133 832-003238 811101032 811102027 823-101036

vV,
/////,, GAIT DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 3]




KINT=K

READY, ALWAYS.

DMG MORI (vDI40)

COMBI TOOLHOLDER WITH INTERNAL COOLANT
FOR BORING BAR AND INSERT DRILL

i

a L 33.5, 33%6
& % HEN -
ol [ Wl o Do
4%\{\;@& Jex INANPAS
o
. A T
m A

CLAMPING SCREW 1

CLAMPING SCREW 2 COVER INTERNAL
cop. D L L Mo oo ERINTER SCREW FOR COVER
=€ =€ I =
A
115-54131 2 100 130 811102044 811102039 832-003303 811101027
15-54078 25 120 150 811102045 811102039 832-003236 811101027
15-54079 32 120 150 811102044 811102039 832-003236 811101027
INSERT FOR SCREW FOR SCREW FOR O RING COOLANT
e Srel by STOP NUT STOP NUT STOP NUT VDI40 NOZZLE
115-54131 832-003237 832-003238 811101032 811102027 823-101036 833-001080
115-54078 832-003237 832-003238 811101032 811102027 823-101036 833-001080
115-54079 832-003237 832-003238 811-101032 811-102027 823-101036 833-001080
¥z L1 56
$J L 335335, |
= '
% <
! @ S AAAAAAAAAAAN fﬁ
3 O 8 N7 J N
L_;? O Og J
‘
(o]
N
[¢)]
CLAMPING SCREW 1 CLAMPING SCREW 2 COVER INTERNAL
cop. L L e o) [ER INTER SCREW FOR COVER
=€ =€ A =
A
15-54132 100 130 811102044 811102045 832-003303 811101027
1554080 120 150 811102044 811102045 832-003236 811101027
INSERT FOR SCREW FOR SCREW FOR O RING COOLANT
cob: SIOEINUE STOP NUT STOP NUT STOP NUT VDI40 NOZZLE
115-54132 832-003237 832-003238 811101032 811102027 823101036 833-001080
115-54080 832-003237 832-003238 811-101032 811102027 823-101036 833-001080

362 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES

7, GAIT




' 7, KINT=K

DMG MORI (vDI40)

COMBI TOOLHOLDER WITH INTERNAL COOLANT

FOR BORING BAR AND INSERT DRILL

o 150
J:)& 120%0.02 s
‘s 70+0.02 —6 -
“§ ° R
. e ——
he dey it Nas
#}\ 5| \@ E_ N
|| —
/| o @ ) v
o e ,I||||||||”|||||||||||||||||
LU0 ||||||||||||ﬂ
©
CLAMPING CLAMPING COVER 1 INTERNAL COVER 2 INTERNAL
COD. SCREW 1 (M12x25) SCREW 2 (M10x25) COOLANT COOLANT SCREW FOR COVER
© © © [©)
A i~ =3
115-54147 811102044 811102039 832-003318 832-003319 811-101017
INSERT FOR SCREW FOR SCREW FOR ORING COOLANT
CoD. STOP NUT STOP NUT STOP NUT STOP NUT VDI40 NOZZLE
115-54147 832-003237 832-003238 811-101032 811102027 823-101036 833-001080

7, GAIT

DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 3263




7/ KINTEK

7, READY, ALWAYS.

DMG MORI (BMT40)

DMG MORI (BMT40) - Nz 1500/2000/3100 - NZ/NTZ 1000/2000/3000/3100/3150/3200 - NZ/NLX 2000/2500
(16 station turrent) - NZ/NLX 1500/2000/2500 (20 station turrent) - DURATURN 2050/2550 MC - LTX310ECO-BMT

FACE AND O.D.
CUTTING HOLDER

FACE AND O.D.
CUTTING HOLDER

CONTROL PIN
p. 740
KMS-T00224 (H70) - 20X20 mm QUALIFIED TOOL KMS-T00228 (H70) - 20x20 mm
<>
g
FACE AND O.D. FACE AND O.D.
CUTTING HOLDER CUTTING HOLDER
137-00193

KMS-T03017 - 20x20 mm KMS-T00226 (H95) - 20x20 mm

FAST-IN © 490
DRIVEN TOOLS ;. 298

A& ~ccessories

COMBI TOOLHOLDER BORING BAR SLEEVE
WITH INTERNAL 790

COOLANT FOR p.

BORING BAR AND

Po

D32 D40

8946 (@25 mm) 5906 (¥32 mm)
8945 (20 mm) 5905 (¢25 mm)

8944 (®16 mm) 5904 (20 mm)
8943 (®12mm) 5903 (316 mm)
8942 (10 mm) 5902 (@12 mm)
KMS-T13132 (D32) 8941 (@8 mm) 238:)((%]3 nTnT))

137-00286 (D40)

TOOLHOLDER FOR
BORING BA

PROTECTION COVER

137-00245

KMS-T10117 (2xD25)

364 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES

7, GAIT



' 7, KINT=K

A& connecTion

DMG MORI (BMT40)

35 35

39

(N
L/

19
—

31

39

-
D
N7
NI

36

65 65

I RADIAL TOOLHOLDER

64

Lo O o
100 9|

Ay
20 ~
| O | ,\J
N o)
[(e]
2 (Do o]
115
COD. CLAMPING PLATE CLAMPING SCREW SCREW FOR DISASSEMBLE COOLANT BALL
KMS-TO0224 832-020460 811-102029 811-104016 833-001470
COD SCREW FOR BALL CENTRAL PIN SCREW FOR PIN O RING FOR PIN (36x2) O RING FOR PIN (28X2)
KMS-TO0224 811-108018 832-020451 811-101029 823-101016 823-101018

7, GAIT

DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 35




7, KINTEK DMGC MORI (BMT40)

I RADIAL TOOLHOLDER

[ [ [ i
o L] Ry o
o ©
x| o o | | V0]
ol
o 9 el
1 1
65 Eﬁ
20 @ %
ﬁ 8 | DO
[1 20,
T 0¥ ¥ @
130
CLAMPING SCREW FOR COOLANT
COD. H L L1 M CLAMPING PLATE SCREW DISASSEMBLE BALL
KMS-T00226 95 32 64 M8 832-020400 - 811-102023 833-001470
KMS-T00228 70 36 64 IS 832-020460 811-102029 811-104016 833-001470
O RING FOR PIN O RING FOR PIN
COD. SCREW FOR BALL CENTRAL PIN SCREW FOR PIN (36x2) (28X2)
KMS-T00226 811-108018 832-020121 811-101029 823-101016 823-101018
KMS-T00228 811-108018 832-020451 811-101029 823-101016 823-101018
A& ~xALTOOLHOLDER ‘0
= i
35 — M8
(o]
D ?
. > 65 é é
| -+
% o | 000
\D\ 32
64
15
COD. CLAMPING PLATE SCREW FOR DISASSEMBLE COOLANT BALL SCREW FOR BALL
KMS-TO3017 832-020400 811-102023 833-001470 811-108018
COD. CENTRAL PIN SCREW FOR PIN O RING FOR PIN (36x2) O RING FOR PIN (28X2)
[ S=c O O
KMS-TO3017 832-020121 811-101029 823-101016 823-101018

v,
366 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES % GAIT




7, KINTEK DMGC MORI (BMT40)

COMBI TOOLHOLDER WITH INTERNAL COOLANT
FOR BORING BAR AND INSERT DRILL

W

hea

H1

[
=
100+0.02

= il
J 9 M
R =0
T e 1o

cob o M M2 U CLAMPING SCREW 1 CLAMPING SCREW 2 SCREW FOR  COOLANT  SCREW FOR
. (D32 M8X20) - (D40 M10X20) (M10X10) DISASSEMBLE BALL BALL
KMS-TI3132 32 125 45 36 811102030 811102035 811-102023 833-001470  811-108018
137-00286 40 129 33 26 811102038 811102035 811102023 833-001470  811-108018
cop. CENTRAL PIN SCREWFORPIN  ORINGFORPIN  ORINGFORPIN COVER SCREW FOR COVER
(36x2) (28X2)
© Q@
H= O O N =
KMS-T13132 832-020121 811101029 823-101016 823-101018 832-003378 811-101016
137-00286 832-020121 811101029 823-101016 823-101018 832-003404 811-101016

I TOOLHOLDER FOR BORING BAR

78 43 <p7.">“""
— Tan>
7 -~ — K J L
oo e
gy il ]

78

126

cob. CLAMPING SCREW 1(M8X25) CLAMPING SCREW 2 (M8X20) CLAMPING SCREW 3 (M8X10) SCREW FOR DISASSEMBLE
KMS-TI0T17 811-102031 811-102030 811-102027 811102023
cob. COOLANTBALL SCREW FORBALL  CENTRAL PIN SCREWIFORIPIN® 2 RINGFORIBINESSORINGIFORIEIN
(36x2) (28X2)
- = L) =] O O
KMS-TI0T17 833-001470 811108018 832-020121 811101029 823-101016 823-101018

vV,
/////,, GAIT DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 267




7, KINTEK DMGC MORI (BMT40)

I PROTECTION COVER

13
%4—»

[
$39.85 .
4R

70

110

T
X
N

N
\

COD. O RING

137-00245 823-101016

v,
368 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES ////// GAIT




7/ KINTEK

7, READY, ALWAYS.

DMG MORIBMTe0) - COODWAY

DMG MORI (BMT60) - NLX1500 (12 stazioni) - NLX2000 - NLX2500 - NLX3000 - NLX4000 - NL2000 (S)MC
NL2500 (S)MC - NL3000MC (12 stazioni) - NT3250 - NT4200 - NT4250 - NT4300 - NT5400 - NZL2500 - NT4000
NT5000 NZL 2000/2500 - NZX2500 (station turret) - NTX 2000/2500/3000 - 2ND GEN. 10 ST. - (TX2500 BMT60)

GOODWAY - G4/G5 200 - 2600/280 - 3000/3300 - 3600 - GS2000 SERIE - GS3000 SERIE - GS4000 SERIE

DIRECT MONTING
ON TURRET

832-018722 - 25 mm

FACE AND
O.D. CUTTING
HOLDER

KMS-T00186
25x25 mm

FACE AND O.D.
CUTTING HOLDER

KMS-T00184
25x25 mm

FACE AND O.D.
CUTTING HOLDER

KMS-T03005
25x25 mm

FACE AND O.D.
CUTTING HOLDER

KMS-T00197
25x25 mm

CUT-OFF

137-00092 (32 mm)

7, GAIT

TOOLHOLDER FOR
BORING BAR

KMS-T10098 (#50 mm)

COMBI TOOLHOLDER
FOR BORING BAR
AND INSERT DRILL

Q .
KMS-T13128 (#40 mm)

(INTERNAL COOLANT)

TOOLHOLDER FOR
BORING BAR

125

KMS-T10096 (32 mm)

FAST-IN p 490
DRIVEN TOOLSp.298

POLYGONAL
TOOL HOLDER

137-00241 (C40)

5
Q\¢
s

I ACCESSORIES

BORING BAR SLEEVE

p. 707 5906 (@32 mm)
5905 (@25 mm)
5904 (20 mm)
5903 (@16 mm)
5902 (@12 mm)
5901 (@10 mm)

5900 (®8 mm)

8969 (MT3)
8959 (MT2)

8768 (¢16 mm)
8770 (20 mm)
8771 (®25 mm)
8772 ($32 mm)

8946 (@25 mm)
8945 (20 mm)
8944 (016 mm)
8943 (@12 mm)
8942 (@10 mm)
8941 (8 mm)

8764 (916 mm)
8766 (¥20 mm)
8767 (925 mm)

<

CONTROL
PIN

p. 740

PROTECTION
COVER

="

137-00246

POLYGONAL
TOOL HOLDER

137-00185 (C50)

DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 369




. READY, ALWAYS.

A& connecTion

7, KINTEK DMG MORIBMTe0) - GOODWAY

47 47

-] 20 |

< L — ——
n
N
N
A
e R
=y
& ) y !
(o)
N
N
5 O
n
D D
v \J \/
- 54 gl
e 65 ol 65
i 85
!4—»
o
O °©
R lo 2 01028
o o)
@ 11 I—w
6‘5%% =
3l
130
SCREW FOR
cop. B B1 M CLAMPING PLATE CLAMPING SCREW e cdt oo COOLANT BALL  SCREW FOR BALL
KMS-TOO186 50 25 M8 832-018720 811-104021 811-102102 833-001470 811-108018
O RING FOR PIN O RING FOR PIN O RING FOR COOLANT
cob. CENTRAL PIN SCREW FOR PIN (56X3) (44.5X3) (9.25X1.78)
KMS-TOO186 832-018741 811-101041 823-101077 823-101069 823-101076

v,
270 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES % GAIT




READY, ALWAYS.

7, KINTEK DMG MORIBMTe0) - GOODWAY

I RADIAL TOOLHOLDER

+—+ 1

@ o olo
el lo o olo| g

Pl 7Y

od 1 9 ?’_W
90.5 — —

B1

Fes”

SCREW FOR COOLANT
COD. B B1 M CLAMPING PLATE CLAMPING SCREW DISASSEMBLE BALL SCREW FOR BALL

S [i=

KMS-TO0184 50 25 M8 832-018720 811-104021 811-102102 833-001470 811-108018
O RING FOR PIN O RING FOR COOLANT
COD. CENTRAL PIN SCREW FOR PIN O RING FOR PIN (54X3) (44.5X3) (9.25X1.78)
] = O O O
KMS-TOO184 832-018741 811-101041 823-101077 823-101069 823-101076

A& ~xALTOOLHOLDER

O O O s B

@
@

[
vl
70

q_{_
o [ 000
% @00
< .40 |
| Oe ©
70
135
SCREW FOR
cob. B Bl M CLAMPING PLATE CLAMPING SCREW  jicrcis o COOLANTBALL  SCREW FOR BALL
KMS-TO3005 50 25 M8 832-018720 811-104030 811-102102 833-001470 811-108018
O RING FOR PIN O RING FOR PIN O RING FOR COOLANT
CoD. CENTRAL PIN SCREW FOR PIN (54X3) (44.5X3) (9.25X1.78)
KMS-T03005 832-018741 811-101041 823-101077 823-101069 823-101076

vV,
/////,, GAIT DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 371




KINT=K

READY, ALWAYS.

DMG MORIBMTe0) - GOODWAY

A& cut-oFF HOLDER

o7 T+
3 i ’
s | |
(@)
GSé% hj%
©| %O
eiE :
é}/@ 130 {}

cob. CLAMPING SCREW SCREW FOR DISASSEMBLE COOLANT BALL SCREW FOR BALL
KMS-TOO197 811104021 811102032 833-001470 811108018
O RING FOR PIN O RING FOR PIN O RING FOR COOLANT
coD. CENTRAL PIN SCREW FOR PIN s AN i
KMS-TOO197 832-018741 811101041 823101077 823-101069 823-101076
26
o n
:
[Go)
[ee]
=]
OU:U[ nl nl |
1 ‘
N
SCREW FOR COOLANT O RING COOLANT ORING
cob. DISASSEMBLE NOZZLE BALL FOR BODY SHIM PLATE
== oy O O
137-00092 811102028 833-001490 823-101058 823-101061 832-014449
CLAMPING CLAMPING
cob. SCREW FOR PLATE e SPRING P, SCREW
A= 1| —_— == =8
137-00092 811108037 832-014450 824-300012 811-101028 811104013
O RING FOR PIN O RING FOR PIN O RING FOR COOLANT
cop. CENTRAL PIN SCREW FOR PIN e Do o5
137-00092 832-018741 811-101041 823-101070 823-101069 823-101015

z72 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES

7, GAIT




7 KINTEK DMG MORI(BMT60) - GOODWAY

I TOOLHOLDER FOR BORING BAR 95

120

70

80+0.02

108

135

SCREW FOR
COD. D CLAMPING SCREW DISASSEMBLE COOLANT BALL SCREW FOR BALL

= == S [i=

KMS-T10097 40 811-104028 811-102102 833-001470 811-108018

KMS-T10098 50 811-104028 811-102102 833-001470 811-108018
O RING FOR PIN O RING FOR PIN O RING FOR COOLANT

COD. CENTRAL PIN SCREW FOR PIN (54X3) (44.5X3) (9.25X1.78)

KMS-T10097 832-018741 811-101041 823-101077 823-101069 823-101076

KMS-T10098 832-018741 811-101041 823-101077 823-101069 823-101076

COMBI TOOLHOLDER WITH INTERNAL COOLANT
FOR BORING BAR AND INSERT DRILL

%
80 -\—0-07—‘\
—4 +09
?35 ¢k0
2 ~
= S @ | &
o
N |3
541. ®
1 T 1
70 —— —
gj %ﬂ
- 1
[oe]
2 © 0
- @ ]
135
SCREW FOR COVER
cob. CLAMPING SCREW DronEW FOR o SCREW FOR COVER CENTRAL PIN
=4 == H=
CL—— ]
KMS-T13128 811104028 811102032 832-003229 811-101028 832-018741
O RING FOR PIN O RING FOR PIN O RING FOR COOLANT
CoD. SCREWFORPIN (54X3) (44.5X3) (9.25X1.78)
KMS-T13128 811-101041 823101077 823-101069 823-101076

vV,
/////,, GAIT DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 373




READY, ALWAYS.

7, KINTEK DMG MORIBMTe0) - GOODWAY

I DOUBLE TOOLHOLDER FOR BORING BAR . O
32

62

<

8 o o o 1 .
© N
o |9
= P
BE:
ﬂ gl
I 1
65 = =
[oe]
3 [— ]
- =T
135
SCREW FOR COOLANT
cop. CLAMPING SCREW SrCREN FOR oA SCREW FOR BALL CENTRAL PIN
KMS-T10096 811104021 811102102 833-001470 811108018 832-018741
O RING FOR PIN O RING FOR PIN O RING FOR COOLANT
Ccob. SCREW FOR PIN (54X3) (44.5X3) (9.25X1.78)
KMS-T10096 811-101041 823-101077 823-101069 823-101076

I POLYGONAL TOOLHOLDER

B

)
%

=
|

&l
©,

i ‘
il
34 ‘
90+0.02
=
1
o

108
f
&

(7

Aa\

SCREW FOR

cob. POLYGONAL D D H U Bl CLAMPING UNIT  SCREW FOR CENTRAL PIN
137-00185 50 50 122 73 85 82 CXC50-10 811-102032 832-018741
O RING FOR PIN O RING FOR PIN COOLANT PLUG
Cob. SCREW FOR PIN (54X3) (44.5X3) (9.25X1.78)
137-00185 811101041 823-101077 823-101069 823-101076

v,
274 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES % GAIT




. READY, ALWAYS.

7, KINTEK DMG MORIBMTe0) - GOODWAY

I POLYGONAL TOOLHOLDER

T | . |
T ‘ ()
iabes
= =
L2 o
ZGECIN
o4

SCREW FOR
COD. POLYGONAL D H H1 L L1 L2 L3 B1 CLAMPING UNIT DISASSEMBLE

137-00241 C40 40 80 42 130 41 65 82 67 CXC40-10 811-102032
O RING FOR PIN O RING FOR PIN O RING FOR COOLANT
COD. CENTRAL PIN SCREW FOR PIN (54X3) (44.5X3) (9.25X1.78)
137-00241 832-018741 811-101041 823-101077 823-101069 823-101076

A& PROTECTION COVER

108
84
] |
D :
\A\%
mn
[o0]
o S, 3| 2
(S8
/R
A
] |

10 14
et

COD. O RING
137-00246 823-101077

vV,
/////,, GAIT DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 375




7/ KINTEK

7, READY, ALWAYS.

DMG MORI - CMZ - GOODWAY

DMG MORI - cL 200/203 - SL 20/25 - SL 203/204/250/253 - SL 254 (MC, SMC)/2500Y - SL 203MC - SL 253MC

ZL 200MC - ZL250SMC - SL204SMC - SL 300MC

CMZ - TBI1520 - TL 20/25 - TC 15/20/25/30/35 - TA 15M/Y/MS/MY/YS - TA 20M/Y/MS/MY/YS - TA25M/Y/MS/MY/YS
TA 30M/Y/MS/MY/YS - TD 15/20/25/30/35/45 - TD 55M/Y/MS/MY/YS

GOODWAY - Gs 200/260/280 - GA 2000/2600/2800 - GA 3000/3300/3600

DIRECT MONTING
ON TURRET

> —

NBR

Q)

B27037
Q
B27036
QUALIFIED

FACE AND O.D. TOOL
CUTTING HOLDER <>
KMS-T00076 FQI’
25x25 mm

FACE AND O.D. )
CUTTING HOLDER >
i

KMS-T00174
25x25 mm

TOOLHOLDER FOR
BORING BAR

KMS-T10036 (@40 mm)
KMS-T10044 ($50 mm)

TOOLHOLDER FOR
BORING BAR

KMS-T10038 (#40 mm)
128-22519 (50 mm)

COMBI TOOLHOLDER
WITH INTERNAL
COOLANT FOR
BORING BAR AND
INSERT DRILL

KMS-T13064
@40 mm
TOOLHOLDER FOR

BORING BAR

KMS-T10086
@32 mm

TOOLHOLDER FOR
BORING BAR

KMS-T10208
@32 mm

776 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES

ACCESSORIES

FACE AND O.D.

CUTTING HOLDER De

(=

(@&} Sg >

IE> o .
[

KMS-T00158 II

25x25 mm

POLYGONAL
TOOL HOLDER

128-12527 (C40)
128-12513 (C50)

FACE AND O.D.

CUTTING HOL
5
S &
/
&
KMS-T00082
25x25 mm

CUT-OFF
HOLDER

CUT-OFF TOOL

KMS-T0O0156
25x25 mm

FAST-IN p 420
DRIVEN TOOLS »r.298

D40

8960 <MT3>
8959 <MT2>

D40

5906 (@32 mm)
5905 (@25 mm)
5904 (@20 mm)
5903 (@16 mm)
5902 (@12 mm)
5901 (@10 mm)

5900 (@8 mm)

D40

8768 (916 mm)
8770 (20 mm)
8771 (®25 mm)
8772 (940 mm)

D50

8773 (@25 mm)
8774 (932 mm)
8775 (@40 mm)

POLYGONAL
TOOL HOLDER

8946 (@25 mm)
8945 (20 mm)
8944 (16 mm)
8943 (¥12 mm)
8942 (10 mm)
8941 (®8 mm)

8764 (16 mm)
8766 (20 mm)

128-12526 (C40
8767 (©25 mm) { )

128-12509 (C50)

7, GAIT




' 7, KINT=K

A& connecTion

DMG MORI - CMZ - GOODWAY

. N
/ \
\
I \
\ I
\
\ 7
N ,
'

673

@ dp |

25 H7
76
106

-
N

AP

20 | 3
I RADIAL TOOLHOLDER
t— 4
o |
o
N
A
. & 2 O
n AN @3/
(WA
70 25 20
vio
1 ) ) |
=" 25
155
CLAMPING SCREW1  CLAMPING SCREW 2 COOLANT SCREW FOR
CoD. (M10X25) (M10X16) CLAMPING PLATE NOZZLE SPACER SPACER
=4 =8 [ ° ] 3 B
4 4
KMS-TO0076 811-104030 811-104028 832-002117 833-001090 832-002116 811-101046

7, GAIT

DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 377




. READY, ALWAYS.

7, KINTEK DMG MORI - CMZ - GOODWAY

I RADIAL TOOLHOLDER

H 000
000
©

25 @ 25
()
o3 - $ - 3
140
SCREW FOR SPRING FOR COOLANT
cob. CLAMPING SCREW CLAMPING PLATE . 2o O o LAV PING PLATE OraLE PIN
KMS-TOO158 811-104030 832-002095 811-302004 824-101010 833-001110 815-220008

. 50 A A

[ l | |
‘

o
(o] (3]
n
ik -
Y Y
Llls
30 ®
-E e
920
cop. CLAMPING SCREW CLAMPING PLATE COOLANT NOZZLE

L ° =

811-102040 832-002095 833-001080

7, GAIT

z78 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES




READY, ALWAYS.

A& ~xiALTOOLHOLDER

7, KINTEK DMG MORI - CMZ - GOODWAY

50

25

M10

o

©
4

M

106
7>
A\

30O
H®o

o O ©)

160

CLAMPING PLATE COOLNT NOZZLE

e =

832-007500 833-001080

COD.

KMS-TO0082

A& cut-oFF HoLDER
31

l &
o o
. |
8o 8
° 1
n 25
N
(e
S
@)
85
COD. CLAMPING SCREW
KMS-TOO156 811-104023
vV,
% GAIT DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 379




'%//KINTEK DMG MORI - CMZ - GOODWAY

I TOOLHOLDER FOR BORING BAR

[ >
lle o o
o
o
© S
3
F 5
<
©
3 ]
TO ©
90
COD. D H CLAMPING SCREW COOLANT NOZZLE
KMS-T10036 40 69 811-102039 833-001110
KMS-T10044 50 74 811-102038 833-001110

%
M
°

—
'

40+0.02

80
|
106

COD. D H CLAMPING SCREW CLAMPING SCREW COOLANT NOZZLE
KMS-T10038 40 73 811-104030 833-001090
128-22519 50 76 811-102043 833-001090

v,
380 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES ////// GAIT




. READY, ALWAYS.

7, KINTEK DMG MORI - CMZ - GOODWAY

COMBI TOOLHOLDER WITH INTERNAL COOLANT
FOR BORING BAR AND INSERT DRILL

S o

.o 0 o

40+0.02

?
+

90
CLAMPING CLAMPING
COD. SCREW 1 SCREW 2 COOLANT NOZZLE COVER SCREW FOR COVER
(M10X25) (M10X14)
© ©
=8 =8 = 7 =
KMS-T13064 811-102039 811-102060 833-001110 832-003063 811-101016

I TOOLHOLDER FOR BORING BAR

N
©o
[2)]
N

109
85+0.02 v

A
I
40%0.02

@K\KX
b
‘é

’.é
|

O D |
g ]
O O
90
COD. CLAMPING SCREW COOLANT NOZZLE PIN
== — —
KMS-T10086 811-104021 833-001110 815-210170

vV,
/////,, GAIT DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 38




KINT=K

READY, ALWAYS.

I TOOLHOLDER FOR BORING BAR

DMG MORI - CMZ - GOODWAY

79.5

109

v
19
85£0.02

27

40+0.02
6
%
T

34

so
o
o
N
N
(o)}
o
i

106

il sk

COD. CLAMPING SCREW COOLANT NOZZLE
KMS-T10208 811-104021 833-001110

I POLYGONAL TOOLHOLDER

| :
© (o) 0 ‘
F e
/L1
" 2
o|lo -
= &/
91
COD. POLYGONAL D H L1 CLAMPING UNIT
128-12526 C40 40 69 12 CXC40-10
128-12509 C50 50 77 14 CXC50-10

382 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES

7, GAIT




. READY, ALWAYS.

7, KINTEK DMG MORI - CMZ - GOODWAY

I POLYGONAL TOOLHOLDER

D
o ? ‘
2]
”
: o| @8 ¢
76
[Ce]
o
COD. POLYGCONAL D H1 L L1 L2 CLAMPING UNIT
128-12527 C40 40 53 123 14 38 CXC40-10
128-12513 C50 50 65 139 22 54 CXC50-10

vV,
/////,, GAIT DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES g3




7/ KINTEK

7, READY, ALWAYS.

DMG MORI - CMZ

DMG MORI - sL150 - SL153 - ZL150 - CL150 - SL154 - SLI53MC - ZL150MC - SL154MC

CMZ-Tu15

DIRECT MONTING
ON TURRET

FACE AND
0.D. CUTTING
HOLDER
(ONLY FOR
CL150)

KMS-T00078
20x20 mm

FACE AND
0.D. CUTTING
HOLDER

KMS-T0O0146
20x20 mm

TOOLHOLDER
FOR BORING
BAR

KMS-T10046
@32 mm

TOOLHOLDER
FOR BORING
BAR

KMS-T10052
®32 mm

COMBI
TOOLHOLDER WITH
INTERNAL COOLANT
FOR BORING BAR
AND INSERT DRILL

KMS-T13066
@32 mm

TOOLHOLDER
FOR BORING
BAR

KMS-T10082
@25 mm

384 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES

QUALIFIED TOOL

FACE AND O.D. )
<> CUTTING HOLDER OO
O
> 70
T 0
0
Ngl KMS-T00108 0
FQI’ 20x20 mm

| q’%ﬁ

KMS-T00080
20x20 mm

& ~ccessories

BORING BAR SLEEVE
p. 707

8946 (©25 mm)
8945 (20 mm)

N 8944 (@16 mm)
8943 (@12 mm)
8942 (10 mm)

8941 (8 mm)

=
) 8764 (916 mm)

8766 (20 mm)
8767 (25 mm)

165-62545 (@12 mm)
165-62547 (@16 mm)
165-62549 (20 mm)

7, GAIT




'%//KINTEK DMG MORI - CMZ
I CONNECTION

My
N,

64
90

N

) !
N
) !
!
- - 30 —
_ 65 -
I RADIAL TOOLHOLDER
2 0@
Slels (s
N @@
40

COD. CLAMPING PLATE COOLANT NOZZLE
KMS-TO0078 832-007200 833-001110

vV,
/////,, GAIT DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES g5




' 7, KINT=K DMG MORI - CMZ

I RADIAL TOOLHOLDER

45

o D ©f
O o ©

35
27.2

2/

D
U

® 40 M 6
o

z.
90
40

1 —1O

O @

15

COD. CLAMPING PLATE COOLANT NOZZLE
KMS-TOO146 832-007200 833-001110

I RADIAL TOOLHOLDER

000
o0
©

-
OO o

%O 6 L2
0> \ o)e

0 0 .20, @ 20
[elNe] _ _ o
o ¥ N
120
SPRING FOR SCREW FOR
cop. CLAMPING SCREW  CLAMPING PLATE CLANING FOR LA FORTE  COOLANT NOZZLE
KMS-TO0108 811102031 832-002096 824-101010 811-302004 833-001110

v,
386 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES % GAIT




' 7, KINT=K DMG MORI - CMZ

A& ~xiALTOOLHOLDER

A

I ® o ©
| O ©
50
78
- 79 |
COD. CLAMPING PLATE COOLANT NOZZLE
KMS-TOO080 832-007200 833-001110
I TOOLHOLDER FOR BORING BAR
[} o> o

g

35+0.02

JRERE
o —
o
100
COD. CLAMPING PLATE COOLANT NOZZLE
KMS-T10046 811-102031 833-001110

vV,
/////,, GAIT DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 357




' 7, KINT=K DMG MORI - CMZ

I TOOLHOLDER FOR BORING BAR

o
.
°

35+0.02

70
90

54

139
cop. CLAMPING SCREW COOLANT NOZZLE
KMS-T10052 811102030 833-001080
COMBI TOOLHOLDER WITH INTERNAL
COOLANT FOR BORING BAR AND INSERT DRILL
e R )

o o o

60

t
|

< ]
| © O
CLAMPING SCREW1 CLAMPING SCREW 2
COD. (M8X25) (M10X14) COOLANT NOZZLE COVER SCREW FOR COVER
KMS-T13066 811-102031 811-102060 833-001110 832-003062 811-101016

v,
388 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES % GAIT




' 7, KINT=K DMG MORI - CMZ

I TOOLHOLDER FOR BORING BAR

000
000
©

© O

20

40

00

© O

120

CLAMPING SCREW COOLANT NOZZLE

=4 =

833-001110

COD.

KMS-T10082 811-104021

vV,
/////,, GAIT DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 389



7/ KINTEK

7, READY, ALWAYS.

DMG MORI - GOODWAY

DMG MORI - cL 200/203 - SL 20/25 - SL 200/203/204/250/253/254 (MC, SMD)/2500Y - ZL/DL 200/250 (MC)
DURATURN 2030 - DURATURN 2050 - DURATURN 2550

GOODWAY - Gs 200/260/280 - GA 2000/2600/2800,/3000/3300/3600

DIRECT MONTING
ON TURRET

(75
|
8

B27008
B27007

FACE AND O.D.
CUTTING HOLDER
(also for machine
CLB2000B-MT2000
ZT2500-
DURATURN2550)

KMS-T00074
25x25 mm

FACE AND O.D.
CUTTING HOLDER

KMS-T00174
25x25 mm

TOOLHOLDER
FOR BORING
BAR

KMS-T10036 - 40 mm
KMS-T10044 - @50 mm

TOOLHOLDER
FOR BORING
BAR

KMS-T13064
@40 mm

COMBI
TOOLHOLDER
WITH INTERNAL
COOLANT FOR
BORING BAR AND
INSERT DRILL

KMS-T10086
@32 mm

TOOLHOLDER
FOR BORING
BAR

KMS-T10208
@32 mm

QUALIFIED TOOL

<>

R

CUT-OFF HOLDER

(also for machine
CLB2000B-MT2000
ZT2500-DURATURN2550)

KMS-T00156 - 25x25 mm

A& ~ccessories

BORING BAR SLEEVE

p. 707 D40
5906 (@32 mm)

5905 (®25 mm)

S 5904 (20 mm)

N 5903 (@16 mm)
Q 5902 (@12 mm)
5901 (@10 mm)

5900 (8 mm)

8960 (MT3)
8959 (MT2)

8768 (@16 mm)
8770 (20 mm)
8771 (®25 mm)
8772 ($32 mm)

8946 (@®25 mm)
8945 (20 mm)
8944 (916 mm)
8943 (012 mm)
8942 (@10 mm)
8941 (8 mm)

8764 (916 mm)
8766 (20 mm)
8767 ($25 mm)

290 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES

FACE AND O.D.
CUTTING HOLDER

KMS-T00158
25x25 mm

FACE AND O.D.

CUTTING HOLDER (also

for machine -
CLB2000B-MT2000

ZT2500- O

DURATURN2550) 4!‘

KMS-T00068
25x25 mm

CUT-OFF TOOL

D50

8773 (25 mm)
8774 (32 mm)
8775 (@40 mm)

7, GAIT




. READY, ALWAYS.

A& connecTion

7, KINTEK DMG MORI - GOODWAY

| 25H7
76
106

4R
L/
)
L/

20 35

A
!
i
!

72

85

I RADIAL TOOLHOLDER

A 4
|
o
N
o] o
o M g? gi 2
1o leg
25 N
45 22
O © )
£ @
130
cob CLAMPING SCREW CLAMPING SCREW  CLAMPING COOLANT SPACER SCREW FOR
- 1(M10X25) 2 (M10X16) PLATE NOZZLE SPACER
KMS-TO0074 811-104030 811-104028 832-002117 833-001110 832-002132 811-101041

vV,
/////,, GAIT DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 39




. READY, ALWAYS.

7, KINTEK DMG MORI - GOODWAY

I RADIAL TOOLHOLDER

-
OO o

@H@@@
000
(@)

O "p T

-
-

106

Q
1)
50
o0
50 .

@
@)

140
SCREW FOR SPRING FOR COOLANT
COD. CLAMPING SCREW CLAMPING PLATE CLAMPING PLATE CLAMPING PLATE NOZZLE PIN
= [ o] [ —] TR = [ —
KMS-TOO158 811-104030 832-002095 811-302004 824-101010 833-001110 815-220008
50 4x 4x
| [ [
o
© o
m
L]
LS
0| ©
83 ® |
90
COD. CLAMPING SCREW CLAMPING PLATE COOLANT NOZZLE
KMS-TOO174 811-102040 832-002095 833-001080

v,
292 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES ////// GAIT




' 7, KINT=K DMG MORI - GOODWAY

A& ~xiALTOOLHOLDER

50
0 M10
o |
2
© @
o]
}: 5
8
e o ©
A&/ 74
66
88
90
COD. CLAMPING PLATE COOLANT NOZZLE
KMS-TO0068 832-007500 833-001110
31
o B
[o0]
R o 3
o 0 1
n 25
N
(e
8 ) i
@)
85
COD. CLAMPING SCREW
KMS-TOO156

811-104023

7, GAIT

DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 393




. READY, ALWAYS.

7, KINTEK DMG MORI - GOODWAY

I TOOLHOLDER FOR BORING BAR

> -
m/o
Jlo o o ()
=
o
© S w
: |
F 5
[(]
o -
90
COD. D H CLAMPING SCREW COOLANT NOZZLE
KMS-T10036 40 69 811-102039 833-001110
KMS-T10044 50 74 811-102038 833-001110

COMBI TOOLHOLDER WITH INTERNAL COOLANT
FOR BORING BAR AND INSERT DRILL

S )

Jlo o o

6
40+0.02

X
+

90
CLAMPING
CLAMPING
SCREW 1 COOLANT SCREW FOR
CoD. D H (D4OM10X25) ?ﬁfg)‘(’;’ 4? NOZZLE COVER COVER
(D50M10X20)

= E=a

KMS-T13064 40 69 811-102039 811-102060 833-001110 832-003063 811-101016

v,
294 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES % GAIT




READY, ALWAYS.

7, KINTEK DMG MORI - GOODWAY

I TOOLHOLDER FOR BORING BAR

79 62
o [o-lo] (Y]
. _}BN Kj(b?’;‘\x’
o o 2
+ y N
i N R i
ols
S ]
90
COD. CLAMPING SCREW COOLANT NOZZLE PIN
=4 = —
KMS-T10086 811-104021 833-001110 815-210170
79.5 7627
rary ()
—}e Kj(p‘bl\'ﬂ
3 8 @
- o
T e *
5 S /

[T
W
Ul
%ﬁ
o
T
Ny
N
(2]
5
S

:

106

CRe

120
COD. CLAMPING SCREW COOLANT NOZZLE
KMS-T10208 811-104021 833-001110

vV,
/////,, GAIT DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 305




' 7, KINT=K

I OKUMA (VDI30) - LTIOM - LT200M - LB10

AXIAL
TOOLHOLDER

112-330080
20x20 mm

COMBI TOOLHOLDER
WITH INTERNAL
COOLANT FOR
BORING BAR AND
INSERT DRILL

115-230460 - @32 mm

QUALIFIED TOOL

OKUMA (vDI30)

CUT-OFF HOLDER
17-53001 - 26 mm

CUT-OFF
TOOL

I ACCESSORIES

BORING BAR SLEEVE

p. 707

- @é”

296 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES

9607 ($8 mm)
9608 (@10 mm)
9609 (@12 mm)

9611 (16 mm)
9613 (¥25 mm)
9614 (20 mm)

8764 (916 mm)
8766 (20 mm)
8767 (©25 mm)

7, GAIT




' 7, KINT=K

A& ~xiALTOOLHOLDER

OKUMA (vDI30)

75 40 80

53 59.5

€

'S

000

@
N~

CLAMPING COOLANT SCREW FOR
COD. PLATE NOZZLE STOP PLATE STOP PLATE STOP SCREW O RING VDI30
112-330080 832-007190 833-001110 832-018380 811-101038 811-102020 823-101017

A& cut-oFF HOLDER

COOLANT O RING FOR
COD. NOZZLE COOLANT NOZZLE O RING FOR BODY O RING VDI30 SHIM PLATE
o) O O O
117-53001 833-001490 823-101058 823-101061 823-101017 832-014448
COD. SCREW FOR PLATE CLAMPING PIN SPRING CLAMPING SCREW
M Tl — e
117-53001 811-108037 832-014447 824-300012 811-101027 811-104013

7, GAIT

DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES z97




' 7, KINTEK OKUMA (vDI30)

COMBI TOOLHOLDER WITH INTERNAL COOLANT
FOR BORING BAR AND INSERT DRILL

125

f G
932,9 100+£0.02 45 ; &

; %ﬁﬁ“’% L VT,

o

[ R <=

*.
©)
|

I — o
]
g%

40

22

CLAMPING COOLANT SCREW FOR
CoD. NOZZLE STOP PLATE STOP PLATE
115-230460 811102043 833-001110 832-018380 811101038
cop. STOP SCREW COVER SCREW FOR COVER O RING VDI30
© ©
A =
115-230460 811102020 832-003212 811101016 823-101017

v,
298 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES % GAIT




7, KINTEK OKUMA (vDI40)

7, READY, ALWAYS.

I OKUMA (VDI40) - LT15M - LT300M - MT250 - LB300 - LB300M - LV300

AXIAL TOOLHOLDER

QUALIFIED TOOL

v

\#

112-14009

25X25 mm
A& AccessoRIEs
BORING BAR SLEEVE
p. 705

COMBI TOOLHOLDER WITH &

INTERNAL COOLANT FOR BORING

' 9615 (8 mm)
BAR AND INSERT DRILL — 9616 (@10 mm)
@ 9617 (@12 mm)

9619 (@16 mm)
4” 9621 (20 mm)
@ 9622 (¥25 mm)

9623 (32 mm)

/’ 8768 (¢16 mm)
115-240810 - $40 mm 7 S 8770 (20 mm)
@ 8771 ($25 mm)

8772 (32 mm)

vV,
//////, GAIT DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 399




' 7, KINT=K

A& ~xiALTOOLHOLDER

OKUMA (vDI40)

95 50.5 50.5
70 257125
46
2 @ @
©2 0O 3 %ﬂss
(o} @ O I 255
= 0 @ @
cob. CLAMPING PLATE COOLANT NOZZLE STOP PLATE SCREVI‘,’LFAOTE STOP O RING VDI40
112-14009 832-007010 833-001110 832-020730 811-101039 823-101036
COMBI TOOLHOLDER WITH INTERNAL COOLANT
FOR BORING BAR AND INSERT DRILL
9«;0& 195£0.02
3 ol
O
@ T 14
e N

I
| ®
8 -
G

STOP PLATE

SCREW FOR STOP

CcoD. CLAMPING SCREW COOLANT NOZZLE PLATE
115-240810 811-102043 833-001110 832-020730 811-101039
COD. COVER SCREW FOR COVER O RING VDI40
N == O
AN
115-240810 832-003104 811-101017 823-101036

400 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES

7, GAIT




7 KINTEK

7, READY, ALWAYS.

OKUMA - LB15 - LB25 - LBISII - LB300
HAAS - sL20 - SL30 - ST-20 - ST-25 - ST-30 - ST-35 - DS-30

FACE AND O.D.
CUTTING HOLDER

)
O
“‘ -
go
0

128-420110 - 25x25 mm

FACE AND O.D.
CUTTING HOLDER

128-32001 - 25x25 mm

TOOLHOLDER FOR
BORING BAR

128-22001
@40 mm

COMBI TOOLHOLDER
WITH INTERNAL
COOLANT FOR
BORING BAR AND
INSERT DRILL

128-22005
@40 mm

7, GAIT

QUALIFIED TOOL

l ACCESSORIES

BORING BAR SLEEVE

p. 707

o

8971 (10 mm)
8972 (¥12 mm)
8973 (16 mm)
8974 (920 mm)

8975 (25 mm)
8976 (@32 mm)

9615 (8 mm)
9616 (@10 mm)
9617 (@12 mm)

9619 (@16 mm)
9621 (®20 mm)
9622 (25 mm)
9623 (¥32 mm)

8768 (@16 mm)
8770 (20 mm)
8771 ($25 mm)

8772 ($32 mm)

DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 407

OKUMA - HAAS

POLYGONAL TOOL HOLDER

128-12059 (C50)

POLYGONAL TOOL HOLDER

128-12057 (C50)




' 7, KINT=K

A& connecTion

OKUMA - HAAS

N
M
[
T o
218 8
~N
!
2]
~N

// \\
/ T \
\\ \,_,/ /’
. ,
——

20 45

42.5

I RADIAL TOOLHOLDER

22
"
° @ R
N
i =
Tl
25 @
S| 3
83
SCREW FOR SPRING FOR COOLANT
SOl CLALMFILIG HERE GhRLELn ELATE CLAMPING PLATE CLAMPING PLATE NOZZLE

Lo ]

832-002069

128-420110 811-104030

402 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES

I =

833-001080

7, GAIT

—

811-302004 824-101010




' 7, KINT=K OKUMA - HAAS

A& ~xiALTOOLHOLDER

50
| o Lje -
8 0
Q M1
¥ ° L’
.
+©O Oy
N [©] [¢]
O e @1
<{d -
D ©
69
98
100
COD. CLAMPING PLATE COOLANT NOZZLE STOP PLATE SCREW FOR PLATE
=1 = o= =
128-32001 832-007220 833-001110 832-003045 811-101026

I TOOLHOLDER FOR BORING BAR

o OO

63

30+0.02

6

<

102

83

COD. CLAMPING SCREW COOLANT NOZZLE
128-22001 811-104069 833-001110

vV,
/////,, GAIT DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 403




' 7, KINT=K OKUMA - HAAS

COMBI TOOLHOLDER WITH INTERNAL COOLANT
FOR BORING BAR AND INSERT DRILL

3 O © |
Q
mi E
N
e
]
s [0 —
T
83 ]
cob. CLAMPING SCREW1  CLAMPING SCREW 2 C,\?gz'?l_"l‘; COVER SCREW FOR COVER
© @)
== = A =
128-22005 811104069 811102043 833-001110 832-003056 811-101016
I POLYGONAL TOOLHOLDER
T g LJ
| | 2 !
mi (o] Q © (@)
L u
L2
I 7
2 </
L
cob. POLYGONAL D H L u L2 CLAMPING UNIT
128-12057 Cs0 50 77 88 m 19 CXC50-10

v,
404 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES % GAIT




' 7, KINT=K

I POLYGONAL TOOLHOLDER

OKUMA - HAAS‘

Q (o] 9

IR

N q)9
- 0| (©B)¢

-

102

o
)

COD. POLYGONAL D

CLAMPING UNIT

128-12059 C50 50

7, GAIT

75 142 33 65 CXC50-10

DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 405




7, KINTEK OKUMA (BMT60)

7, READY, ALWAYS.

OKUMA (BMT60) - LB2000 EX (M) - LB2500 EX (M) - LB3000 EX (M, MY) - LT2000 EX - LT3000 EX
LB3000 EX (MW, MYW) - LU2000 EX - LU2500 EX - LU3000 EX (M, MW, MY) - GENOS L300 (MY, MW, MYW)

CUTTING HOLDER FAST-IN p. 490
DRIVEN TOOLS ; 298

=

2

& >

128-41507 - 25x25 mm QUALIFIED TOOL

FACE AND O.D.
CUTTING HOLDER

128-31503 - 25x25 mm

A& ~ccessories

BORING BAR SLEEVE CUT-OFF HOLDER CUT-OFF TOOL
TOOLHOLDER p. 707
FOR BORING
BAR 9607 (@8 mm)
9608 (@10 mm)
9609 (@12 mm)
128-21514 (@32 mm)
9611 (@16 mm)
9613 (20 mm)
9614 (¥25 mm)
TOOLHOLDER 8764 (916 mm)
;CI:I; BORING 8766 (#20 mm)
8767 (925 mm)

8463 (25 mm)
8964 (32 mm)

9615 (8 mm)
9616 (@10 mm)
COMBI
TOOLHOLDER 9617 (@12 mm)
WITH INTERNAL CONTROL PROTECTION
COOLANT FOR PIN COVER
BORING BAR
AND INSERT 8768 (@16 mm) p. 740
DRILL 8770 ($20 mm)
8771 (®25 mm)
8772 ($32 mm)
128-21516 (@40 mm) 137-00195 137-00247

v,
406 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES ////// GAIT




' 7, KINTEK OKUMA (BMT60)
I CONNECTION

24 65
|
S o
MIN. 3 f
3
9' n
88.5
100
I RADIAL TOOLHOLDER
A4
a ol®
56 $@ o .
= = o) ¢)
2 i 5 0©
o | -

&
95
50

@%
25 e
= -

!

L
126
COD. CLAMPING PLATE COOLANT BALL SCREW FOR BALL O RING
128-41507 832-007360 833-001470 811-108018 823-101084

vV,
/////,, GAIT DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 407



' 7, KINTEK OKUMA (BMT60)

A& ~xiALTOOLHOLDER

|

55

1
© | ©
Tooo
n
o |
7?\;\@
<
@ ©
42
64
126
COD. CLAMPING PLATE COOLANT BALL SCREW FOR BALL O RING
128-31503 832-007360 833-001470 811-108018 823-101084
26
° —
I
=
()
[Te]
3
L1
<<
oo oflo &
"
N4

COOLANT O RING FOR O RING
cob. A Al 1 Bl H HI NOZZLE COOLANT NOZZLE  FOR BODY O RING
12811535 32 25 6 63 108 655 833-001490 823-101058 823-101061 823-101084
cop. SHIM PLATE SCREW FOR PLATE  CLAMPING PLATE SPRING CLAMPING SCREW
pa= \[] — =
128-11535 832-014449 811108037 832-014450 824-300012 871101028 811104013

v,
408 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES % GAIT




' 7, KINTEK OKUMA (BMT60)

COMBI TOOLHOLDER WITH INTERNAL COOLANT
FOR BORING BAR AND INSERT DRILL

0

&
C e

]

15

7
90£0.02

<
3 | @ - <
i O ©
16.5
CLAMPING CLAMPING
cob. SCREW 1 SCREW 2 COoLANT SCREW FOR ORING COVER scch)\\//vE;;on
(M10X25) (M10X20)
128-21514 811102039 811102038 833-001470 811108018 823-101084 832-003297 811101016

I TOOLHOLDER FOR BORING BAR

[
(0

o

19

T
90+£0.02

¥ 6.5
<{—
n E—
(2]
116.5
coD. CLAMPING SCREW COOLANT BALL SCREW FOR BALL O RING
128-21515 811102088 833-001470 811108018 823-101084

vV,
/////,, GAIT DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 409




' 7, KINTEK OKUMA (BMT60)

COMBI TOOLHOLDER WITH INTERNAL COOLANT
FOR BORING BAR AND INSERT DRILL

83 70

9
2]
o
. |

19

I
90+0.02

lo

) Or1— ©
16.5
CLAMPING CLAMPING
cob. SCREW 1 SCREW 2 COOANT SCREVI FOR ORING COVER scgg\\//vEl';on
(M14X25) (M12X20)
S B O =c
128-21516 811102088 811102044 833-001470 811108018 823-101084 832-003297 811101016
A PROTECTION COVER
B 100 _
- 78 -
N |
| . I
~ [o)]
C > Y
| Y
10 | e

COD. O RING
137-00247 823-101084

v,
410 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES % GAIT




7/ KINTEK

7, READY, ALWAYS.

I OKUMA (BMT60) - LB3000 EX (MW, MYW)

FACE AND O.D.
CUTTING HOLDER

128-41509 - 25x25 mm

FACE AND O.D.
CUTTING HOLDER

128-31505 - 25x25 mm

TOOLHOLDER
FOR BORING BAR

128-21515 (@40 mm)

COMBI
TOOLHOLDER
WITH INTERNAL
COOLANT FOR
BORING BAR
AND INSERT
DRILL

128-21516 (®40 mm)

COMBI
TOOLHOLDER
WITH INTERNAL
COOLANT FOR
BORING BAR AND
INSERT DRILL

7, GAIT

QUALIFIED TOOL

BORING BAR SLEEVE
p. 707

i

8971 (@10 mm)
8972 (@12 mm)
8973 (@16 mm)
8974 (20 mm)

8463 (025 mm)
8964 (¥32 mm)

9615 (8 mm)
9616 (@10 mm)
9617 (@12 mm)

9619 (@16 mm)
9621 (®$20 mm)
9622 (@25 mm)
9623 (32 mm)

8768 (@16 mm)
8770 (20 mm)
8771 (@25 mm)
8772 (®32 mm)

OKUMA (BMT60)

FAST-IN p. 420
DRIVEN TOOLS ;. 208

CUT-OFF TOOL

CUT-OFF HOLDER

128-11535 (32 mm)

Left

CONTROL PIN

PROTECTION
COVER

==

137-00195 137-00247

p. 740

DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 47




' 7, KINTEK OKUMA (BMT60)
I CONNECTION

24 65
S 2
11.5 2 P "
MIN. 3| ,g_’l
9 =
3 g 2
34 ‘
50 |
88.5
100
I RADIAL TOOLHOLDER
A4 A8

75
o
o
°
42
64

50

95

50

%

152
COD. CLAMPING PLATE COOLANT BALL SCREW FOR BALL O RING
128-41509 832-007360 833-001470 811-108018 823-101084

v,
412 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES ////// GAIT




' 7, KINTEK OKUMA (BMT60)

A& ~xiALTOOLHOLDER

25

95
/D l
©) o
Dile}
©) o
A
\

42
64
131
COD. CLAMPING PLATE COOLANT BALL SCREW FOR BALL O RING
128-31505 832-007360 833-001470 811-108018 823-101084
26
o

H1

[Te]
3
A PN )
@9 ~O°]
0
{47
o o oflo 8
d
yzar\ PN
019 + ©
4
COOLANT O RING FOR O RING ORING
cob. A Al 1 Bl H HI NOZZLE COOLANT NOZZLE  FOR BODY FOR BASE
12811535 32 25 6 63 108 655 833-001490 823-101058 823-101061 823-101084
cob. SHIM PLATE SCREW FOR PLATE  CLAMPING PIN SPRING C"SA(‘:"QE\'A",‘G
= ] — =
128-11535 832-014449 811-108037 832-014450 824-300012 811101028 811-104013

vV,
/////,, GAIT DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 473




' 7, KINTEK OKUMA (BMT60)

I TOOLHOLDER FOR BORING BAR

83 70
AT
© © : %\j —t
g S % !
M o
2 |
ml [©] O E (o] © j
s ;
\ \
jEca=
< |
O ©
6.5
cob. CLAMPING SCREW CO&QNT SCREW FOR BALL ORING
128-21515 811102088 833-001470 811108018 823-101084
COMBI TOOLHOLDER WITH INTERNAL COOLANT
FOR BORING BAR AND INSERT DRILL
83 70
% puo ¥
D). . ) . |
©) ©)
o | 4 (@5
[l o
3 |
ml (@] o g ? (e} (e} j

OH—0

<
n .
(0] @
< |
—Or1— ©
116.5
CLAMPING CLAMPING
cob. SCREW 1 SCREW 2 CooLANT SCRENIFOR ORING COVER scgg\\//vElaon
(M14X25) (M12X20)
128-21516 811102088 811102044 833-001470 811108018 823-101084 832-003297 811101016

v,
414 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES % GAIT




' 7, KINTEK OKUMA (BMT60)

COMBI TOOLHOLDER WITH INTERNAL COOLANT
FOR BORING BAR AND INSERT DRILL

83 70

105+0.02
o
33

134
79
K
o %{
e
‘
5020.02
&)
4&@
@

4 0
133

CLAMPING CLAMPING

cob. SCREW 1 SCREW 2 COSALS_NT SCR&’:’_EOR ORING COVER1 COVER 2 chg‘\’,"E’;o“
(M12X25) (M12X12)

é e © ©

- La=) N B3

128-21520 811102045 811-102064 833-001410 811108024  823-101084  832-003306  832-003307  811-101016
A PROTECTION COVER

B 100 _
- 78 -

a2

73
95

10

COD. O RING
137-00247 823-101084

v,
//////, GAIT DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 415




7 KINTEK

7, READY, ALWAYS.

I OKUMA (BMT60) - LB4000 EX (M, MY)

FACE AND
0.D. CUTTING
HOLDER

128-41508
25x25 mm

FACE AND
0.D. CUTTING
HOLDER

128-31504
25x25 mm

COMBI
TOOLHOLDER
WITH INTERNAL
COOLANT FOR
BORING BAR
AND INSERT
DRILL

128-21518 (D40)
128-21527 (D50)

POLYGONAL
TOOL HOLDER

128-11562 (C50)

POLYGONAL
TOOL HOLDER

128-11560 (C50)

QUALIFIED TOOL

BORING BAR SLEEVE

p. 707

®¢
L @‘

416 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES

D40

8971 (@10 mm)
8972 (12 mm)
8973 (¢16 mm)
8974 (20 mm)

BOK64205 (20 mm)
8953 (32 mm)

9615 (8 mm)
9616 (@10 mm)
9617 (@12 mm)

9619 (@16 mm)
9621 (®$20 mm)
9622 (@25 mm)
9623 (32 mm)

8768 (@16 mm)
8770 (20 mm)
8771 (®25 mm)

8772 ($32 mm)

OKUMA (BMT60)

FAST-IN p. 490
DRIVEN TOOLS p 298

CUT-OFF HOLDER

128-11536 (32 mm)

Left

CUT-OFF TOOL

CONTROL PIN PROTECTION
COVER

p. 740

137-00196 137-00248

7, GAIT




' 7, KINTEK OKUMA (BMT60)
I CONNECTION

NP
@
-/

+0.04
7.5+0.02
g]s
39

|~

100
+

7.5+0.005
P
-
v
39

38
55
98.5
110
A& RADIALTOOLHOLDER
f o®
N ©
° Do 9|3
° ©©
o 5 ©)
l S [_‘j | I
.26
D | O
25 9% |
8 2 i
e
9 | ©
136
COD. CLAMPING PLATE COOLANT BALL SCREW FOR BALL O RING
128-41508 832-007360 833-001470 811-108018 823-101084

vV,
/////,, GAIT DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 47




KINT=K

READY, ALWAYS.

A& ~xiALTOOLHOLDER

OKUMA (BMT60)

50

65

70

25

]

&

L [mo

®

A
I

100
)
©|2?|®
S/

42
64
136
coD. CLAMPING PLATE COOLANT BALL SCREW FOR BALL O RING
128-31504 832-007360 833-001470 811108018 823-101084
A& cut-oFF HOLDER
26
o n
o
(o]
g |
o
§!
.10
Aane
ASZANIAS
g
[ -Bl |
G | o
© © © © © 9
I Ya 2 Y %)$
YN
Right 130
COOLANT O RING FOR O RING O RING
cob. NOZZLE COOLANT NOZZLE FOR BODY FOR BASE SHIM PLATE
b O @) O
12811536 833-001490 823-101058 823-101061 823101084 832-014449
cop. SCREW FOR PLATE CLAMPING PIN SPRING CLAMPING SCREW
P ] — =
128-11536 811108037 832-014450 824-300012 811101028 811-104013

418 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES

7, GAIT




' 7, KINT=K

COMBI TOOLHOLDER WITH INTERNAL COOLANT
FOR BORING BAR AND INSERT DRILL

L1

OKUMA (BMT60)

¢

H1

90+0.02

.5
29

104

&)

CLAMPING CLAMPING

COOLANT SCREW FOR SCREW FOR
COD. D B H1 L1 SCREW 1 SCREW 2 O RING COVER
(M14X25) (M12X20) BALL BALL COVER
=S B 0 =
128-21518 40 70 19 83 811-102088 811-102044 833-001470  811-108018 823-101084 832-003297 811-101016
128-21527 50 80 124 93 811-102088 811-102044 833-001470  811-108018 823-101084 832-003314 811-101016
I POLYGONAL TOOLHOLDER
B
o ﬁ% A
NN
T 20 ) |
o
+I
o
[o)]
” L ¢ T
Ll.s
I
)
S s
= "/
& [©)
15

COD. POLYGONAL D H1 B CLAMPING UNIT O RING
128-11560 C50 50 122 82 CXC50-10 823-101084

7, GAIT

DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 419




' 7, KINT=K

I POLYGONAL TOOLHOLDER

OKUMA (BMT60)

O

—

82

H1

35
—

100

COD. POLYGONAL D H H1

L1 CLAMPING UNIT

O RING

128-11562 C50 50 75 20

420 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES

50

CXC50-10

O

823-101084

7, GAIT




7, KINTEK NAKAMURA TOME (BMT44)

7, READY, ALWAYS.

NAKAMURA TOME (BMT44) - NTY3 - SUPER NTMX/NTMXL - WT100 - MURATA MURATEC MT100
WY-100II - NTJ100

FAST-IN p. 490
FACE AND O.D.
DRIVEN TOOLS o 298
QUALIFIED TOOL
FACE AND O.D.
CUTTING HOLDER
C21478 - 20x20 mm
A& ~ccessories
COMBI TOOLHOLDER BORING BAR SLEEVE CUT-OFF HOLDER CUT-OFF TOOL
WITH INTERNAL 707
COOLANT FOR P
BORING BAR AND
INSERT DRILL ‘f? 9600 (@8 mm)
' 9601 (@10 mm)
9602 (@12 mm)

<

>
—_—t @ 9604 (@16 mm)
—F 8759
(12 mm)
I 8761 (16 mm)
0 8763 (20 mm)

C22410

PROTECTION
COVER

137-00251

V,
//////, GAIT DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 421




' 7, KINT=K

A& connecTion

NAKAMURA TOME (BMT44)

56
37
I S
NG
U i
N N
2 I
[(e)
D um|__ 1 o
o ©
o~
@ ® — 1
| m
(TN 2
&) N
OO—&
n 40
25
62
I RADIAL TOOLHOLDER
67
~ ¢ > AZO;
e
mn
o @ {
1 ‘ I
mn
l@ o) J F S
Y \i
% I ] [l I
A
b 20
o| O
Ol N -
Y O o
. o3
(O15) ]
¥ \IAL
Y
62
- 87 o
cob CLAMPING KEY SCREW FOR COOLANT SCREW FOR STOP PLATE SCREW FOR FOROC'ggEANT
: SCREW KEY BALL BALL PLATE
INTAKE
) 8 B o= D O
C21410 811-102038 814-203270 811-101027 833-001470 811-108018 832-003232 811-108029 823-101083

422 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES

7, GAIT



KINT=K

READY, ALWAYS.

I RADIAL TOOLHOLDER

NAKAMURA TOME (BMT44)

55

— i —

© @

5.5

T T T I

D5

110

39

4b

© ©

20
o

ONEN

N\

|
S o
=O0—0-4

@“ B
e &

08,

12

150

COD.  CLAMPING SCREW 1 CS'-éR'YI'E';{,NZG CLAMPING PLATE SCREW FOR PLATE KEY SCREW FOR KEY
C21478 811-102037 811-301108 832-002184 811-101019 814-203270 811-101027
O RING FOR O RING FOR
cob. STOP SCREW COOLANT BALL SCREW FOR BALL COOLANT INTAKE 1 COOLANT INTAKE 2
(d7 59X2.62) (d6X2)
C21478 811101026 833-001470 811-108018 823-101083 823-101082
A& cut-oFF HOLDER
24.5 54
] 1 \
S X |
n
3 1Y N
0 )
ml o) le)
|
}—‘—JJ , L=
ol
~ 5
o o—oio}|3
2
76
SCREW COOLANT  ORINGFOR O RING FOR SCREW FOR
cob. KEY FOR KEY NOZZLE  COOLANTNOZZLE BODY SHIM PLATE PLATE
= B O @) [E=
12122074  814-203380 811-101071 833-001490 823-101058 823-101061 832-014448 811-108037
CLAMPING SCREW FOR O RING FOR
cob. CLAMPING PIN SPRING LOREW SCREW STOP PLATE e CODLANS INTAKE
\L1] = B8 o=— §3 O
121-22074 832-014447 824-300012 811101028 811104013 832-003232 811-108029 823-101083

7, GAIT

DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 423




' 7, KINTZK NAKAMURA TOME (BMT44)

COMBI TOOLHOLDER WITH INTERNAL COOLANT
FOR BORING BAR AND INSERT DRILL

40.5

06
|

o |
o]
62
cob. CLAMPING SCREW KEY SCREW FOR KEY COOLANT BALL SCREW FOR BALL
_— S=c = e
C22410 811102035 814-203270 811101027 833-001470 811108018
cob. COVER SCREW FOR COVER STOP PLATE SCREW FOR PLATE O RING FOR

COOLANT INTAKE

C22410 832-003291 811-101016 832-003232 811-108029 823-101083

I PROTECTION COVER

80
- 35 >
1] A
ah)
] N | A
Qo
()]
9 O gl o
3 J
| b Y
|| W
Y
8 o |2

COD. O RING
137-00251 823-101066

v,
424 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES % GAIT




7, KINTEK NAKAMURA TOME (BMT55) - CMZ

7, READY, ALWAYS.

NAKAMURA TOME (BMT55) - AS-200 - NTM3 - NTY3-250 - SC-150M - SC-200MY - SC-250M - SUPRERNTJ
TMC-20 Il M/ML - TW-10 - TW-20 - WT-20 Il M/MY - WT150/200 - WT-250 - WTS-150 - WTW-150/160 - WT200 Il (M,MY) WY-250

CMZ - TXx52/66 - SUPER NT3J - NTM3 - SC150/250 - TX52 Y3-Y2 QUATTRO-Y2 TW IN - TX66 Y3-Y2 QUATTRO-Y2 TW IN
TTL 52 - TTL 66 - TA15-20-25-30M/Y/MS/MY/YS 15ST

FACE AND O.D.
CUTTING HOLDER

FACE AND O.D.
CUTTING HOLDER

CUT-OFF HOLDER

CUT-OFF
TOOL

QUALIFIED TOOL

W1431 - 20x20 mm Z2414 - 25x25 mm

FACE AND O.D.
CUTTING HOLDER

T

R1452 - 20x20 mm

FACE AND O.D.
CUTTING HOLDER

o | 2
L LD O
0

o)

Z2413 - 25x25 mm

A& ~ccessories

=

Left “

&
Central

FAST-IN p. 490
DRIVEN TOOLS p 208

COMBI BORING BAR SLEEVE
TOOLHOLDER
WITH INTERNAL p. 707 D25 D32
COOLANT FOR
BORING BAR
s° 9600 (@8 mm) 9607 (8 mm)
AR LSERT — ‘ 9601 (@10 mm) 9608 ($10 mm)
9602 (@12 mm) 9609 (@12 mm)
WI1417 D25 - H=55 mm (@$25 mm)
W4437 D25 - H=75 mm (@$25 mm) v 9611 (@16 mm)
< mm
— ‘ 9604 (®16 mm) 9613 (¥20 mm)
COMBI 9614 (¢25 mm)
TOOLHOLDER
WITH INTERNA!
COOLANT FOR
BORING BAR 5
AND INSERT ) 8759 (@12mm) 8764 (®16 mm)
© — 8761 (®16 mm) 8766 (¥20 mm)
8763 (20 mm) 8767 (@25 mm)
R8418 (25 mm)
> 5968 (@6 mm)
|~ 599 (@8 mm)
@/ 5970 (310 mm)
COMBI 5971 (@12 mm)
TOOLHOLDER
WITH INTERNAL
COOLANT FOR
BORING BAR
AND INSERT == PROTECTION
DRILL — 5995 (@16 mm) COVER

W1417 D32 - H=55 mm (#32 mm)
Z2417 D32 - H=70 mm (@32 mm)
Z7417 D32 - H=80 mm (®32 mm)

7, GAIT

137-00249

DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 425




NAKAMURA TOME (BMT55) - CMZ

7 KINTEK

7, READY, ALWAYS.

NAKAMURA TOME (BMT55) - AS-200 - NTM3 - NTY3-250 - SC-150M - SC-200MY - SC-250M - SUPRERNTJ
TMC-20 Il M/ML - TW-10 - TW-20 - WT-20 Il M/MY - WT150/200 - WT-250 - WTS-150 - WTW-150/160 - WT200 Il (M,MY) WY-250

CMZ - 1x52/66 - SUPER NTJ - NTM3 - SC150/250 - TX52 Y3-Y2 QUATTRO-Y2 TW IN - TX66 Y3-Y2 QUATTRO-Y2 TW IN
TTL 52 - TTL 66 - TA15-20-25-30M/Y/MS/MY/YS 15ST

FAST-IN p. 490
DRIVEN TOOLS . 298

FACE AND O.D.
CUTTING HOLDER

QUALIFIED TOOL

65
O O Q\i

W1413 - 20x20 mm

FACE AND O.D.

é.{f/i

60

l

W1415 - 20x20 mm

7, GAIT

426 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES




7 KINTEK NAKAMURATOME(BMT55)-CMZ‘
I CONNECTION

50
ENTE
N/aN
N
. 70 \ °
R ‘, o2} o [t )
8 (0o [t} 0
- 10
)
N
D¢
15 50
30 \
80
I RADIAL TOOLHOLDER
41
21
e } =
”m’l @ I
¥ o l R
}
O | ©
o‘ <20
1 Y )
| ©
- 80 '
cop. CLAMPING SCREW COOLANT NOZZLE O RING
=c = O
W143] 811102038 833-001110 823101015

vV,
/////,, GAIT DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 457




' 7, KINT=K

I RADIAL TOOLHOLDER

NAKAMURA TOME (BmMT55) - CMZ

o000

. 40
) 0
) ~
- , i W
O ! T
n !
) 0 © | ©
D) ‘
0 ol
/ M R
) @
/ m.l
o
Ny
80
- 105
coD. CLAMPING SCREW COOLANT NOZZLE O RING
| —
\ =
72413 811-102044 833-001110 823-101015
I RADIAL TOOLHOLDER
) |
" 40
@) © —
O n Y
ml o <
— N
O J J I
0 —
$ - 80
n
(o)
n
0 410 | ©
Ny
0, ==
o0}
w25
| © | ©
- 105
cobD. CLAMPING SCREW COOLANT NOZZLE O RING
72414 811-102044 833-001110 823-101015

428 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES

7, GAIT



. READY, ALWAYS.

7, KINTEK NAKAMURA TOME (BMT55) - CMZ

I RADIAL TOOLHOLDER

) I
8 @ 39
“ ]
LN)| 7\
i @ O <
y \
¥ I L[ T
Q| |<20,
N N -
) @
1
2 |
Ny \
_ 100 -
cob. CLAMPING SCREW COOLANT NOZZLE O RING
— = O
h=
W1413 811-102038 833-001110 823-101004

I AXIAL TOOLHOLDER

40
o
N
o | w
® © ©
n
mn
L
o !
’ O ©
1o O o
T e ©
50
78
80
COD. CLAMPING PLATE COOLANT NOZZLE O RING
W1415 832-007200 832-001100 823-101004

vV,
/////,, GAIT DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 459



READY, ALWAYS.

7, KINTEK NAKAMURA TOME (BMT55) - CMZ

I RADIAL TOOLHOLDER

P15
\
\: = o ﬂ?\
‘ o 35 YN
2 34 Olo
n X
]
% 20
20 @‘9
o N _ N
< L 0|
9
— @ ]/;R\ o
\S3) © |8
=
=
13
ORING 1 O RING 2
cob. CLAMPING PLATE CLAMPING SCREW COOLANT NOZZLE (D9X2) (D6X2)
| =
\ =i
R1452 832-007160 811-102037 833-001110 823-101015 823-101082

A& cut-oFF HOLDER

100

Yoy
N
|
o
cob INTERNAL COOLANT O RING FOR O RING O RING FOR O RING
. COOLING NOZZLE COOLANT NOZZLE FOR BODY COOLANT INTAKE INTERNAL COOLANT
121-22076 NO 833-001490 823-101058 823-101061 823-101015 -
121-22076-IC YES 833-001490 823-101058 823-101061 823-101015 823-201140
COD. SHIM PLATE SCREW FOR PLATE CLAMPING PIN SPRING CLAMPING SCREW SCREW
121-22076 832-014448 811-108037 832-014450 824-300012 811-101028 811-104013
121-22076-1C 832-014448 811-108037 832-014450 824-300012 811-101028 811-104013

v,
430 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES % GAIT




7 KINTEK NAKAMURA TOME (BMTss) - CMZ

COMBI TOOLHOLDER WITH INTERNAL COOLANT
FOR BORING BAR AND INSERT DRILL

B
] U
— o @
n
uil @ T 9
: !
| ©
M A o) “
© b b J
80
CLAMPING CLAMPING SCREW PER O RING FOR
cop. H HI B SCREW 1 SCREW 2 Cr\?gzl'zALr\llsT INTERNAL COOLANT COVER 8&',’;2
(M10X10) (M10X12) COOLANT INTAKE
== == e O H O
WI417D25 55 78 41 811-102035 - 833-001110  811-102038 823101015  823-301150  823-201140
W4437D25 75 98 4] 811-102035 : 833-001110  811-102038 823101015 823301150  823-201140
I DOUBLE TOOLHOLDER FOR BORING BAR
4
o o
9N
e
o [o]
S 3 PN
28 o
He)
N +1
& (o}
Ll

—

83
" T

cop. CLAMPING SCREW COOLANT NOZZLE O RING FOR COVER SCREW FOR COVER

COOLANT INTAKE

R8418 811-102035 833-001110 823-101015 832-003295 811-101010

vV,
/////,, GAIT DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 43




' 7, KINT=K

COMBI TOOLHOLDER WITH INTERNAL COOLANT
FOR BORING BAR AND INSERT DRILL

NAKAMURA TOME (BmMT55) - CMZ

50
- g2*
] | U
(@ o
- i ©
n
) I
ml @ n
M |l @ @
[o0]
| |
80
SCREWFOR O RING FOR
CoD. H HI cgpénlggwc CI\?C())ZLQII\IIET INTERNAL COOLANT PLUG OR",';‘_SJOR STOP PLATE Fgg;",fvaE
COOLANT INTAKE
= O H O = 3
WI417D32 55 78 811102035  833-00110 811102038 823101015 823301140  823-201080 ] -
72417D32 70 965 811102035  833-00110 811102038 823101015  823-301140  823-201080 ) -
77417D32 80 1065 811102035  833-00110 811102038 823101015 823301140 823-201080 832-003349  811-108029
A& PROTECTION covER
- 60 >
] |
y /4R
\A\ ‘ i
9
o »
< ) ol o
n '\J n| o
8
y N \
L/
|
10 .25

COD. O RING
137-00249 823-101064

432 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES

7, GAIT




7/ KINTEK

7, READY, ALWAYS.

NAKAMURA TOME (BMT65) - WT3000 / SC300 / TW20 / TMC-200M/MY/MM/MMY/MMYY (12 stations)

TW30M/MY/MM/MMY/MMYY (16 stations)

FACE AND O.D.
CUTTING HOLDER

2 || -
o | &
0

W2413 - 25x25 mm

FACE AND O.D.
CUTTING HOLDER

W2415 - 25X25 mm

QUALIFIED TOOL

NAKAMURA TOME (BMT65)

A& ~ccessories

COMBI TOOLHOLDER
WITH INTERNAL
COOLANT FOR
BORING BAR AND
INSERT DRILL

PROTECTION
COVER

137-00250

7, GAIT

BORING BAR SLEEVE
p. 707

D25

9600 (#8 mm)
9601 (@10 mm)
9602 (@12 mm)

9604 (@16 mm)

8759 (®12 mm)
8761 (®¥16 mm)
8763 (20 mm)

5968 (®6 mm)
5969 (#8 mm)
5970 (@10 mm)
5971 (@12 mm)

5995 (@16 mm)

DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 433

FAST-IN . 490
DRIVEN TOOLS ;. 298

D32

9607 (8 mm)
9608 (@10 mm)
9609 (@12 mm)

9611 (@16 mm)
9613 (20 mm)
9614 (25 mm)

8764 (916 mm)
8766 (¥20 mm)
8767 (925 mm)

5316 (8 mm)
5317 (@10 mm)
5318 (@12 mm)
5319 (@16 mm)
5320 (@20 mm)

5333 (@25 mm)




7/ KINTEK NAKAMURA TOME (BMTs9) ‘

I RADIAL TOOLHOLDER

I
55
2
1o O =
LT
> f
o /
: 0 > o1 o
O n 25
N
g _ .
0 A
=
1 | O &
100
125
COD. CLAMPING SCREW COOLANT NOZZLE O RING
) O
W2413 811-102039 833-001120 823-101004
I AXIAL TOOLHOLDER
50
i J
N
. M10
, o )
3
n
L T
T
69
98
100
COD. CLAMPING SCREW COOLANT NOZZLE O RING
=1 | O
W2415 832-007220 833-001100 823-101004

v,
434 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES ////// GAIT




. READY, ALWAYS.

7, KINTEK NAKAMURA TOME (BMT65)

COMBI TOOLHOLDER WITH INTERNAL COOLANT
FOR BORING BAR AND INSERT DRILL

N St N
- o
,;‘ o
(o]
o © ?
LT
T T
h 7 J
[o)]
| |
100
cob CLAMPING COOLANT INSTCE‘EE,\“’XL O RING FOR PLUG O RING FOR
: SCREW NOZZLE ROOLART COOLANT INTAKE PLUG
) € @ Hi @
W2417 D32 811-102060 833-001110 811102038 823-101004 823-301140 823-201080
A PROTECTION COVER
[ } A
/4R
T\ [
2';3‘
(0]
3| D 188
8 ) =
! (Y1
L
] v
10 29 |

COD. O RING
137-00250 823-101084

vV,
/////,, GAIT DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 435




7 KINTEK

7, READY, ALWAYS.

I DOOSAN PUMA - 230M/Ms - 240M/MS

FACE AND O.D.
CUTTING HOLDER

128-41501 - 25x25 mm

FACE AND O.D.
CUTTING HOLDER

128-31501 - 25x25 mm

TOOLHOLDER
FOR BORING BAR

128-21501
(H=70 mm) - (940 mm)

COMBI COVER: 832-003216

TOOLHOLDER
WITH INTERNAL
COOLANT FOR
BORING BAR
AND INSERT
DRILL

128-21502 (H=70 mm) - (40 mm)
128-21522 (H=60 mm) - (@40 mm)

QUALIFIED TOOL

<>

BORING BAR SLEEVE
p. 707

— 8958 <MT1>

_ ")\ 8959 <MT2>

@ ) 8960 <MT3>
_3/ 8916 (10 mm)
E AW 8917 (@12 mm)
) 8918 (@16 mm)

8919 (20 mm)
8920 (@25 mm)
8921 (32 mm)

8897 (¥20 mm)
8898 (@25 mm)

9615 (¥8 mm)
9616 (@10 mm)
9617 (@12 mm)

9619 (@16 mm)
9621 (@20 mm)
9622 (¢25 mm)
9623 (¢32 mm)

8768 (@16 mm)
8770 (20 mm)
8771 (®25 mm)

8772 ($32 mm)

&
o
o
o

436 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES

DOOSAN PUMA

7, GAIT




' 7 KINTEK DOOSAN PUMA
I CONNECTION

2’;/

\/N/
)
N

20
15 H7

—
64
85

I RADIAL TOOLHOLDER

45

27

o oo
Q0 ©

15
—

31

=]l @9

N O N _ .
o n i

o

=

126
COD. CLAMPING PLATE KEY SCREW FOR KEY COOLANT BALL SCREW FOR BALL
=N B3 = a=
128-41501 832-018450 814-203230 811-101017 833-001470 811-108018

v,
//////, GAIT DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 437




KINT=K

READY, ALWAYS.

A& ~xiALTOOLHOLDER

DOOSAN PUMA

70
25
o o o 1
o 0 g
| I —
48.5
@ @ 91
<{— —fe
90

COD. CLAMPING SCREW KEY SCREW FOR KEY COOLANT BALL SCREW FOR BALL
& e = =
128-31501 811-102044 814-203230 811-101017 833-001470 811-108018

I TOOLHOLDER FOR BORING BAR

85

COD. H H1 CLAMPING SCREW KEY SCREW FOR KEY COOLANT BALL SCREW FOR BALL
—= = = =
128-21501 70 100 811-102038 814-203230 811-101017 833-001470 811-108018

438 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES

7, GAIT




' 7, KINT=K DOOSAN PUMA

COMBI TOOLHOLDER WITH INTERNAL COOLANT
FOR BORING BAR AND INSERT DRILL

CLAMPING CLAMPING

COD. H HI SCREW 1 SCREW 2 KEY SCRE‘g(FOR Co&ﬁm 5CR§XY_E°R COVER SCEE\\I/VEI;OR
(M10X20) (M10X10)
B © =]
B2 o o &6 i3 B3
12821502 70 100 811102038 811102035 814203230 81101017  833-001470  81-108018  832-003216  811-101017
12821522 60 90 811102038 811102035 814203230 81101017  833-001470  811-108018  832-003216  811-101017

vV,
/////,, GAIT DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 439




7 KINTEK DOOSAN PUMA

7, READY, ALWAYS.

I DOOSAN PUMA - 230s - 2405 - LYNX210

MONTAGGIO DIRETTO

SULLA TORRETTA

<>

Q

QUALIFIED TOOL FACE AND 0O.D.

QO CUTTING HOLDER

832-018242
<>
832-018241

FACE AND O.D.
CUTTING HOLDER

128-32009 - 25x25 mm

128-42012 - 25x25 mm

A& ~ccessories

BORING BAR SLEEVE

TOOLHOLDER
FOR BORING BAR p. 707
8916 (@10 mm)
— 8917 (@12 mm)
8918 (@16 mm)
8919 (¥20 mm)
— 8920 (®25 mm)
128-22024 - ($40 mm) 8921 (632 mm)

8897 (20 mm)
8898 (¥25 mm)

COMBI TOOLHOLDER 9615 (®8 mm)
WITH INTERNAL I 9616 (310 mm)
COOLANT FOR
BORING BAR AN 9617 (@12 mm)
INSERT DRILL
9619 (®16 mm)
9621 (20 mm)

9622 (@25 mm)
9623 (@32 mm)

8768 (@16 mm)
8770 (®20 mm)
8771 (@25 mm)

8772 (32 mm)

128-22025 - (@40 mm)

G @ @ @ @ @
UG BBY Y

v,
440 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES % GAIT




' 7 KINTEK DOOSAN PUMA
I CONNECTION

A
A
A
|
| I © o~ )
8 N [ (2]
!
< ) !
{ } | an '
L/
!
-0 o 45 —
I RADIAL TOOLHOLDER
4 )
|
o @
“ T o |le
| |
et )
3% :T ©
-~ 9
s —~%
O ©
25
5 8 I
1,
© O
80
COD. CLAMPING PLATE COOLANT BALL SCREW FOR BALL
128-42012 832-018240 833-001470 811-108018

v,
//////, GAIT DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 441




' 7, KINT=K DOOSAN PUMA

A& ~xiALTOOLHOLDER

& ey

50

A
)
7S

JeN\?
N\

y
o)
°©

N
o
) @)
_L© ©
h ™
© ©
52
72
86
COD. CLAMPING PLATE COOLANT BALL SCREW FOR BALL

e = ja=)

128-32009 832-018240 833-001470 811-108018

I TOOLHOLDER FOR BORING BAR

°p
°
:

5
35+0.02
7

7
1N
&)

é—f—
N .
[o)]
T
86
COD. CLAMPING SCREW COOLANT BALL SCREW FOR BALL

== = 3=

128-22024 811-102039 833-001470 811-108018

v,
442 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES ////// GAIT




' 7, KINT=K DOOSAN PUMA

COMBI TOOLHOLDER WITH INTERNAL COOLANT
FOR BORING BAR AND INSERT DRILL

67

35+0.02

:
:

1@
86
CLAMPING CLAMPING COOLANT
COD. SCREW 1 SCREW 2 BALL SCREW FOR BALL COVER SCREW FOR COVER
(M10X25) (M10X12)
—€ = = pa= pa=
128-22025 811-102039 811-102036 833-001470 811-108018 832-003193 811-108024

vV,
/////,, GAIT DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 443




7/ KINTEK

7, READY, ALWAYS.

DOOSAN BMT45) - HARDINGE SMEC

DOOSAN (BMT45) - LYNX 2100LYA/LYB (24 position index) - LYNX 2100MA/220 (LMSA, LMSC) - 220 (LSYA, LSYC)
220 (M,LM) - LYNX 220 (MA, LMA, MC, LMC) - 200 (YA, YC, LYA, LYC) - PUMA MXI1600 (T, ST)

HARDINGE SMEC - BMT45 - PL1600 (M,CM)

FACE AND
0O.D. CUTTING
HOLDER

128-41518
20x20 mm

FACE AND
0.D. CUTTING
HOLDER

128-41518-IC
20x20 mm
(INTERNAL COOLANT)

FACE AND
0.D. CUTTING
HOLDER

128-41519
20x20 mm

TOOLHOLDER FOR
BORING BAR

128-21529
@32 mm

COMBI
TOOLHOLDER
WITH INTERNAL
COOLANT FOR
BORING BAR
AND INSERT
DRILL

128-21530 D32
128-21547 D40

COMBI
TOOLHOLDER
WITH INTERNAL
COOLANT FOR
BORING BAR
AND INSERT
DRILL

85

128-21531
2x®25 mm

QUALIFIED
TOOL

FACE AND O.D.
CUTTING HOLDER

128-31511
20x20 mm

128-31511-IC
20x20 mm

(INTERNAL COOLANT)

A& Accessories

BORING BAR SLEEVE

p. 705

D32

1376 <MT3>
1377 <MT2>

5316 (8 mm)
5317 (10 mm)
5318 (@12 mm)
5319 (@16 mm)
5320 (@20 mm)

5333 (@25 mm)

9607 (@8 mm)
9608 (@10 mm)
9609 (@12 mm)

9611 (16 mm)
9613 (20 mm)
9614 (@25 mm)

8764 (916 mm)
8766 (20 mm)
8767 (925 mm)

5969 (¥8 mm)
5970 (@10 mm)
5971 (@12 mm)

5995 (16 mm)

9600 (@8 mm)
9601 (@10 mm)
9602 (@12 mm)

9604 (@16 mm)
9606 (20 mm)

8759 (@12 mm)
8761 (@16 mm)
8763 (¢20 mm)

444 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES

CUT-OFF HOLDER

128-11546-IC
(INTERNAL
COOLANT)

FAST-IN 5. 490
DRIVEN TOOLS p 298

D40

9615 (@8 mm)
9616 (@10 mm)
9617 (912 mm)

9619 (@16 mm)
9621 (20 mm)
9622 (@25 mm)
9623 (@32 mm)

8768 (916 mm)
8770 (920 mm)
8771 (925 mm)
8772 (932 mm)

CONTROL PROTECTION
PIN COVER

p. 740

137-00197 137-00252

7, GAIT




A& connecTion

K

DOOSAN (BMT45) - HARDINGE SMEC

s I

17

D

—_—
—

15 H7
58
75

—
g

17

DO

58

!

80

!

A

I RADIAL TOOLHOLDER

IC VERSION ééé

48

000
000

65
5
o
30

75
40

COD.

128-41518
128-41518-IC

7, GAIT

INTERNAL
COOLANT

NO
YES

CLAMPING PLATE

=]

832-007160
832-007160

KEY SCREW FOR KEY COOLANT BALL SCREW FOR BALL
= = =
814-203450 811-101016 833-001410 811-108024
814-203450 811-101016 833-001410 811-108024

DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 445




' 7, KINT=K DOOSAN (BMT45) - HARDINGE SMEC

I RADIAL TOOLHOLDER

.

o 58
N
[(o]
"’l @ 9, o}
T
1L s0
OL 20
N
- - |
h
n n
N <
=0 0|
Py e
= | 9
©
4.5 150
CLAMPING CLAMPING
cop %tzpﬁhéw'\cl)? SCREW 15° SCREW 15° KEY SCREW FOR KEY co%ﬁm SCR;X‘I’_E OR
M10X12 M10X16
\ =i \ y=! ‘ %E@
@H@ 5 —9 © ©
128-41519 811-301128 811-102036 811-102037 814-203450 811-101016 833-001410 811-108024

A& ~xALTOOLHOLDER

IC VERSION ééé

Q ;Zﬂ $i%o« ©
gm o @T@ o i o

] | o @

75

)

cob. g‘ggfg‘,ﬁ"f CLAMPING PLATE KEY SCREW FOR KEY COOLANT BALL SCREW FOR BALL
©

] o HE= B8 A=

128-31511 NO 832-007200 814-203450 811-101016 833-001410 811-108024
128-31511-IC YES 832-007200 814-203450 811-101016 833-001410 811-108024

v,
446 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES % GAIT




READY, ALWAYS.

7, KINTEK DOOSAN (BMT45) - HARDINGE SMEC

A& cut-oFF HOLDER ic version {06
. 54
o oo
2 N
0 7Ny
o "/
o
L) ‘ <)
T
.z
9 ° 7]
ST
o o oflo ollo |
=i
Left A L
L} :
Central < @ © @
Right 94
INTERNAL COOLANT O RING O RING FOR INTERNAL
cok COOLANT — AEMEER R LEY NOZZLE COOLANT BALL COOLANT
S oy O O
12811546 NO 814-203450 811101015 833-001490 823-101058 -
128-11546-1C YES 814-203450 811101015 833-001490 823101058 823-201140
O RING FOR CLAMPING
COD. BODY SHIM PLATE SCREW FOR PLATE CLAMPING PIN SPRING SCREW SCREW
O ) ] —
12811546 823101061 832-014448 811108037 832-014447 824-300012 811101028 811104013
128-11546-1C 823101061 832-014448 811-108037 832-014447 824-300012 811101028 811104013
I TOOLHOLDER FOR BORING BAR
56
q
~ %9‘%
L N\ K
o \\J
3 (o) RCONFC
g | O ©F
+
n
[(e}
mi !
I [1]
o
— f-—
é—r_
n -
o~
6—&_
90
cop. CLAMPING SCREW KEY SCREW FOR KEY COOLANT BALL SCREW FOR BALL
—E M
128-21529 811102036 814-203450 811101016 833-001410 811108024

vV,
/////,, GAIT DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 447




' 7, KINT=K

DOOSAN (BMT45) - HARDINGE SMEC

COMBI TOOLHOLDER WITH INTERNAL COOLANT
FOR BORING BAR AND INSERT DRILL

65+0.02

SD/*‘”

CLAMPING CLAMPING SCREW
CcoD. D B HI SCREW 1 SCREW 2 KEY lfggﬁ‘g( CO&S_NT Fg%RBEX{L FOR

(M10X12) (M10X10)

= = = O 8B
12821530 32 56 90 811102036 811102035 814203450 8111101016  833-001410 811-108024 832-003361 811101016
12821547 40 63 94 811-102036 811102035 814203450 8111101016  833-001410 811-108024 832-003398 811-101016

COMBI TOOLHOLDER WITH INTERNAL COOLANT
FOR BORING BAR AND INSERT DRILL

.
n e
S © Lgle
+I N
A | R
1 (e}
]
0 fhol_
n
~F
g —
~ © O
q_i_ =
20
CLAMPING CLAMPING SCREW COOLANT  SCREW FOR SCREW FOR
CoD. SCREW 1 SCREW 2 ey FOR KEY BALL BALL COVER
(M10X12) (M10X10)
| — \ =
G —s © ©
128-21531 811-102037 811-102036 814-203450 811101016 833-001410  811-108024 811-101010

448 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES

7, GAIT



7 KINTEK DOOSAN (8MT45) - HARDINGE SMEC

A& PROTECTION cover

75

58

A
N

D
N

D44.9
58
80

A
N

8 37

COD. O RING
137-00252 823-101066

vV,
/////,, GAIT DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 449




. - DOOSAN (BMTSs5) - SAMSUNG - HARDINGE
7. KINT=K HYUNDAI WIA - HWACHEON - VICTOR

DOOSAN (BMTS55) - LYNX 300M - PUMA 1500/2000/2500 (M,S,Y) - PUMA 2100 (Y,LY,SY,LSY)
PUMA 2100/2600/3100 M/Y/MS/SY - PUMA 230/240/280 (M,LM,S) - PUMA GT2100M - PUMA H250TM
PUMA MX2100 (ST/LST) - PUMA TL2000/2500 (M,LM) - PUMA TT1500/1800 (MS,SY)

SAMSUNG -pL240m - HARDINGE - 1-51/65 super precision H51
HYUNDAI WIA - wiA L230 LMSA - SKT-160/180 TTMS / TTSY - LM1600/1800 TTSY
HWACHEON - cutex-160/240/12 - VICTOR - VTURN-A16/A20 (YSCM)

FACE AND FACE AND O.D.
0.D. CUTTING CUTTING HOLDER FAST-IN p. 490
HOLDER

DRIVEN TOOLS . 298

128-41520-1C
128-41520 - 25x25 mm 25x25 mm
128-41531 - 20x20 mm (INTERNAL COOLANT)
QUALIFIED
FACE AND TooL
A AN G FACEAND
128-41521
25x25 mm
128-41522
25x25 mm
FACE AND FACE AND
0.D. CUTTING 0.D. CUTTING
HOLDER HOLDER
L 128-31512-IC
128-31512 25x25 mm -
25x25 mm (INTERNAL COOLANT)
& Accessories
TOOLHOLDER BORING BAR SLEEVE
FOR BORING 0. 707
BAR : CUT-OFF HOLDER CUT-OFF
TOOL
/ 8958 <MT1> oo
128-21532 — S\¢ 8959 <MT2>
@40 mm Q 8960 <MT3>
COMBI TOOLHOLDER @/ 8916 (@10 mm) 128-11548 - 26 mm
g\g{)ﬂ INTERgAL — Q\ 8917 (@12 mm) 128-11549 - 32 mm
LANT FOR
BORING BAR AND 2 8918 (216 mm)
INSERT DRILL ]
128-21533 -
@40 mm — 8919 (@20 mm)
— " 8920 (@25 mm)
Z 8921(@52 mm) 128-11548-1C
Sﬁ#‘HB,'NT?E%';IL?_LDER (INTERNAL COOLANT)
COOLANT FOR 128-11549-1C
BORING BAR AND P 8897 (20 mm) (INTERNAL COOLANT)
8899 (@32 mm) POLYGONAL TOOL POLYGONAL TOOL
128-21534 HOLDER HOLDER
@40 mm Cc40
P 9615 (@8 mm)
COMBI TOOLHOLDER — 9616 (®10 mm)
WITH INTERNAL 9617 ($12 mm)
COOLANT FOR
BORING BAR AND ]
INSERT DRILL 128-11565 128-11564
9619 (16 mm)
128-21522 s
@40 mm — 9621($20 mm) CONTROL PIN PROTECTION
9622 (@25 mm) COVER
9623 (@32 mm) p. 740
COMBI TOOLHOLDER
WITH INTERNAL
COOLANT FOR L 8768 (¢16 mm)
BORING BAR AND ] 5 8770 ($20 mm)
INSERT DRILL 8771 (@25 mm)
8772 (¢32 mm)
128-21535
2x@20 mm 137-00198 137-00253

v,
450 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES ////// GAIT




’,/ - DOOSAN (BMT55) - SAMSUNG - HARDINGE
7. KINI=K HYUNDAI WIA - HWACHEON - VICTOR

A& connecTion

| ¢
-
Y ) Z ¢ w
n (o] o]
i .
<
1B | 64
100
I RADIAL TOOLHOLDER
IC VERSION ééé
4 4 { A 4
| m © o] | I
L2 o o 0@
N 4N
3 ) @ b o O¢{Olo
T ~NE2
o 2 (e} I (@) ’
T T [ 1 / ]
[N
Bl %
Sol
= &
L
INTERNAL  CLAMPING SCREW FOR COOLANT SCREW
CcoD. B B L U L 13 L M COOLANT PLATE KEY KEY BALL FOR BALL
) EBEe s g i
12841520 50 25 131 31 59 36 58 MIO NO 832-007570  814-203230 811101016 833-001470 811108018
128-41520-IC 50 25 131 31 59 36 58 MIO YES 832-007570 814203230 811101016 833-001470 811-108018
128-41531 40 20 109 9 50 35 58 M8 NO 832-007160  814-203230  811-101016 833-001470 81108018

vV,
/////,, GAIT DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 4]




’,/ - DOOSAN (BMT55) - SAMSUNG - HARDINGE
7. KINI=K HYUNDAI WIA - HWACHEON - VICTOR

I RADIAL TOOLHOLDER

£ A
@
2 & s
© lo]
e§©)
o N\ /
[ /
B1
o
CLAMPING SCREW FOR COOLANT SCREW FOR
COD. B B1 L L1 L3 L4 M PLATE KEY KEY BALL BALL
= = - |
128-41521 50 25 148 31 36 58 MI10 832-007570 814-203230 811-101016 833-001470 811-108018

I RADIAL TOOLHOLDER

70

75
]
@]

-}
l
35

©
©

10
10
105

in 25
n
g
131
cob. CLAMPING SCREW KEY SCREW FOR KEY COOLANT BALL SCREW FOR BALL
| /=
128-41522 811102043 814-203230 811-101016 833-001410 811-108024

452 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES

7, GAIT




’,/ - DOOSAN (BMT55) - SAMSUNG - HARDINGE
7. KINI=K HYUNDAI WIA - HWACHEON - VICTOR

A& ~xiALTOOLHOLDER

IC VERSION ééé

50 8 32 32 8
. 328
2 oy |
i Mo =21 L
o +Ho 0 @T@ o O ©
0 o — éo o ol
I 15 T :
o | © O ©
(0]
©® o ©
S a—
69
98
105
INTERNAL
coD. Ve CLAMPING PLATE KEY SCREW FOR KEY COOLANTBALL  SCREW FOR BALL
= 5 &= ]
128-31512 NO 832-007220 814-203230 811-101016 833-001470 811108018
128-31512-IC YES 832-007220 814-203230 811-101016 833-001470 811108018
IC VERSION 644
A& cut-oFF HOLDER N 2
=2
o ||—
T
I
(-]
(Tel
Mz
O] ~©7°]
Left Ve (LT L ollo m
Central & T |
Right 00 «@-e
14
O RING ORING
coD. A Al B Bl H HI L g‘ggfg‘m KEY SCRE R OR C,\?gz"g‘l_"l'; COOLANT INTERNAL
BALL COOLANT
= 08 O O
12811548 26 214 85 54 97 575 5 NO 814203230 811101015  833-001490  823-101058 -
128N5481C 26 214 85 54 97 575 5 YES 814203230 811101015  833-001490  823-101058 823-201140
1281549 32 25 94 63 105 66 6 NO 814203230 811101015  833-001490  823-101058 :
128-11549-IC 32 25 94 63 105 66 6 YES 814203230 811101015  833-001490  823-101058 823201140
O RING SCREW FOR CLAMPING
cop. oG SHIM PLATE i CLAMPING PIN SPRING i SCREW
O pa= \L] =
12811548 823-101061 832-014448 811108037 832-014447 824-300012 811101028 811104013
128-11548-IC 823-101061 832-014448 811-108037 832-014447 824-300012 811101028 811104013
12811549 823-101061 832-014448 811108037 832-014450 824-300012 811101029 811104013
128-11549-1C 823-101061 832-014448 811108037 832-014450 824-300012 811101029 811104013

vV,
/////,, GAIT DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 453




’,/ - DOOSAN (BMT55) - SAMSUNG - HARDINGE
7. KINI=K HYUNDAI WIA - HWACHEON - VICTOR

I TOOLHOLDER FOR BORING BAR

Iy
| m
o w
[} S :
o 3 g%
o
n [Ge]
T T \
ED
n
[e0]
<3
106
COD. CLAMPING SCREW KEY SCREW FOR KEY COOLANT BALL SCREW FOR BALL
= D
128-21532 811-102038 814-203230 811-101016 833-001470 811-108018

COMBI TOOLHOLDER WITH INTERNAL COOLANT
FOR BORING BAR AND INSERT DRILL

90

5
o
60+0.02

|
106
CLAMPING CLAMPING
cob. SCREW 1 SCREW 2 KEY F%:SE‘Q’Y CO&QNT SCRBEX‘I’_E OR COVER chg‘\",’EFROR
(M10X12) (M10X10)
\ — \ —
RS = © ©
12821533 811-102038 811-102036 814-203230 811101016 833-001470 811108018  832-003363 811101016

v,
454 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES % GAIT




’,/ - DOOSAN (BMT55) - SAMSUNG - HARDINGE
7. KINI=K HYUNDAI WIA - HWACHEON - VICTOR

COMBI TOOLHOLDER FOR BORING
BAR AND INSERT DRILL

o jw
R <= B
+l
o
=]
0 (o]
[
Fll e
| [~
1 T R
n A A A
© b4 ~ b4
- L
106
CLAMPING CLAMPING
SCREW COOLANT  SCREW FOR SCREW FOR
cob. SCREW 1 SCREW 2 KEY COVER
(M10X12) (M10X10) FOR KEY BALL BALL COVER
| /i | i
F€e = o o987= 8 B =
128-21534 811-102037 811-102036 814-203230 811-101016 833-001470 811-108018 832-003363 811101016
COMBI TOOLHOLDER WITH INTERNAL COOLANT
FOR BORING BAR AND INSERT DRILL
44 45

T o ow®
. = o™
o S Y]
= i K @
& a
o o Q o © ©
ek [T
116

f

©

101
COD. CLAMPING SCREW KEY SCREW FOR KEY COOLANT BALL COVER SCREW FOR COVER
= o >
g © © oA
128-21535 811-102028 814-203230 811-101016 833-001070 832-003368 811-101016

vV,
/////,, GAIT DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 455




’,/ - DOOSAN (BMT55) - SAMSUNG - HARDINGE
7. KINI=K HYUNDAI WIA - HWACHEON - VICTOR

COMBI TOOLHOLDER WITH INTERNAL COOLANT
FOR BORING BAR AND INSERT DRILL

O Ol
| jo 00
° i
& @
i 0 0 -
e o

CLAMPING CLAMPING

SCREW FOR COOLANT SCREW FOR SCREW FOR
COD. SCREW 1 SCREW 2 KEY COVER
(M10X20) (M10X10) KEY BALL BALL COVER
—€ =€ == =
= & o o] o U s
128-21522 811-102038 811-102035 814-203230 811-101017 833-001470 811-108018 832-003216 811-101017

I POLYGONAL TOOLHOLDER

28

84

60+0.02

<5
35

12

s
%
NS

106
COD. POLYGONAL CLAMPING UNIT KEY SCREW FOR KEY
E=
128-11564 C40 CXC40-10 814-203230 811-101016

v,
456 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES % GAIT




' 7, KINT=K

DOOSAN (BMT55) - SAMSUNG - HARDINGE
HYUNDAI WIA - HWACHEON - VICTOR

I POLYGONAL TOOLHOLDER

P40
r
o o
S '
1 1 NS
< NP 4
N
25
49
wn
0]
COD. POLYGCONAL CLAMPING UNIT KEY SCREW FOR KEY
==
128-11565 C40 CXC40-10 814-203230 811-101016
I PROTECTION COVER
- 85 L
- 64 .
] i
(p\\
e
N i
A
(<)}
3 D 3| 8
! ANy
N
| Y
10 <27

COD. O RING
137-00253 823-101064

7, GAIT

DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 457




' 7, KINT=K

DOOSAN (BMTe5) - HWACHEON - HYUNDAI WIA
MAXSIN - SMEC/SAMSUNG - TONGTAI - VICTOR - HAAS

DOOSAN (BMT65) - PUMA 2100/2600 (M,LM,MS,LMS) - PUMA 2100/2600 (Y,LY,SY,LSY) - PUMA 300 (M,MS,MB,MC)
PUMA 3100 (M/LM/LY/XLM/XLY/ULM/ULY - PUMA MX2000/2500 - PUMA MX2600 (T,ST) - PUMA TT2500 (MS,SY)
PUMA V400 (M) - PUMA VT450 (M,S2P) - PUMA TT2000

HWACHEON - cUTEX-240 - HI-TECH200/T2-Series - HI-TECH 300/400 - VT-450

HYUNDAI WIA - L2100SY - SKT-200/250 TTSY - SKT-250/300 (L,M) - SKT-250/300 (MS) - L300M / MS
LM 2000 / 2500 TTM - 2500 TTMS / 2500 TTSY - MAXSIN - BmT65
SMEC/SAMSUNG - sL25 - SL35 - PL20/25M - PL 35LM - PL 2000/2500Y - TONGTAI - TMT2000
VICTOR - vTurN-A26 (YscM) - HAAS sT-20 - ST-25 - ST-30 - ST-35 - DS-30Y - ST-20Y - ST-30Y - ST35Y

FACE AND
0.D. CUTTING
HOLDER

128-41801
25x25 mm

TOOL

FACE AND
O.D. CUTTING
HOLDER

128-41802
25x25 mm

FACE AND
0.D. CUTTING
HOLDER

128-31802
25x25 mm

FACE AND
0.D. CUTTING
HOLDER

128-41804
25x25 mm

TOOLHOLDER
FOR BORING
BAR

128-21801 - @40 mm

COMBI
TOOLHOLDER
WITH INTERNAL
COOLANT FOR
BORING BAR AND
INSERT DRILL

128-21802 - 40 mm
128-21805 - @50 mm

COMBI
TOOLHOLDER
WITH INTERNAL
COOLANT FOR
BORING BAR AND
INSERT DRILL

128-21803 - @40 mm
128-21806 - 50 mm

POLYGONAL
TOOL HOLDER

POLYGONAL
TOOL HOLDER

128-11817 - C40
128-11805 - C50

QUALIFIED

— HOLDER

FACE AND
O.D. CUTTING

128-41801-IC
25x25 mm
(INTERNAL COOLANT)

FACE AND
O.D. CUTTING
HOLDER

128-41803
25x25 mm

FACE AND
0.D. CUTTING
HOLDER

128-31802-I1C
25x25 mm
(INTERNAL COOLANT,

& Accessories

BORING BAR SLEEVE D40

p. 707

% €\

/ 8958 <MT1>
®¢ 8959 <MT2>
8960 <MT3>
< 8916 (610 mm)
6‘ 8917 (12 mm)
)y, 8918 (@16 mm)
= 8919 (320 mm)
@\ 8920 (@25 mm)
)Y 8921 (332 mm)

8897 (20 mm)
8898 (¥25 mm)
8899 (¥32 mm)

9615 (¥8 mm)
@’ 9616 (310 mm)
9617 (@12 mm)
s 9619 (316 mm)
9621 (@20 mm)

@A

9622 (@25 mm)
9623 (#32 mm)

8768 (@16 mm)
8770 (®20 mm)
8771 (@25 mm)

8772 (®32 mm)
D50

8773 (@25 mm)
8774 (032 mm)
8775 (@40 mm)

%

458 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES

FAST-IN ; 490
DRIVEN TOOLS o 298

CUT-OFF HOLDER

CUT-OFF TOOL

128-11804-IC

(INTERNAL COOLANT) Right

POLYGONAL
TOOL HOLDER

128-11819 - C40
128-11809 - C50

CONTROL PIN PROTECTION
p. 740 COVER
137-00199 137-00254

7, GAIT




A& connecTion

’V/ = DOOSAN (BMT6e5) - HWACHEON - HYUNDAI WIA
7, KINT=K MAXSIN - SMEC/SAMSUNG - TONGTAI - VICTOR - HAAS

18 H7
73
95

[
N

92
{} AN "
20 _|_ 70 -
- 10 _
I RADIAL TOOLHOLDER
4
ol©
A&7
o 2 ol [
J |o©
”’i (o} ® =
[ L/
1 26
25 @
a3 /t_t -
B @
5
131
cob. '(':“JCE)EL",@TL CLAMPING PLATE KEY SCREW FOR KEY COOLANT BALL SCREW FOR BALL
= B - =
128-41801 NO 832-007360 814-203310 871101027 833-001470 811108018
128-41801-IC YES 832-007360 814-203310 871101027 833-001470 811108018

7, GAIT

DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 459




’V/ = DOOSAN (BMTe5) - HWACHEON - HYUNDAI WIA
7, KINT=K MAXSIN - SMEC/SAMSUNG - TONGTAI - VICTOR - HAAS

I RADIAL TOOLHOLDER

PN
N\ &g
2 Olo| 3
0©
“l o o 2
| | L/
T 26
25 %
i e R 2
/t @ -~
d
5
151
COD. CLAMPING PLATE KEY SCREW FOR KEY COOLANT BALL SCREW FOR BALL
=] T = a=
128-41802 832-007360 814-203310 811-101027 833-001470 811-108018
I RADIAL TOOLHOLDER
[ \ [
o 70
()]
K |
m ‘
| I
;
n
N‘
9 oo}
e e
I
n
"
131
COD. CLAMPING SCREW KEY SCREW FOR KEY COOLANT BALL SCREW FOR BALL
—& = S =
128-41803 811-102044 814-203310 811-101027 833-001410 811-108024

v,
460 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES % GAIT




' 7, KINT=K

DOOSAN (BMT6e5) - HWACHEON - HYUNDAI WIA
MAXSIN - SMEC/SAMSUNG - TONGTAI - VICTOR - HAAS

I RADIAL TOOLHOLDER

1 \ T
O ‘
[+)]
mi ‘
n n
5 ¥
‘N ~N
9 [o0]
[=) o ©
0 25 | wft
n n
N N
cob. CLAMPING SCREW KEY SCREW FOR KEY COOLANT BALL SCREW FOR BALL
—& =
128-41804 811-102044 814-203310 811-101027 833-001410 811-108024
A& ~xALTOOLHOLDER
50
n
N
=m0
[+)]
" !
i "L].i [ |
IC VERSION 0@
8. 32 32 8 _
L O O U9 Pl
1000 o000 000 00O
S 7S A A A
©o@© ©0© ~ &yg@@?’ ‘@3’@;\&&
D ° °
W/
36
58
127
cob Ly st CLAMPING PLATE KEY SCREW FOR KEY COOLANT BALL SCREW FOR BALL
. COOLANT
=] By - 37
128-31802 NO 832-007570 814-203310 811-101027 833-001470 811108018
128-31802-IC YES 832-007570 814-203310 811-101027 833-001470 811108018
7/
7, GAIT

DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 461




’V/ = DOOSAN (BMTe5) - HWACHEON - HYUNDAI WIA
7, KINT=K MAXSIN - SMEC/SAMSUNG - TONGTAI - VICTOR - HAAS

I CUT-OFF HOLDER \c version {00

106

0 °©°]

98

0,0

O RING FOR
INTERNAL COOLANT O RING FOR
COD. COOLANT KEX SCREWIRORIKEY NOZZLE COOLANT NOZZLE INTERINAL
COOLANT
== i O O
12811804 NO 814-203310 811101026 833-001490 823-101058 ]
128-11804-1C YES 814-203310 811101026 833-001490 823-101058 823201140
O RING CLAMPING
cob. coraNG SHIM PLATE  SCREW FOR PLATE CLAMPING PIN  SPRING Py SCREW
O SR ] — 8o
128-11804 823-101061 832-014449 811108037 832-014450  824-300012 811101029 811104013
128-11804-IC 823-101061 832-014449 811108037 832-014450  824-300012 811101029 811104013

I TOOLHOLDER FOR BORING BAR

¢

°

°
;

o
72+0.02

17
n
(2]
17
cob. CLAMPING SCREW KEY SCREW FOR KEY COOLANT BALL SCREW FOR BALL
| —
128-21801 811-102039 814-203310 811-101027 833-001470 811-108018

v,
462 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES % GAIT




KINT=K

READY, ALWAYS.

DOOSAN (BMT6e5) - HWACHEON - HYUNDAI WIA
MAXSIN - SMEC/SAMSUNG - TONGTAI - VICTOR - HAAS

COMBI TOOLHOLDER WITH INTERNAL COOLANT
FOR BORING BAR AND INSERT DRILL

O O s
I
° 18 @
o
|
N
~
n '
1 I
¥z
A
- ]
<
2 oo -
17
CLAMPING  CLAMPING
SCREW 1 SCREW 2 SCREW FOR COOLANT SCREW FOR SCREW FOR
COD. D H  (Mi0x25D40) (MI10X12D40) KEY KEY BALL BALL COVER COVER
(M12X20 D50)  (M12X12 D50)
\ — \ —
—E —E 0.
128-21802 40 105  811-102039 811102036 814-203310 811101027  833-001470 811108018  832-003363 811101016
128-21805 50 109 811102044 811102064 814203310 81101027  833-001470 811108018  832-003369  811-101016

COMBI TOOLHOLDER WITH INTERNAL COOLANT
FOR BORING BAR AND INSERT DRILL

H
¥ -

- -3
é
n o
I] [ I
| [

95

CLAMPING

CLAMPING

SCREW 1 SCREW 2 SCREW FOR COOLANT SCREW FOR SCREW FOR
CoD. D H B (Miox16D40) (MI0X12D40) KEY KEY BALL BALL COVER COVER
(M12X16 D50) _ (M12X12 D50)
V=i V=i
e [—e = O 89 e
12821803 40 133 70 8111102037 811-102036 814203310 811101027  833-001470 811108018  832-003363  811-101016
12821806 50 137 80 811102043 811-102064 814203310 811101027  833-001470 811108018 832-003373  811-101016

7, GAIT

DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 463




KINT=K

READY, ALWAYS.

I POLYGONAL TOOLHOLDER

DOOSAN (BMTe5) - HWACHEON - HYUNDAI WIA
MAXSIN - SMEC/SAMSUNG - TONGTAI - VICTOR - HAAS

I
15 o
N o
&
©~
ml © " !
.o
1L2]
(D) ™)
7/
9l alf< / \
N
() )
~/
L
CLAMPING SCREW FOR
COD. POLYGONAL D H L L1 L2 L3 UNIT KEY
=
128-11817 C40 40 96 e 6 12 38 CXC40-10 814-203310 811-101027
128-11805 C50 50 104 n8 8 16 30,5 CXC50-10 814-203310 811-101027
I POLYGONAL TOOLHOLDER
u N
o
| | O
&
K o R
—
[
L
L2 L3
0 o ESYNEN)
</ Y
L
CLAMPING SCREW FOR
COD. POLYGONAL D H L L1 L2 L3 UNIT KEY
5T
128-11807 C50 50 104 142 16 24 134 CXC50-10 814-203310 811-101027

464 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES

7, GAIT



’V/ = DOOSAN (BMTe5) - HWACHEON - HYUNDAI WIA
7, KINT=K MAXSIN - SMEC/SAMSUNG - TONGTAI - VICTOR - HAAS

I POLYGONAL TOOLHOLDER

D
A |
[ 23
1|
° |3
= T
u
L1
L2
n
o
CLAMPING SCREW FOR
COD. POLYGONAL D H L L1 L2 L3 UNIT KEY KEY
==
128-11819 C40 40 70 13 141 12 36 CXC40-10 814-203310 811-101027
128-11809 C50 50 75 20 157 20 52 CXC50-10 814-203310 811-101027
A PROTECTION COVER
95
- 73 -
— o
g
J
o
B D ol o
& NP R 2
i)
! o
L
] '
10 29
0 | .

COD. O RING
137-00254 823-101084

vV,
/////,, GAIT DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 465




7/ KINTEK

7, READY, ALWAYS.

DOOSAN (BMT75) - SAMSUNG - HYUNDAI WIA - HWACHEON

DOOSAN (BMT75) - PUMA 400/480 (M,LM,XLM) - 500 (M) - V550 (M) - VT750 (TM, 2SP)
SAMSUNG -pL4ss5tm - HYUNDAI WIA - LV8OORM - SKT400M/MA/MC/LMC
HWACHEON - HI-TECH 550/700/7026 - VT-550

.0, CUTTING FAST-IN ; 490
HOLDER DRIVEN TOOLS 5. 298

FACE AND O.D.
QUALIFIED CUTTING HOLDER

128-42508 - 25x25 mm TOOL

128-42516 - 32x32 mm

FACE AND O.D.
CUTTING HOLDER

128-42509 - 25x25 mm
128-42510 - 32x32 mm

TOOLHOLDER FOR
BORING BAR

60

128-22522 - 40 mm
128-22523 - 50 mm

POLYGONAL
TOOL HOLDER

128-12528 C63

POLYGONAL
TOOL HOLDER

128-12529 C63

A& Accessories

128-32506 - 25x25 mm

BORING BAR SLEEVE

p. 707

P

— &
-6
- @’3
- @f”
e

D40

8958 <MT1>
8959 <MT2>
8960 <MT3>

8916 (®10 mm)
8917 (¥12 mm)
8918 (@16 mm)

8919 (»20 mm)
8920 (@25 mm)
8921 (@32 mm)

8897 ($20 mm)
8898 (@25 mm)
8899 (®¥32 mm)

9615 (@8 mm)
9616 (@10 mm)
9617 (@12 mm)

9619 (@16 mm)
9621 (20 mm)
9622 (@25 mm)
9623 (@32 mm)

8768 (¢16 mm)
8770 (20 mm)
8771 (®25 mm)

8772 ($32 mm)

466 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES

CONTROL PIN
p. 740

137-00200

D50

8773 (@25 mm)
8774 (932 mm)
8775 (@40 mm)

PROTECTION
COVER

137-00255

D60

8881 (¥25 mm)
8882 (¥32 mm)
8883 (®40 mm)
8884 (¥50 mm)

7, GAIT




. READY, ALWAYS.

A& connecTion

' 7, KINTEK  DOOSAN (BMT75) - SAMSUNG - HYUNDAI WIA - HWACHEON

2
\}/\ i
N i
i / |
245
N
N
i
| T o o
‘ m o -
!
N
N
90.5
" O o)
o+ TapUEE
A it \\\/}/ V
12.5 - 920 -
- 15 _
I RADIAL TOOLHOLDER
IC VERSION ééé
w$
_ [feehlerl
N)~F -] L]
: oloing | Sole
o T °© °
imani J
Bl %
o - =
5% |
L
INTERNAL CLAMPING SCREW FOR COOLANT SCREW FOR
e COOLANT B Bl HI L LI L2 13 L4 M PLATE a7 KEY BALL BALL
) B9 = g B3
128-42508 NO 50 25 30 1455 305 70 46 70 MIO  832-007010  814-203480 811101027 833-001470  811-108018
128-42516 NO 64 32 45 1525 35 80 52 76 M2 832-007970 814203480 811101027 833-001470  811-108018

v,
//////, GAIT DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 467




' 7 KINTEK  DOOSAN (8M175) - SAMSUNG - HYUNDAI WIA - HWACHEON

I RADIAL TOOLHOLDER

o
o(
0 Qo
N © 6 ©

%
=)

53 7

Bl

i
0| %
|

168
CLAMPING SCREW FOR COOLANT SCREW FOR
con : 2 L - . PLATE 2 KEY BALL BALL
=) = O ]
128-42509 50 25 56 78 M10 832-007340 814-203480 811-101027 833-001470 811-108018
128-42510 o4 32 o0 88 M12 832-007170 814-203480 811-101027 833-001470 811-108018
A& ~xALTOOLHOLDER
50
60
n
N
. == o
n
ml [
J [ 1]

12

140
INTERNAL
COD. COOLANT CLAMPING PLATE KEY SCREW FOR KEY COOLANT BALL SCREW FOR BALL
=] e o ) = BT
128-32506 NO 832-007340 814-203480 811-101027 833-001470 811-108018

v,
468 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES ////// GAIT




' 7, KINT=K

DOOSAN (BMT175) - SAMSUNG - HYUNDAI WIA - HWACHEON

COMBI TOOLHOLDER WITH INTERNAL COOLANT

FOR BORING BAR AND INSERT DRILL

60+0.02

i
i

130

CLAMPING
SCREW 1
(D40-M10x30)
(D50-M12x30)
(D60-M12x25)

CLAMPING
SCREW 2
(D40-M10x16)
(D50-M12x12)

COD. D H KEY

SCREW FOR COOLANT SCREW FOR

SCREW FOR
KEY BALL BALL COVER COVER

\ V= \ =i
—E —E
128-22522 40 97 811-102040 811-102037 814-203480 811-101027 833-001470 811-108018 832-003369 811-101016
128-22523 50 97 811-102046 811-102064 814-203480 811-101027 833-001470 811-108018 832-003369 811-101016
I POLYGONAL TOOLHOLDER
o N\
NS
o | o\,
L3 ©
o
+
o
[o)]
ol " o
[ J [ 1]
1] Lo
L2
ED 7 @
L
CLAMPING SCREW FOR
COD. POLYGONAL D H L L1 L2 L3 UNIT KEY KEY
=
128-12528 Co63 63 102 127 12 21 - CXC63-10 814-203480 811-101027

7, GAIT

DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 469




. READY, ALWAYS.

' 7, KINTEK  DOOSAN (BMT75) - SAMSUNG - HYUNDAI WIA - HWACHEON

I POLYGONAL TOOLHOLDER

30
©

H1

12

CLAMPING SCREW FOR
COD. POLYGONAL D H H1 L L1 L2 L3 UNIT KEY KEY
=
128-12529 C63 63 45 57 204 47 89 120 CXC63-10 814-203480 811-101027
A& PROTECTION cover
12
90
I N
N

2 D ol 1

5 N o =
Jah
N

10 41

COD. O RING
137-00255 823-101115

v,
470 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES ////// GAIT




7 KINTEK

7, READY, ALWAYS.

DOOSAN PUMA (BMT85)

I DOOSAN PUMA (BMT85) - 600 M/LM - 700 M/LM - 800 M/LM - VT900 M/TM - VT1100 M

FACE AND CUT-OFF HOLDER CUT-OFF

0.D. CUTTING
HOLDER

QUALIFIED
128-42513 - 32x32 mm TOOL

FACE AND O.D.
CUTTING HOLDER

128-32509 - 32x32 mm

A& ~ccessories

COMBI TOOLHOLDER

WITH INTERNAL BORING BAR SLEEVE gg‘O,EERCTION
COOLANT FOR
BORING BAR AND p-705 pso D60
INSERT DRILL _\ 5328 (@12 mm) 8840 ($20 mm)
- ;{/ 5329 (16 mm) 8941 (@25 mm)
@/ 5330 (20 mm) 8942 ($32 mm)
5331 (@25 mm) 8943 (@40 mm)
n 5332 (@¥32 mm)
i 137-00256
a
=
I E— 5335 (@40 mm) 8844 (¥50 mm)
128-22528 - (@50 mm) P 5335 (®25 mm) 8881 (@25 mm)
128-22529 - (@60 mm) L s 8774 ($32 mm) 8882 (332 mm)
8775 (40 mm) 8883 (340 mm)
8884 (50 mm)

POLYGONAL
TOOL HOLDER

POLYGONAL
TOOL HOLDER

128-12519 C63 128-12520 C63

7, GAIT

DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 477




' 7, KINT=K DOOSAN PUMA (BMT85)

A& connecTion

20 100

673

15

35

25 H7
g
100
130

35

140

1 105 I - i
o ' e} (&
n o
@ %)
1 o O|0]8 |8
o
o Q ~
B A ©1©
4 N
50 90
32 % ‘
BE W
N
5 ©
190
COD. CLAMPING PLATE KEY SCREW FOR KEY COOLANT BALL SCREW FOR BALL
=] T = a=
128-42513 832-007170 814-203350 811-101027 833-001470 811-108018

v,
472 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES ////// GAIT




' 7, KINT=K

A& ~xiaLTOOLHOLDER

DOOSAN PUMA (BMT85)

64

72

&

130

60
88
156
COD. CLAMPING PLATE KEY SCREW FOR KEY COOLANT BALL SCREW FOR BALL
=0 H= = =
128-32509 832-007170 814-203350 811-101027 833-001470 811-108018
A& cut-oFF HOLDER
29
° n
(e}
[(e]
Qo
e M
o
1| ° ‘
T T
RIS

@é@d} 00@o

32

130

@@@d} %ﬂ;

155

cob. KEY SCREW FOR KEY szl O AN NP LE O RING FOR BODY
= S O O
12812521 814-203350 811101026 833-001490 823101058 823101061
cob. SHIM PLATE SCREWEOR CLAMPING SPRING ClLdhEw® SCREW
3 I ==
12812521 832014449 811108037 832014450 824-300012 811101029 811104013

7, GAIT

DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 473




' 7, KINT=K DOOSAN PUMA (BMT85)

COMBI TOOLHOLDER WITH INTERNAL COOLANT
FOR BORING BAR AND INSERT DRILL

O O
~
B 3
L] S
+I
n
[ee]
n
T
: Lz
§ oo -
147
CLAMPING
oD 5 CLAMPING SCREW 2 KEY SCREW COOLANT SCREWFOR  .qygr SCREW FOR
. s (D50-M12x16) FOR KEY BALL BALL COVER
(D60-M12x12)
Ce b o O 8 I/ O D
128-22528 50 811102047 811102043 814-203350 811101027  833-001470 811108018  832-003389  811-101016
128-22529 60 8111102047 811102064 814-203350 811101027  833-001470 811108018  832-003389  811-101016

I POLYGONAL TOOLHOLDER

7 | L | \O—
S ‘
+1
n
O ©
ml A
T T |
0 V1 lzZ
® L
147
COD. POLYGONAL D H L1 L2 CLAMPING UNIT KEY SCREW FOR KEY
B3
128-12519 Co63 63 127 16 39 CXC63-10 814-203350 811-101027

v,
474 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES % GAIT




7 KINTEK DOOSAN PUMA (8MTaS)

I POLYGONAL TOOLHOLDER

13

40

H1
@Y
N
i@

L1 90
L2
o
2 il
L
COD. POLYGONAL D H H1 L L1 L2 CLAMPING UNIT KEY SCREW FOR KEY
=
128-12520 Ce3 63 50 67 225 43 85 CXC63-10 814-203350 811-101027
A PROTECTION COVER
130
100
N
\/\
@
¥, A ol w
3 O g,
S
R\
N
10, 45.5

COD. O RING
137-00256 823-101116

vV,
/////,, GAIT DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 475




' 7, KINT=K MAZAK NEXUS

A& MAzAKNEXUS - sanoonso

FACE AND O.D. QUALIFIED TOOL
CUTTING HOLDER
<>

BORING BAR SLEEVE
p. 707

TOOLHOLDER FOR s 9607 (@8 mm)
BORING BAR o 9608 (@10 mm)
Q 9609 (@12 mm)
121-23801 >
-~ 9611 (¥16 mm)
@32 mm — \ 9613 (@20 mm)
9614 (®25 mm)
) 8764 (@16 mm)
— 8766 (@20 mm)
Q 8767 (25 mm)
COMBI
TOOLHOLDER

WITH INTERNAL
COOLANT FOR
BORING BAR
AND INSERT
DRILL

121-23802
@32 mm

v,
476 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES % GAIT




' 7, KINT=K

A& connecTion

MAZAK NEXUS

. I
Jary
D -
] 2
1 | = © Y \
i 0 | |
. 20
o Ll
i r 3
//' V\\ KJ //' V\\
o Jany ,
15 - 45 -
- 43 |
I RADIAL TOOLHOLDER
— —
{. o ]
[o0]
o ©
g 20
o = | -+
% O O
75
COD. CLAMPING SCREW SCREW
123-33801 811-102031 811-302110

7, GAIT

DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 477




' 7 KINTEK MAZAK NEXUS ‘

I TOOLHOLDER FOR BORING BAR

;
t
J

23

30+0.02

=

==
o I
o ©
80
coo QNS ew oW
—< ==X —
121-23801 811-102028 815-210610 833-001080
TOOLHOLDER FOR INSERT DRILL
WITH INTERNAL COOLANT
62 B 56 _
) ‘
m% 4@ @ <3 ~ - %\ e
18 1 3| . &J
© |al8
L]

8l

:

CLAMPING CLAMPING

COD. SCREW 1 SCREW 2 PIN
(M8X12) (M8X8)
—€ — ==l
121-23802 811-102028 811-102026 815-210610

v,
478 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES ////// GAIT




7 KINTEK

7, READY, ALWAYS.

MAZAK NEXUS

& MAZAKNEXUS - ami200/250

FACE AND O.D.

CUTTING HOLDER

FACE AND O.D.

CUTTING HOLDER

122-13802 - 25x25 mm

TOOLHOLDER

FOR BORING BAR

COMBI TOOLHOLDER
WITH INTERNAL
COOLANT FOR

BORING BAR AND
INSERT DRILL

>
121-23806 - (®40 m

7, GAIT

FAST-IN p 490
DRIVEN TOOLS p.298

QUALIFIED TOOL

A& ~ccessories

BORING BAR SLEEVE
p. 707

5581 (®8 mm)
./ 5582 (@10 mm)

5583 (12 mm)
@ 5585 (16 mm)
5587 ($20 mm)

\
\i\\

N

R 5594 (@25 mm)
@}}!/ 5595 (®#32 mm)

9615 (8 mm)
— 9616 (#10 mm)
9617 (¥12 mm)

9619 (@16 mm)
9621 ($20 mm)
9622 (@25 mm)
9623 (32 mm)

8768 (@16 mm)
8770 (20 mm)
8771 (®25 mm)
8772 (®32 mm)

5596 (20 mm)
5597 (@25 mm)
5598 (¥32 mm)

|
@, (Ch @)
29 A9

DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 479




' 7 KINTEK MAZAK NEXUS
I CONNECTION

- 33
-~ ‘
e -
\ 5
| P I
g b F
’ L3
10 &0 -
30 |
- 100 -
I RADIAL TOOLHOLDER
@[—T.—l 35 :‘ —
ST
i
@ ©

25

14
50

o

CLAMPING CLAMPING

COD. PLATE SCREW
123-33803 811-102027 832-002170 811-302110

v,
480 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES ////// GAIT




' 7, KINT=K MAZAK NEXUS

A& ~xiALTOOLHOLDER

50

u

I Lmo
% el

1

43

Ol
uir—

D)
(&
©

114
Q@ e
4
N
o0
)
A

(e
Q) ©
69
98
100
CLAMPING
cob. i) PIN SCREW
12213802 832-007220  815-210620 811-302110
I TOOLHOLDER FOR BORING BAR @40
i
o | @ ©
© fo) o
o
+I
o
n
°°T 25 |
q_(_
* He—
<
100
cop. CLAMPING SCREW PIN SCREW Cl\cl)gZL?Lr\llET
811-302110 833-001080

121-23805 811-102030 815-210610

vV,
/////,, GAIT DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 48




' 7, KINT=K MAZAK NEXUS

TOOLHOLDER FOR INSERT DRILL
WITH INTERNAL COOLANT

71 72

J
2

50+0.02

114
\

100

COD. CLAMPING SCREW SCREW
121-23806 811-102043 815-210620

v,
482 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES ////// GAIT




. READY, ALWAYS.

7, KINTEK MAZAK SQT - MAZAK QTN (vDI40)

MAZAK SQT - sQT 15 - SQT 18 M/MS - 12 stations - SQT 200, SQT 250 M/MS - 12 stations
MAZAK QTN (vDI40) - QTN 200 - QTN 250 M/MB/MS/MY/MSY - 12 stations

QUALIFIED TOOL BORING BAR SLEEVE
p. 707

5581 (®8 mm)

5582 (10 mm)
5583 (@12 mm)
5585 (@16 mm)
5587 (20 mm)

&)

=

i
|

5594 (@25 mm)
5595 (®#32 mm)

S)

"

.
|

9615 (8 mm)
9616 (@10 mm)
9617 (12 mm)

9619 (@16 mm)
9621 (%20 mm)
9622 (¥25 mm)
9623 (32 mm)

oG
A

KMZ-53618000600

KMZ-532080005200
8768 (@16 mm)

KMZ-53638000300 8770 (@20 mm)
8771 (@25 mm)

8772 ($32 mm)

=
g
|

5596 ($20 mm)
5597 (@25 mm)
7 % 5598 (@32 mm)

(S
W

CUT-OFF TOOL COLLET ER32 COLLET ER32
p.326 p.326

KMZ-53618000300 KMZ-53618000400 116-54019 116-54020

vV,
/////,, GAIT DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 483




7, KINTEK MAZAK (BMT68)

7, READY, ALWAYS.

MAZAK (BMT68) - QTC/QTU 100-350 M/MY/MS/MSY - QT/QTS 100-250 M/MY/MS/MSY - QT 200-250 M/MY/MS/MSY
(16D)

CUT-OFF HOLDER CUT-OFF TOOL FAST-IN ;. 490

DRIVEN TOOLS p 298

A& ~ccessories
COMBI TOOLHOLDER WITH

INTERNAL COOLANT FOR BORING BAR SLEEVE S&NTROL (P:g\OI'EECTION
BORING BAR AND INSERT DRILL p. 707

5581 (®¥8 mm) p. 740
5582 (10 mm)
5583 (@12 mm)
5585 (16 mm)
5587 (20 mm)

5594 (@25 mm)
5595 (@32 mm)

137-00201 137-00272

5596 (20 mm)
5597 (@25 mm)
5598 (¥32 mm)

137-00278 (H=95 mm) - @40 mm

9615 (8 mm)
9616 (@10 mm)
9617 (@12 mm)

9619 (@16 mm)
9621 (%20 mm)
9622 (¥25 mm)
9623 (32 mm)

8768 (¢16 mm)
8770 (20 mm)
8771 (®25 mm)

8772 ($32 mm)

v,
484 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES ////// GAIT




KINT=K

READY, ALWAYS.

MAZAK (BMT68)

26
o Lol
[(e]
gl I~
°
|
i
71
Q@ o © oo
——1
S PR PR [
Left %« E_ @
Central @ @ Qi $ $ @$
Right 157
O RING FOR O RING FOR
cob. CSSZ'-QL"I‘ET COOLANT FC?RRg(\I)CIJDY INTERNAL PIN SHIM PLATE SC';EXVTEOR CLAF';’I'E'NG
NOZZLE COOLANT
B O O O B B
137-00279 833-001490  823-101058 823-101061 ] 832-008064  832-014448 811-108037 832-014450
O RING FOR
CLAMPING SCREW FOR O RING FOR PIN O RING FOR PIN
cob. SPRING P SCREW  CENTRAL PIN o e e cog)L(,g)NT
— = 8 &5 B2 O O O
13700279 824-300012 811101029 811104013 832-0207M1 811101031 823-101124 823-101077 823-101015
COMBI TOOLHOLDER WITH INTERNAL COOLANT
FOR BORING BAR AND INSERT DRILL
q
0>
- RO T
48 9
(@]
+I
|
N
[ 2}
64 iﬁ ﬁ
g 0 00
[o0]
138
cop. L 11 CLAMPING SCREW1 CLAMPING SCREW 1 bIN COOLANT NI
: (M10X20) (M10X12) NOZZLE e
\ — \ — @E@
o o
—& —E © o]
137-00278 95 125 811-102038 811-102036 832-008064 833-001080 832-003403
O RING FOR
SCREW FOR O RING FOR PIN O RING FOR PIN
cob. AR CENTRALPIN  SCREW FOR PIN e e co(g)l(_gm
137-00278 811-104013 832-020711 811101031 823-101124 823101077 823-101015

7, GAIT

DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 485




' 7/ KINTEK MAZAK (BMT68) ‘

I PROTECTION COVER

- 68 |
O O
T 1
B \ 3
n
N
[o)]
N fan v
g D LA
|| Y 10
o0
| g  ©
: e |
S
|
L ‘157

COD. O RING SCREW
137-00272 823-101124 811-302106

v,
486 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES ////// GAIT




' 7, KINT=K

MAZAK MURATEC MWIT120

I MAZAK MURATEC MW120 - Mw 120 8ST - MS60 8ST - MJ60 8ST

137-00298 (Right)
20x20 mm

137-00299 (Left)
20x20 mm

COMBI
TOOLHOLDER WITH
INTERNAL COOLANT
FOR BORING BAR

AND INSERT DRILL

100

137-00300 - (@40 mm)

POLYGONAL
TOOL HOLDER

137-00262 C40
137-00314 C50

7, GAIT

9615 (¥8 mm)
— 9616 (@10 mm)
9617 (¥12 mm)

P 8768 (316 mm) B
8770 (®20 mm) 15 60
@ 8771 (25 mm) 90

8772 (®32 mm)

POLYGONAL
TOOL HOLDER

QUALIFIED TOOL

137-00296 (Right)
20x20 mm

137-00297 (Left)
20x20 mm

A& ~ccessories

BORING BAR SLEEVE
p. 707

90
60
D{

9619 (@16 mm) N> ) NP
9621 (¥20 mm) K.J \
9622 (@25 mm) n
9623 (@32 mm)

N
=
\\¥—¥//

137-00263 C40
137-00313 C50

DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES 487




. READY, ALWAYS.

7, KINTEK MAZAK MURATEC MW200

I MAZAK MURATEC MW200 - Mmw 200 10ST - MW 180 10ST - MS100 10ST - MS90 10ST - MJ100 10ST

QUALIFIED TOOL

137-00265 (Right)
25x25 mm

137-00259 (Right)
25x25 mm

137-00266 (Left)
25x25 mm

137-00260 (Left)

25x25 mm

l ACCESSORIES I CONNECTION

BORING BAR SLEEVE

p. 707
COMBI 9615 (¥8 mm) Q Q
INTERNAL COOLANT @ 2616 (210 mm) B18h7 T
FOR BORING BAR =N 9617 (312 mm)

AND INSERT DRILL

102
76

2\
L

8770 (®20 mm)
8771 (@25 mm)

137-00271 - (40 mm) 8772 (@32 mm)

N
D 9619 (@16 mm)
- 9621 (20 mm) |- o5 | |
9622 (@25 mm) e ) Y
R 9623 (@32 mm) AN N
15, 110
140
‘i 8768 (¥16 mm)

POLYGONAL TOOL HOLDER POLYGONAL
TOOL HOLDER

137-00237 C40 137-00236 C40
137-00312 C50 137-00311 C50

v,
488 DRIVEN TOOLS AND TOOLHOLDERS FOR CNC LATHES ////// GAIT







